"~ JKChrome

JK Chrome | Employment Portal

() Rated No.1 Job Application

of India &
Sarkari Naukri [
Private Jobs i ) [m—
Employment News Aboit Hilsapp
SAUE IS R oo e e
Notifications

News & Magazines

Rate this app
Tell ers what you t

ith hink

STUDY
MATERIAL

GET IT ON

» Google play

JK Chrome ) CIiCK here tO
Q 47/ DOWNLOAD

J

CHR jk chrome

www.jkchrome.com | Email : contact@jkchrome.com



https://play.google.com/store/apps/details?id=com.gbt.it.jobportal

1 www.jkchrome.com

Mensuration
SOLIDS

A solid has three dimensions, namely length, breadth or
width, and height or thickness, The plane surfaces that
bind it are called its faces and the solid so generated is
known as polyhedron,

Face

Edge
Vertex

The volume of any solid figure is the amount of space
enclosed within its bounding faces. A solid has edges,
vertices, and faces, which are shown in the figure.

A solid has the following two types of surface areas:
Lateral Surface Area Lateral surface area (LSA) of a
solid is the sum of the areas of all the surfaces it has
except the top and the base.

Total Surface Area Total surface area (TSA) of a solid
is the sum of the LSA and the areas of the base and the
top.

Note: In case of solids, like the cube and cuboid, the LSA
consists of plane surface areas (i.e,, area of all surfaces
except the top and base), whereas in case of solids, like
cone and cylinder, it consists of curved surface areas
(CSA). Therefore, for such solids, the LSA is also called
CSA.

Euler’s Rule

Number of faces (F) + Number of vertices (;
of edges (E) + 2 ’S

CUBOID

A cuboid is a rectangular solid
faces. The opposite faces of acu
rectangles, A cuboid hasal
height (h).

ngular

breadth (b), and

A <

b

m

C

Figur Figure 2

In Figure 2, ED is the diagonal of the cuboid. Moreover,
the area of the surface GDCH is x, the area of the surface
HEBC is y, and the area of the surface GFEH is z.

(i) Volume = Area of base x height = Ibh

(ii) Volume = ,/xyz
(iii) Volume =xh =yl = zb
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Euler’s rule states that for any regular solid: ‘ Q’
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(Ib + bh +1h)
(vi) Diagonal =v{? + b? + h?

CUBE

A cube is a solid figure having six faces, All the faces of a
cube are equal squares (let us say of the side ‘a’).
Therefore, the length, breadth, and height of a cube are
equal.

a
a

(i) Volume = a3
(ii) Lateral surface area
walls = 4a?
(iii) Total surface
(iv) Diagonal = a V3

RIGHT OIR(@! (“YLINDER

by rotating a rectangle or a square by fixing one of its

sides.

(i) Volume = area of base x height

(ii) Volume = rr2 h

(iii) Curved surface area (CSA) = Perimeter of base x

height

(iv) LSA = 2nrh

(v) Total surface area (TSA) = LSA + area of the top +
area of the base

(vi) TSA = 2mrh + mr? + r?

(vii) TSA = 2ar(r +h)

Some Important Deductions
A P

D / C

If the above rectangular sheet of paper (ABCD) is rolled
along its length to form a cylinder, then the radius (r) of
the cylinder will be (L/2n) and its height will be b and

2
volume of this cylinder = %, where | is the length of the
rectangle.

of the four

bove figure, r is the radius of the base and h is the
of a right circular cylinder. A cylinder is generated

(iv) Lateral surface area (LSA) or area of the four w
=2(l+b)h

o Join Telegram Group

(v) Total surface area (TSA) =2(x+y+2) =2

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com



https://t.me/Jkchrome10

2 www.jkchrome.com

S

S

If the above rectangular sheet of paper (ABCD) is rolled
along its breadth to form a cylinder, then the radius (r) of

the cylinder will be 2% and its height will be L. Volume of

e : b2L
this cylinder = =—.
4w

PRISM

A prism is a solid having identical and parallel top and
bottom faces, that is, they will be identical polygons of
any number of sides. The side faces of a prism are
rectangular and are known as lateral faces. The distance
between two bases is known as the height or the length
of the prism.

(i) Volume = Area of base x Height
(ii) Lateral surface area (LSA) = Perimeter of the base x
Height

2
]
L 2
th ius of the base, h is the

In the above figure, '’

height, and 1 is th tfeight of the right circular cone.

(i) Volumes= e base height x height
S ™%h
(ii) I=vr2 + 17

rface area (CSA) = nrl
(iv) Total surface area (TSA) = (CSA + Area of the base)

TSA =nrl + nr?

Frustum of Cone

A cone whose top portion is sliced o by a plane which is
parallel to the base is called frustum of cone.
Formation of frustum:
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(iii) Total surface area (TSA) = LSA + (2 x Ar
base)
RIGHT CIRCULAR CONE O
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(i) (i)
However, for the sake of representing the fofmu e

will use another form of frustum right n ive
below:

In the above figure, r is the radius of the base, h is the

fPustury and | is the slant height of

area of the base

(R+1r)A+7r2+nR2

(RA+rA+r2+R?

(v) To find the height (H) of original cone.
Rh

R=1

PYRAMID

A pyramid is a solid having an n-sided polygon at its
base. The side faces of a pyramid are triangular with the
top as a point.

In the above figures, OM is the height of the pyramid.
(i) Volume =§ x Area of the base x Height

www.jkchrome.com
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(ii) Lateral surface area (LSA) = %x (Perimeter of the
base) x Slant Height

(iii) Total surface area (TSA) = LSA + Area of the
base

Frustum of Pyramid
A pyramid whose top portion is sliced o by a plane that is
parallel to the base is called the frustum of a pyramid.

In the above figure, a; is the area of the top face of the
frustum, a; is the area of the bottom face of the frustum,
h is the height of the frustum, and | is the slant height of
the frustum.
(i) Volume =§h (a, + a;, + Vaya;)

1

(ii) Lateral surface area (LSA) = - (p1 +p)l

where P; and P, are perimeters of the top and
the bottom faces.
(iii) Total surface area (TSA) = LSA + a; + az

SPHERE

S

In the above figure, r is the radiis of the sphere.
. L 4

(i) Volume == 3

(ii) Surface area = 4m

2

(i) Volume = %m‘

(ii) Curved surface area (CSA) = 2mr?

(iii) Total surface area (TSA) = LSA + Area of the top face
(read circle)

TSA = 2nr? + mr?

TSA = 3mr?

www.jkchrome.com
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Tetrahedron

A tetrahedron is a solid with four faces. All the faces of a
tetrahedron are equilateral triangles. A tetrahedron has
four vertices and six edges.

Octahedron
An octahedron is a solid that has s, All the faces
of an octahedron are equil t 8. An octahedron

has six vertices and 12 ed

ed and Circumscribed Solids

If a sphere of the maximum volume is inscribed in a cube

of edge ‘a’, then the radius of the sphere = %

If a cube of the maximum volume is inscribed in a sphere
2r

of radius 'r’, then the edge of the cube = FXT

If a cube of the maximum volume is inscribed in a
hemisphere of radius ‘r’, then the edge of the cube =

2
J:xr.
3

Some Important Deductions

A

If a cone is made by a sector of a circle (AOBD), then the
following two things must be remembered:

The area of the sector of a circle (AOBD) = The CSA of the
cone

Radius of the circle (r) = Slant height (1) of the cone

FORMULAE
1. Cuboid

SOME MORE SOLIDS

o Join Telegram Group

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com



https://t.me/Jkchrome10

4 www.jkchrome.com

|
Figure
Nomenclature = 1=length, b = breadth,
h = height
Volume = Ibh
Curved/Lateral surface area = 2(1+b) h
Total Surface area = 2 (1b + bh + hl)

3.Cube

Figure
Nomenclature = a=edge/side
Volume = a®
Curved/Lateral surface area = 4a’”
Total Surface area = 6a®

3. Right circular cylinder

I

Figure

Curved/Lateral surface area = 2n
Total Surface area = 2nr(r + h)‘

Nomenclature = R =radius of base,h=h t
of the cylinder
Volume = 7rZh

4. Right circular cone

e — r =radius, h = height,

Volume

3
Curved/Lateral surface area = nrl
Total Surface area = nr(l +r)

8. Right triangular prism

www.jkchrome.com
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Figure
Volume = Area of the base x Height
Curved/Lateral surface area = Perimeter of

the base x
Height
Total Surface area — Lateral surface area +
2(Area of
base)
6.Right pyramid
.A[ Slant
I 'II l‘.elg.]!‘.f
f1a
[
Figur
Nomenclature eigh
Volume = 1/3 ar base x Height
Curved/ al surface area = 1/2
xPerimeter of the
base x Slant hei
T u area — Lateral surface area +
Area of
bas
!

Figure
Nomenclature = r=radius
4.3
Volume = 37T

Total Surface area = 4mr?

8.Hemisphere

Figure
Nomenclature = r=radius
4.8
Volume = 37T
Curved/Lateral surface area = 2mr?
Total Surface area = 3n7r?

9.Spherical Shell

www.jkchrome.com www.jkchrome.com
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Figure
Nomenclature —> r = inner radius, R = outer
radius

Volume :>§17:(R3 —r¥)
Total Surface area = 4n(R?* + r?)

10. Frustum of a Cone

‘!:_;_’_':h‘

Figure
Total Surface area — Lateral surface area +
Area of top + Area of base

Q1.

If the length of the diagonal AC of a square ABCD is 5.2
cm, then the area of the square is

(a) 15.12 sq.cm

(b) 13.52 sq.cm

(€) 12,62 sq. cm

(d) 10.00 sg.cm

Q2.

The length of the diagonal of a square is 'a' cm. Which of
the following represents the area of the square (in sq.
cm) ?

(a) 2a

(b) a/V2

(c) a2/2

(d) a%/4

Q3.

The breadth of a rectangular hall i
length. If the area of the floor is 768 Sthenthe
difference between the length and bre e hall is
(a) 8 meter

(b) 12 meters L 4
(c) 24 meters
(d) 32 meters
Q4.

Find the len
room 16m lo
(a) 123

(b)
(c) 68/3

(d) 45/2 meter

Q5.

Between a square parameter 44cm and a circle of
circumference 44 cm, which figure has larger area and
by how much

(a) Square 33cm?

(b) Circle 33 cm?

(c) Both have equal area,

(d) Dwustr 495 cm?

t rod that can be placed ina
oad and 32/3 high

www.jkchrome.com
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Qeé.
The perimeter of a square and a circular field are the
same. If the area of the circular field is 3850 sq meter.
What is the area (in m?) of the square?

(a) 4225

(b) 3025

(c) 2500

(d) 2025.

Q7.

The perimeter of the top of a rectangular table is 28m,,
whereas its area is 48 m2. What is the length

diagonal?

(a)5m

(b)10m

(c)1Zm

(d)12.5m

Q8.

The breadth of a rectangular hall isthree-fourth of its
length, If the area of the floo sq. m,, them the
difference betwe lengw and breadth of the hall is:
(a) 8m
(b)1Z2m

(a) 8V2 cm
(b) 16 cm

() V32 cm

(d) 8 cm

Q10.

The diagonal of a square A is (a +b). The diagoanal of a
square whose area is twice the area of square A is

(a) 2(a +b)

(b) 2(a+b)?

(c) V2(a-b)

(d) V2 (a+b)

Q11.

The length of a rectangular garden is 12 metres and its
breadth is 5 metres, Find the length of the diagonal of a
square garden having the same area as that of the
rectangular garden

(a) 2V30 m

(b) V13 m

(c)13m

(d)8vV15m

Q12.

The areas of a square and a rectangle are equal, The
length of the rectangle is greater than the length of any of
the square by 5 cm and the breadth is less by 3 cm. Find
the perimeter of the rectangle.

(a) 17 cm

(b) 26 cm

www.jkchrome.com
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(c) 30 cm

(d) 34 cm

Q13.

The perimeter of a rectangle is 160 meter and the
difference of two sides is 48 metre. Find the side of a
square whose area is equal to the area of this rectangle,
()32m

(b)8m

(c)4m

(d) 16 m

Q14.

The perimeter of two squares is 24 cm and 32 cm. The
perimeter (in cm) of a third square equal in area to the
sum of the areas of these squares is

(a) 45

(h) 40

(c) 32

(d) 48

Q15.

A wire when bent in the form of a square encloses an
area of 484 sq. cm. What will be the enclosed area? When
the wire is bent into the form of a circle?

(a) 125 cm?

(b) 230 cm?

(c) 550 cm?

(d) 616 cm?

Q16.

Find the length of the longest rod that can be placed in a

hall of 10m length , 6 m breadth and 4 m height
(a) 2v/38 m
(b) 4V38 m

(©) 219 m
(d)V152m
Q17. 2

The differences of the area of two sq

the other by 2 cm.
(a) 7 cm
(b) 9 cm
(c)1lcm
(d) 16 cm
Q18.
Atook 1 oss a rectangular field diagonally
walkin ratio diagonally walking at the ratio of
52m/min and B took the same time to cross the same
field along its sides walking at the rate of 68m/min. The
area of the field is

(a) 30m?

(b) 40 m2

(c) 50 m?

(d) 60 m2

Q19.

www.jkchrome.com
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The difference between the length and breadth of a
rectangle is 23 m. If it's perimeter is 206 m, then its area
is

(a) 1520m2

(b)2420m?

(c) 2480m?2

(d) 2520m?

Q20.

The area (in m?) of the square which has the same
perimeter as a rectangle whose length is 48 m and is 3
times its breadth is

(A) 1000

(b) 1024

(c) 1600

(d) 1042

Q21.

The perimeter of two squa 4 d 32 cm. The
perimeter of a third square whosejarea is the differences
of the two squares is

(a) 24 cm ¢

(b) 42 cm
(c) 40 cm

f five squares are 24 ¢cm 32 cm 40 cm,
0 cm respectively the perimeter of another

(a)31cm

(b) 62 cm

() 124 ecm

(d) 961 cm

Q23.

There is a rectangular tank of length 180 m and breadth
120 m in a circular field of the area of the land portion of
the field is 40000 m?, what is the radius of the field ?
(a) 130 m

(b) 135 m

(c)140m

(d) 145 m

Q24.

The length of a rectangular hall is 5m more than its
breadth. The area of the hall is 750m2, The length of the
hall is

(a) 15m

(b) 22.5m

() 25m

(d)30m

Q25.

A cistern 6 m long and 4 m wide contains water up to
depth of 1m 25 cm. The total area of the wet surface is
(a) 55m?

(b) 53.52

(c) 50m?

(d) 49m?

www.jkchrome.com
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Q26.

If the length and breadth of a rectangle are in the same
ratio 3:2 and its perimeter is 20 cm, then the area of the
rectangle (in cm3) is

(a) 24 cm?

(b) 36cm?

(c) 48cm?

(d) 12 cm?

Q27.

The perimeter of a rectangle and a square are 160 m
each. The area of the rectangle is less than that of the
square by 100 sq. m. The length of the rectangle is

(a) 30 m

(b) 60 m

(c)40m

(d) 50m

Q28.

A path of uniform width runs round the inside of a
rectangular field 38 m long and 32 m wide, if the path
occupies 600m?, then the width of the path is

(a) 30 m

(b) 5m

(c) 18.75m

(d)10m

Q29.

The perimeter of the floor of a room is 18 m. What is the
area of the walls of the room if the height of the room is 3
m?

(a) 21m?

(b) 42m?

(c) 54 m?

(d) 108 m?

Q30.

A copper wire is bent in the shape’f s
cm?, If the same wire is bent in the form of'@semicircle ,
pie = 22/7)

the radius (in cm) of the semiciacle is (t
(a)126
(b)14
(c)10

*

the form of a square with an
ame wire is bent in the form of a
in cm) of the circle is (take pie =

Q32.

Water flows into a tank which is 200m long and 150 m
wide through a pipe of cross-section 0.3m x 0.2m at
20km/h. then the time (in hours) for the water level in
the tank to reach 8 mis

(a)50

www.jkchrome.com
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(b)120
(c)150
(d)200
Q33.
A street of width 10 meters surrounds from outside a
rectangular garden whose measurement is 200 m x 180
m, the area of the path (in square meters) is
(a) 8000

(b) 7000

(c) 7500

(d) 8200

Q34.

The area of the square inscribed in a circle o
is

(a) 256 sq.cm
(b) 250 sq. cm
(c) 128 sg. cm
(d) 125 sq. cm
Q35.

Area of square wi

(a) 64 cm?

dius & cm

on%B\/Z cm is

4x + 14) cm

b) (2x+14) cm

(¢) (x+ 14 cm)

(d) (2x+7) cm
Q37.

If the perimeter of a square and a rectangle are the same.
then the area P and Q enclosed by them would satisfy
the condition

(a)P<Q

(b)P<Q

(c)P>Q

(dP=Q
Q38.
A cube of edge 6 cm is painted on all sides and then cut
into unit cubes. The number of unit cubes with no sides
painted is

(a)o

(b) 64

(c) 186

(d) 108
Q39.
The length of diagonal of a square is 15v2 cm. Its area is
(a)112.5 cm?

(b)150 cm?

(€)255V2/2 cm?

(d)225 cm?
Q40.

www.jkchrome.com
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A kite in the Shape of a square with a diagonal 32 cm
attached to an equilateral triangle of the base 8 cm.
Approximately how much paper has been used to make
it 7n (Use V3 =1.732)

(a) 539.712 cm?

(b) 538.721 cm?

(c) 540.712 cm?

(d) 539.217 cm?

Q41.

Alawn is in the form of a rectangle having its breadth
and length in the ratio 3 : 4. The area of the lawn is 1/12
hectare. The breadth of the lawn is

(a) 25 meters

(b) 50 meters

(c) 75 meters s

(d) 100 meters

Q42.

The area of a rectangle is thrice that of a square. The
length of the rectangle is 20 cm and the breadth of the
rectangle is 3/2 times that of the side of the square, The
side the square (in cm) is

(a) 10

(b)20

(c) 30

(d) 60

Q43,

The length and breadth of a rectangular field are in the
ratio 7 : 4. A part n4 m wide running all around outside
has an area of 416 m2 ,the breadth (in m) of the fi€ld i
(a) 28

(b) 14

(c) 15

(d) 16

Q44. \ 4

How many tiles, each 4 decimeter sq be
required to cover the floor of a goom 8 gand 6 m
broad? ¢

(a) 200

(b) 260

(c) 280

(d) 300

long and 12 m broad, The sum of the

d the celling is equal to the sum of

areas o ur walls. The volume (in m?) of the

godown is :

(a) 900

(b) 1200

(c)1800

(d) 720

Q4é6,
Length of a side of a square inscribed in circles is av2

units. The circumference of the circle is

(a) 2ma units

(b) ma units

www.jkchrome.com
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(c) 4 ma units
(d) 2a/ m units
Q47.
The perimeter and length of a rectangle are 40 m and 12
m respectively Its breadth will be
(a) 10m
(b)8m
(c)6m
(d)3m
Q48.
If each edge of square are be doubled then theincrease
percentage in its area is
(a)200%
(b)250%
(c)280%
(d)300%
Q49.
An elephant of length 4 m i8.at oné corner of rectangular
cage of size (16 mx 30m) a towards the
diagonally opposi ner.‘the elephant starts moving
towards the dia posite corner it takes 15
er. Find the speed of the

L)
A circle is inscribed in a square of side35cm. The area of
the remaining portion of the square which is not
enclosed by the circle is

(a) 962.5 cm?

(b)262.5cm?

(c) 762.5cm?

(d)562.4 cm?

Q51.

If the side of a square is 1/2 (x+1) units and its diagonal
is (3-X )/V/2 units, then the length of the side of the
square would be

(a) 4/3 units

(b) 1umit

(€)1/2 units

(d) 2 units

Q52.

A rectangular carpet has an area of 120 m? and a
perimeter of 46 meter. The length of its diagonal is:

(a) 17 meter

(b) 21 meter

(c) 13 meter

(d) 23 meter

Q53.

If the length of a diagonal of a square is 6v'2 cm, then its
area will be

(a) 24V2 cm?

(b) 24 cm?

www.jkchrome.com
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(c) 36 cm?
(d) 72 cm?
Q54.

The length of a room is 3 meter more than its breadth. If
the area of a floor of the room is 70 meter?, then the
perimeter of the floor will be
(a) 14 miter
(b) 28 miter
(¢) 34 miter
(d) 17 miter
Q55.

The length of a rectangle is twice the breadth. If area of
the rectangle be 417.605 sq. m., then length is

(a) 29.08 miter

(b) 29.80 miter

(c) 29.09 miter

(d) 28.90 miter

Q56.

The area of a sector of a circle of radius 5 cm, formed by

an arc of length 3.5 cm is :
(a) 8.5 cm?
(b) 8.75 cm?
(c) 7.75 cm?
(d) 7.50 cm?
Q57.

The radius of a circular wheel is 1,75 m, The number of
revolutions it will make in travelling 11 km is (use pie=
22/7)

(a)800

(b)900

(c)1000

(d)1200

Q58.

The radius of a wheel is 21cm, ho
will it make in travelling 924 meters? ie=22/7)
(a) 7
(b)11 'S
() 200

(d) 700

Q59.

The area (in sq., ¢
drawn insid

(a) 1724

(b) 784

(c) 86

(d) 616

Q60.

The area of the ring between two concentric circles,
whose circumference are 88 cm and 132 cm, is

(a) 78 cm?

(b) 770 cm?

(c) 715 cm?

(d) 660 cm?

Qe61.

largest circle that can be
of side 28 cm is :

www.jkchrome.com
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The diameter of a toy wheel is 14cm, What is the
distance travelled by itin 15 revolutions?

(a) 880 cm

(b) 660 cm

(c) 600 cm

(d) 560 cm

Q62

A can go round a circular path 8 times in 40 minutes. If
the diameter of the circle is increased to 10 times the
original diameter, the time required by A to go round the
new path once travelling at the same speed as before is :
(a)25min

(b)20min

(c)50min

(d)100 min

Q63.

The base of a triangle is 15 is 12 cm. the
height of another triangle af double the area having the
base 20 cm is

(a) 9cm 'S
(b) 18 cm
(c)8cm

bent into the shape of a square, the area of the
sq. cm, When the wire is bent into a
ular shape, the area of the semicircleis: (use
2/7)
a) 154 cm?
(b) 77 cm?
(c) 44 cm?
(d) 22 cm?
Q65.
If the area of a triangle with base 12 cm is equal to the
area of square with side 12 cm, the altitude of the
triangle will be
(a) 12 cm
(b) 24 cm
(c) 18 cm
(d) 36 cm
Q66.
The sides of a triangle are 3cm, 4 cm and 5 cm. The area
(in cm?) of the triangle formed by joining the mid points
of this triangle is :
(a) 6
(b)3
(c) 3/2
(d)3/4

Q67.

Three circle of radius 3.5 cm each are placed in such a
way that each touches the other two. The area of portion
enclosed by the circles is,

(a) 1.975 cm?

(b) 1.967 cm?

www.jkchrome.com
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(c) 19.68 cm?

(d) 21.22 cm?

Q68.

The area of a circular garden is 2464 sq. m. how much
distance will have to be covered if you like to cross the
garden along its diameter?(use pie = 22)

(a) 56 m
(b) 48 m
()28 m
(d) 24 m
Q69.

Four equal circles each of radius 'a’ units touch one
another. The area enclosed between them (pie= 22/7).In
square units, is
(a)3a?

(h)6az /7
(c) 41 a2
(d) a?/7
Q70.

The area of the greatest circle inscribed inside a square
of side 21 c¢m is (take pie =22/7)

(a) 703/2 cm?

(b) 701/2 cm?

(€)693/2 cm?

(d) 695/2 cm?

Q71.

The area of an equilateral triangle is 400 V3 sq. m. Its

perimeter is :

(2) 120 m
e, the

(b) 150 m
(c)90m

(d) 135 m

Q72.

From a point in the interior of an Qu'la

perpendicular distance of the sides arel3 2V3 cm
and 5v3 cm, The perimeter ( ingm) of iangle is

(a) 64 ¢

(b) 32
(c) 48

gle is 30 cm and its area is 30
side measures 13 cm, What is the
est side of the triangle?

Diameter of a wheel is 3 meter, The wheel revolves 28
times in a minute, To cover 5, 280 km distance, the wheel
will take ( Take pie = 22/7):

(2) 10 minutes
(b) 20 minutes
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() 30 minutes

(d) 40 minutes

Q75.

Find the diameter of a wheel that makes 113 revolutions
to go 2 km 26 decameters.(Take pie=22/7)
(a)56/13m

(b)70/11m

(€)136/11m

(d) 140/11m

Q76.

The radius of a circular wheel is 1.75 m.the n
revolutions that it will make in travelling 11fkm.
(a) 1000

(b) 10,000

(c) 100

(d) 10

Q77.

The circumference of a cir
square inscribed in the circl
100vV2/m cm ¢
(b)50v2/ T cm
(c)100/ 1t

er of

is 100 cm. The side of a

m width surrounds a circular park, The
f internal and external circumference of this

(c)21m

(d) 24 m

Q79.

Four equal sized maximum circular plates are cut off
from a square paper sheet of area 784 sq. cm. The
circumference of each plate is

(a)22cm

(b)44cm

(c)66cm

(d)88cm

Q80.

The circum radius of an equilateral triangle is 8 cm The
in- radius of the triangle is

(a)3.25 cm

(b) 3.50 cm

(c) 4cm

(d) 4.25 cm

Q81.

Three coins of the same size (radius 1 cm) are placed on
a table such that each of them touches the other two. The
area enclosed by the coins is

(a) (m /2 -V3) cm?

(b) (V3 -1 /2) cm?

() (2V/3- 1 /2) cm?

(d) (3V3-m/2) cm?

Q82.
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The area of the largest triangle that can be inscribed in a and 8 cm respectively, the length of the side of the
semicircle of radius r cm, is triangle is :

(a) 2r cm? (a) 7 cm

(b) rz cmz (b) 10.5 cm

(c) 2cm? (c) 14V3 cm

(d)1 /2 r2cm?, (d) 14V3 /3cm

Q83. Q90.

The area of the greatest circle, which can be inscribed in In an isosceles triangle, the measure of each of equal

a square whose perimeter is 120 cm, is sides is 10 cm and the angle between them is 45°, then
(2)22/7 x(15)? cm? area of the triangle is

(b) 22/7 x(7/2)? cm? (a) 25 cm?

(c) 22/7 x(15/2)% cm? (b) 25/2(v2) cm?

(d) 22/7 x(9/2)% cm? (c) 25V2 cm?

Q84. (d) 2v3 cm?

The area of the incircle of an, equilateral triangle of side Q91.

42 cm is (take m=22/7): The area of circle whose radius i & risected by
(2)231 cm? two concentric circles. The ofithe’smallest circle is
(b) 462 cm? (a) 2v3 cm

(€)22v3cm? (b) 2v6 cm

(d) 924 cm? (c)2cm ¢

Q8s5.
The number of revolution a wheel of diameter 40 cm
makes in traveling a distance of 176 m, is (take m=22/7):

(a) 140 ; area of the circle is
(b) 150
() 160
(d) 166
Q86.
The length of the perpendiculars drawn from any poi
in the interior of an equilateral triangle to the resp e f the difference between the circumference and
sides are py, pz, and pa.The length of each side o diameter of a circle is 30 cm, then the radius of the
triangle is circle must be :
()2/V3(pi+p2+ p3) (a) 6cm
{b]1/3(p1+p2+ p3] ‘ (b]? cm
(©)1/¥3(p1+pz+ ps )
(c)5cm
(d)4/V3(p1+p2+ p3) (d) 8cm
Q87_’- o » _ Q94.
A cTrcle s 1nsc1.'1b.ed m_ & sq. eqiTateal triangle The base and altitude of a right angled triangle are 12 cm
of side 4v3cm is inscribed i cle. The length of the . . ; .
) ) and 5 cm respectively, The perpendicular distance of its
didgenaliofthasiuarom hypot from the opposite vertex is
(2) 42 ypotenuse pp
)8 (a)56/13 cm
(c) 8v2 (b) 60/13cm
(d) 16 (c)5cm
Q88: (d) 7cm
The hypo e of a right angle isosceles triangle is 5 cm. Q95.
its area will be
(a) 5sq.cm

(b) 6.25 sg.cm

(c) 6.50 sq.cm o Join Telegram Group m
(d) 12,5 sg.cm

Q89.
From a point within an equilateral triangle,
perpendiculars drawn to the three sides are 6 cm, 7 cm
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The area of the shaded region in the figure given below is

1€ Q>

(a)a?/2(m/2 -1) sq. units

(b) a? (mr-1) sq. units

(c) a2 (m/2 -1) sq. units

(d) a?/b?(m -1) sq. units

Q96.

The area of a circle isincreased by 22 cm, if its radius
is increased by 1 cm. the original radius of circle is
(a)écm

(b)3.2cm

(c)3cm

(d)3.5cm

Q97.

The area of the largest circle, that can be drawn ingside
rectangle with sides 148 cm . by 14 cm is

(a) 49 cm?

(b) 154 cm? 0

(c)378 cm?
(d) 1078 cm?
Q9s. ¢

A circle is inscribed in an equilateral t 1
c¢m. The area of the portion bet@ieen the t
circle is

(a) 11 cm?

(b) 10.95 cm?

(c)10 cm?

(d)10,50 cm?

Q99.

In a tria
leng
(a) 25 m
(b) 28 m

()30 m

(d)35m

Q100.

If the perimeter of a right-angledisosceles triangle is
(42 +4) cm the length of the hypotenuse is

(a)4cm

(b)6cm

(c)8cm

(d)10 cm

side 8
gle and the

eld having sides 30m, 72m and 78m, the
de to the side measuring 72m is

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

Q101.

A right triangle with sides 3 cm,4cm and 5 m is rotated
about the side 3 ¢cm to from a cone. The volume of the
cone so formed is

(a) 16 ™ cm3

(b) 12 m cm?

()15 mem?

(d)20 T cm?

Q102.

ABC is an equilateral triangle of side 2 cm with A, B, C as
center and radius 1 cm, three arcs are drawn.
the region with in the triangle bounded b
arcs is

(a)( 3v3-m/2)

(b) (V3 -3mn/2)

() V3-m/2)

(d) (m/2-V3)

Q103.

The circumference of a circl
sector of the circ
=22/7)

()77 /48cmas
(b)125 cm
(c)75/48

(d)1

area of

cm and the angle ofa
& Tlgarea of the sector is (use 7

8¢

ference between areas of the circum circle and
ircle of an equilateral triangle is 44 cm?, then the
area of the triangle is ( Take m=22/7)

(a) 28 cm?

(b) 73 cm2

() 14V3 cm?

(d) 21 cm?

Q105.

If the area of a circle inscribed in a square is 9 1w cm?,

then the area of the square is
(a) 24 cm?
(b) 30 cm?
(c) 36 cm?
(d) 81 cm?
Q106.

The sides of a triangle are 6 cm, 8 cm and 10 cm, The
area of the greatest square that can be inscribed in it, is
(a)18 cm?

(b)15 cm?

(c) 2304/49 cm?

(d)576/49cm?

Q107.

The length of a side of an equilateral triangle is 8 cm. the
area of region lying between the cumcircle and the
incircle of the triangle is (use m=22/7)

(2)351/7 cm?

(b)352/7 cm?

(€)526/7 cm?

(d)527/7 cm?
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Q108.
A wire, when bent in the form of a square, encloses a
region having area 121 cm?, If the same wire is bentinto
the form of a circle, then the area of the circle is (use
=22/7)
(a)144 cm?
(b)180cm?
(c)154cm?
(d) 176cm?
Q109.

If the perimeter of a semicircular field is 36 m. Find its
radius (use m=22/7)
(a) 7m
(b)8m
(c)14m
(d)16m
Q110.
The perimeter (in meters) of a semicircle is numerically
equal to its area ( in square meters). The length of its
diameter is (use ™ =22/7)
(a) 36/11m
(b)61/11m
(€)72/11m
(d)68/11m
Q111.
One acute angle of a right angled triangle is double the
other. If the length of its hypotenuse is 10 cm, then its
area is
(a)25/2 (v3)cm?
(b)25 cm?
() 25V 3cm?
(d)75/2 cm?
Q112.
If a triangle with base 8 cm has th‘sa s a circle
with radius 8 cm, then the correspofidingialtitude (in
cm) of the triangle is
(a)12n
()20 1 *
(9)lé6m
(d)32n
Q113.

The measur of'sides of a right angled triangle
are given by gans e integers its area (in cm?)is
(a)9
(b)8
(c)5
(d)6
Q114.
The area of a right-angled isosceles triangle having
hypotenuse 16v2cm is
(a) 144 cm?
(b) 128 cm?
(c) 112 cm?
(d) 110 cm?
Q115.
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The area of an equilateral triangle is 4v'3 cm?2. The length
of each side of the triangle is

(a)3cm cm
(b)2v2 em
(€)2v3 cm
(d)4cm
Q116.

An equilateral triangle of side 6 cm has its corners cut
off to form a regular hexagon In. Area (in cm?) of this
regular hexagon will be
(a)3V3
(b)3V6
(c)6v3
(d)5v3/2
Q117.

A 7 m wide road runs outside a

whose circumference is 17 6fm,
(use m=22/7)
(a)1368 cm?
(b)1472 cm?
(c)1512 cm?

in cm) of a chord of a circle of radius 13 cm
12 cm from its center is

Q119,

The four equal circles of radius 4 cm drawn on the four
corners of a square touch each other externally. Then the
area of the portion between the square and the four
sectors is

(a) 9(m-4)sq.cm

(b) 16 (4 - ) sq.cm

() 99(m-4) sg.cm

(d) 169 (m-4) sq.cm

Q120,

If the four equal circles of radius 3 cm touch each other
externally, then the area of the region bounded by the
four circles is

(a)4(9-1m)sg.cm

(b) 9 (4 -m)sq.cm

(c) 5(6-m) sq.cm

(d) 6(5 — m) sq.cm

Q121.

The length of each side of an equilateral triangle is 14v/3
cm. The area of the incircle (in cm?) is

(a) 450

(b) 308

(c) 154

(d) 77

Q122.
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Area of the incircle of an equilateral triangle with side 6
cm is
(a) /2 sq.cm
(b) V3 msq.cm
(c) 6 msqg.cm
(d) 3msg.cm
Q123
A copper wire is bent in the form of an equilateral
triangle and has area 12 13 cmg, If the same wire is bent
into the form of a circle, the area (in cm?2) enclosed by the
wireis ( take pie=22/7)
(a) 364.5
(b) 693.5
(c) 346.5
(d) 639.5
Q124,
At each corner of a triangular field of sides 26 m 28 m
and 30 m, a cow is tethered by a rope of length 7m, the
area (in m) ungrazed by the cows is
(a) 336
(b) 259
(c) 154
(d) 77
Q125.
In an equilateral triangle ABC, P&Q are midpoint of sides
AB & AC respectively such that PQ || BC.IfPQ =5 cm
then find the length of BC.
(a) 5 cm
(b) 10 cm
(c) 15 cm
(d) 12 cm
Q126.
ABC is an equilateral triangle P and e two
AB and AC respectively such that FQ||B
,then find area of AAPQ
(a)25/4 sgq.cm
(b)25v3 sq.cm *
() 25V3 /4 sq.cm
(d) 25V3 sq.cm
Q127.
The area of a circl

(a) 38.5 cm?

() 39¢

()3

(d) 40 c

Q128.

In A ABC, O is the centroid and AD, BE, CF are three
medians and the area of A ACO =15 cm? then area of
quadrilateral BDOF is

(a) 20 cm?

(b) 30 cm?

() 40 cm?

(d) 25 cm?

Q129.

ircumference 22cm is
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A straight line parallel to the base BC of the triangle ABC
intersects AB and AC at the points D and E respectively.
If the area of the AABE be 36 sq., cm, then the area of the
AABC is

(a) 18 sq.cm

(b) 36 sq.cm

(c)18cm

(d) 36 cm

Q130.

The length of two sides of an isosceles triangle is 15 and
22 respectively. What are the possible values

perimeter

(a)52 or 59

(b)52 or 60

(c)15 or 37

(d)37 or 29

Q131.

The diameter of a wheel is\98 cm. the number of
revolutions in which it will cover a distance of
1540 mis

(a) 500 ¢
(b) 600

3 4
(b) 0.14
(c) 0.24

(d) 0.34

Q133.

A bicycle wheel makes 5000 revolutions in moving 11
km . Then the radius of the wheel (in cm ) is (take
pie=22/7)

(a) 70

(b) 35

(c)17.5

(d) 140

Q134.

Three circles of diameter 10 cm each are bound together
by a rubber band as shown in the figure, the length of the
rubber band (in cm) if it is stretched is
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(a) 30

(b)30+10m

(c) 10

(d) 60+20 1t

Q135.

If chord of length 16cm on is at a distance of 15 cm from
the center of circle then the length of the chord of the
same circle which is at a distance of 8 cm from the
center is equal to

(a) 10 cm

(b) 20 cm

(c) 30 cm

(d) 40cm

Q136.

A semicircular shaped window has diameter of 63 cnyits
perimeter equals (take pie =22/7 )

(a) 126 cm

(b) 162 cm

(c) 198 cm *

(d) 251 cm

Q137.

In an equilateral triangle ABC ofSide 1@em jthe side BC
is trisected at D & E. Then t (in cm) of AD is
(a)3v7
(b)7V3
(9)10v7/3
(d)7v10/3
Q138.
The peri triangle is 40cm and its area is 60
cm?, Ift est side measures 17 ¢cm, then the length (
in cm ) of the smallest side of the triangle is

(a) 4

(b)6

(c)8

(d) 15

Q139.

From four corners of a square sheet of side 4 cm four
pieces each in the shape of arc of a circle with radius 2
cm are cut out. The area of the remaining portion is :

(a) (8 -m)sq.cm
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(b) (16 - 4 )sg.cm
(c) (16 -8 m) sq.cm
(d) (4-2m)sg.cm
Q140.
If the numerical value of the perimeter of an equilateral
triangle is V3 times the area of it, then the length of each
side of the triangle is
(a) 2 units
(b) 3 units
(¢) 4 units
(d) 6 units
Q141.
Each side of an equilateral triangle is 6 ci. its area
(a) 9v3 sq. cm
(b) 6v3 Sq. cm
(c)4V3 sq. cm
(d) 8v3Sq.cm
Q142.
The length of three median iangle are 9 cm, 12
cmand 15cm, T (in s cm) of the triangle is
(a) 24
(b) 72
(c) 48

quare units
(b) 6 square units
(c) 4 square units
(d) 8 square units
Q144.

If the length of each side of an equilateral triangle is
increased by 2 units, the area is found to be increased by
3+43 square unit. The length of each side of the triangle
is
(a) /3 unit
(b)3 units
(¢) 3v/3 units
(d) 32 units
Q145.

What is the area of the triangle whose sides are 9cm,
10cm and 11cm?

(a) 30 cm?
(b)60 cm?
() 30v2 cm?
(d)62v2 cm2
Q146.

The area of an isosceles triangle is 4 square units if the
length of the unequal side is 2 unit, the length of each
equal side is
(a) 4 units
(b) 2v3 units
(¢) V17 units
(d) 3v2 units

the triangle formed by the straight line 3x
and the co-ordinate axes is
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Q147.
What is the area of a triangle having perimeter 32 cm,
one side 11 cm and difference of other two sides 5 cm?
(a) 8v30 cm?
(b) 5v35 cm?
() 6v30 cm?
(d) 8v2 cm?
Q148.
Area of equilateral triangle having side 2cm is
(a)4cm?
(b)V3cm?
(c)3cm?
(d)Vécm?
Q149.
The area of a circle is increased by 22 cm?2. when its
radius is increased by 1 cm. The original radius of the
circle is
(a)3cm
(b) 5ecm
{€) 7cm
(d) 9 cm
Q150.
The radii of two circles are and 5cm and 12 cm. The

area of a third circle is equal to the sum of the area of the

two circles. The radius of the third circle is
(a) 13 cm

(b)21cm

(c) 30 cm

(a)40 sq. m

(b)54 sq. m TS
()53 sq. m

(d) 77 sq. m

Q152.

The area of a circle inscrib
(a) m/4m?

(b) ™ /2 m?

(c) mm?
(d) 2m m2

a uar%of ea 2m? is

dii 4 cm, 6 cm and 8 cm touch each
ternally, The area of the triangle
line-segments joining the centres of the
three circles is

(a) 144V13 sq. cm

(b) 12V105 Sq. cm

(c) 6V6 sq. cm

(d) 24V16 sq. cm

Q154.

Two circles with center A and B and radius 2 units touch
each other externally at 'C’, A third circle with center 'C’
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(d)17cm

Q151.

The perimeter of a semicircle path is 36 cm. fin

area of this semicircle path 0
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and radius '2' units meet other two at D and E. Then the
area of the quadrilateral ABDE is

(a)2V2 sq. units

(b)3+/3 sq. units

(c)3V2 sq. units

(d)2V3 sq. units

Q155.

If the perimeter of a right angled triangle is 56 cm and
area of the triangle is 84 sq. cm, then the length of the
hypotenuse is (in cm)

(a) 25

(b) 50

()7

(d) 24

Q156.

If the length of each median of a
6v3 cm, the perimeter of t

(a) 24 cm

(b)32 cm

(c)36cm

(d) 42 cm ¢
Q157.

ilateral triangle is 4v3 sq. cm. Its

A gear 12 cm in diameter is turning a gear 18 cm in
diameter. When the smaller gear has 42 revolutions. how
many has the larger one made?

(a) 28

(b) 20

(c) 15

(d) 24

Q159.

The perimeter of a semicircular area is 18 cm , then the
radius is :( using pie =22/7)

(a) 16/3 cm

(b) 7/2 cm

(c)6cm

(d) 4 cm

Q160.

A circle and a rectangle have the same perimeter. The
sides of the rectangle are 18 cm and 26 cm. The area of
the circle is (Take pie =22/7 )

(a) 125 cm?

(b) 230 cm?

(c) 550 cm?

(d) 616 cm?

Q161.

The area of a circle is 38.5 sq. cm. Its circumference (in
cm) is (use pie =22/7)

(a) 22
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(b) 24
(c) 26
(d) 32
Q162.
A circle is inscribed in a square whose length of the
diagonal is 12v2 cm. An equilateral triangle is inscribed
in that circle, The length of the side of the triangle is

(@) 4v3 em

(b) 8V3 cm

(€) 6V3 cm

(d) 11V3 cm

Q163.

The area (in sq. unit) of the triangle formed in the first
quadrant by the line 3x +4y =12 is

(a)8

(b) 12

(c)6

(d) 4

Q164.

The height of an equilateral triangle is 15 cm, the area of
the triangle is

(a) 50v3 sq. cm

(b) 703 sg. cm

() 75v3 sq. cm

(d) 150v3 sq. cm

Q165.

The area of an equilateral triangle is 9V3 m, The length
(in cm) of median is
(a)2v3
(b)3V3
(©)3V2
(d)2v2

Q166.

The side of a triangle are 16 cm, Q c m. Find
the area,
(a) 64 cm?

(b) 112 cm?

(c) 96 cm? ¢
(d) 81 cm?
Q167.

360 sq.cm and 2
triangles. If t
triangle be 8

are the area of two similar
of‘@ne of the sides of the first
he length of the corresponding
triangle is

(b) 19/3c

(c)20/3 cm

(d) 6 cm

Q168.

The perimeter of an isosceles triangle is 544 ¢cm and each
of the equal sidesis 5/6 times the base .what is the area
(in cm?) of the triangle?

(a) 38172

(b) 18372

(c) 31872
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(d) 13872

Q169.

The altitude draw In o the base of an isosceles triangle is
8 cm and its perimeter is 64 cm. the area (in cm?)of the
triangle is

(a)240

(b)180

(c)260

(d)120

Q170.

Three circle of radius a, b, ¢ touch each other
the area of the triangle formed by joinin
(a) V(a+b+c)abc

(b) (a+ b + c)V(a+b+c)
(c)ab+bc+ca

(d) None of the abave
Q171.

The radii of two circles ar
of a circle whose area is the
circles is ¢

(a) 36 cm
(b) 17 cm

0 cm and 24 cm. The radius
the area of these two

scribed in an equilateral triangle and a
s inscribed in that circle. The ratio of the areas of
the triangle and the Square is
a)V3:4
(b)V3:8
() 3V3:2
(d) 3v3:1
Q173.
If area of an equilateral triangle is a and height b, then
the value ofb?/ais
(a)3
(b)1/3
(c) V3
(d)1/V3
Q174.
AABC is similar to ADEF such that BC=3 ¢cm, EF = 4 cm
and area of AABC = 54 cm?, then the area of ADEF is : =
(a) 66 cm?
(b) 78 cm?
(c) 96 cm?
(d) 54 cZm?
Q175.
The area of two similar triangles ABC and DEF are 20cm?
and 45cm? respectively. If AB =5 cm, then DE is equal to
(a) 6,5 cm
(b) 7.5 cm
(¢) 8.5cm
(d) 5.5 cm
Q176.
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Ci and Cz are two concentric circles with center at O, (b) m[(3.5)% +(4.5) 2+ (5.5) %]
Their radii are 12 c¢m, and 3 cm, respectively B and C are ()27
the point of contact of two tangents drawn to C; from a (d) 13.5
point A lying on the circle C; Then, the area of the Q183.
quadrilateral ABOC is Three sides of a triangle field are of length 15 m, 20m
(a)9V15/2 sq.cm and 25m long respectively. Find the cost of sowing seeds
(b) 1215 sq. cm in the field at the rate of 5 rupees per m
(€) 9V15 sq. cm (a) Rs. 800
(d) 6V15 sq. cm (b) Rs. 600
Q177. (c)Rs.750
From a point P which is at a distance of 13 cm from (d) RS.150
center O of a circle of radius 5 ¢cm in the same plane, a Q184.
pair of tangents PQ and PR are drawn to the circle Area A chord of length 30 cm is at a distance To e
of quadrilateral PQOR is center of a circle. The radius of the circ
(a) 65 cm? (a) 17 cm
(b) 60 cm? (b) 23 cm
(c) 30 cm? (c)21cm
(d) 90 cm? (d) 19 cm
Q178. Q185.
A circular road runs around a circular ground. If the The radius of thegimgixcle t‘a triangle whose sides are
difference between the circumference of the outer circle 9cm ,12 cm and i
and the inner circle is 66 meters, the width of the road is (a) 9 cm
: (b)13 ¢
(a) 10.5 meters ()3

(b) 7 meters
(c) 5.25 meters
(d) 21 meters

Q18
Q179. @ 2
The difference of perimeter and diameter of a cirgle is (b) V2:v3
unit, The diameter of the circle is (c)1:3
(a)X/(m -1) unit (d1:2
(b) X/( m+1) unit O Q187.

o of in radius' circumradius of a square is :

(c) X/ m unit Three circles of equal radius 'a' cm touch each other. The
(d) (X/ ) -1 unit ¢ area of the shaded region is :
Q180.

The area of the circum circle of an equilateraltriangle is

3m sq.cm? The perimeter of thBtriangle i
(a) 3v3em
(b) 9 cm
() 18 cm
(d) 3 em
Q181.

A horse is tiedito by a rope. If the horse moves
alongac ath always keeping the rope stretched
eters when it has traced out 72° at
length of the rope is (Take pie=22/7)

the center,
(a) 70 m
(b) 75 m
(c)80m
(d) 65 m
Q182.
Three circles of radii 3.5 ¢cm, 4.5 cm and 5.5 cm touch
each other externally. Then the perimeter of the triangle
formed by joining the centres of the circles, in cm is

(a) 27

(a)( V3+m /2)aZsq. cm
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(b) (6V3- 1t /2)a?sg.cm

(©) ( ¥3-m )a?sq.cm

(d) (2v3-m /2)a?sq.cm

Q188.

ABC is aright angled triangle. B being the right angle
Mid- points of BC and AC are respectively B and A' Area
of AA'B'Cis

(a) 1/2 (area of AABC)

(b) 2/3(area of AABC)

(c) 1/4(area of AABC

(d) 1/8( area of AABC)

Q189.

A wire of length 44 cm is first bent to form a circle and
then rebent to form a square. The difference of the two
enclosed areas is

(a) 44 cm?

(b) 33 cm?

(c) 55 cm?

(d) 66 cm?

Q190.

£ACB is an angle in the semicircle of diameter AB =5 cm
and AC: BC = 3: 4. The area of the triangle ABC is

(a) 6v2 sq.cm

(b) 4 sq.cm

(c) 12 sq.cm

(d) 6 sq.cm

Q191.

If the lengths of the sides AB, BC and CA of a triangle ABC

are 10 cm, 8 cm and 6 cm respectively and If M is

e
mid-point of BC and MN || AB to cut AC at N. then a f

the trapezium ABMN is equal to
(a) 18 sq.cm
(b) 20 sq.cm

(¢) 12 sg.cm ¢

(d) 16 sq.cm

Q192.

In an equilateral triangle of sid&24 cm, a citgle is
inscribed touching its side a ofthe®emaining
portion of the triangle i
(a) 98,55 sq. cm
(b) 100 sq. cm

t measuring 32 m and 24 m and the
them is a perfect right angle. The other
two sides measure 25 m each and the other three angles
are notright angles. The area of the plotin m? is

(a) 768

(b)534

(c) 696.5

(d)684

Q194.

aand b are two sides adjacent to the right angled
triangle and p is the perpendicular drawn to the
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hypotenuse use from the opposite vertex. then p? is
equal to

(a)aZ+b?

(b (1/a2)+(1/b?)

(c)(a?b?)/(a?+b?)

(d) a2 -b?

Q195.

A is the center of circle whose radius is 8 and B is the
center of a circle whose diameter is 8. If these two circles
touch externally, then the area of the circle with
diameter AB is

(a) 36m

(b) 64n

(c)144n

(d) 256m

Q196.

If the numerical value of th h
equilateral triangle be sameg, then the length of each side
of the triangle is

(a) 2 units ¢

(b) 4 units

e areaof an

side of the square is equal to that of the
a circle, then the ratio of the area of the

A 11
(b)7:11
(©)11:14

(d)11:7

Q19s.

The median of an equilateral triangle is 6v3 cm. the
area (in cm?)of the triangle is

(a)72

(b)108

(€)72v/3

(d)36V3

Q199,

In the numerical value of the circumference and area of a
circle is same then the area is

(a) 6  sq. unit

(b) 4 1t sq. unit

(c) 8 m sq. unit

(d) 12 7 sg. unit

Q200.

The area of an equilateral triangle is 48 sq. cm. The
length of the side is

(a) V8x 4 cm

(b) 4vV3 cm

(c)8cm

(d)8¥3cm

Q201.
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The external fencing of a circular path around a circular
plot of land is 33m more than its interior fencing. The
width of the path around the plot is

(a) 5.52 m

(b) 5.25m

(c) 2,55 m

(d) 2.25m

Q202.

The perimeter of a triangle is 54 m and its sides are in
the ratio 5: 6 : 7. The area of the triangle is

(2)18 m?

(b) 54V6 m?

(€)27v2 m?

(d) 25 m?

Q203.

A circular wire of diameter 112 c¢m is cut and bent in the
form of a rectangle whose sides are in the ratio of 9 : 7.
The Smaller Side of the rectangle is

(a) 77cm

(b)97 cm

(c) 67 cm

(d) 84 cm

Q204.

If the perimeter of an equilateral triangle be 18 cm, then
the length of each median is
(a)3v2cm

(b)2v3cm

(©)3V3

(d) 2v2em

Q205.

Two equal maximum sized circular plates are ¢

from a circular paper sheet of circumference 3

Then the circumference of each circ

(a) 176 cm

(b) 150 cm

(c) 165 cm

(d) 180 cm

Q206.

The in radius of an equilateraht
perimeter of that triangle 1

(a) 18cm

(b) 15 cm

(c)2cm

(d) 6 cm

Q20

The differ between the circumference and diameter
of a circle is 150 m. The radius of that circle is( take pie =
22/7)

(a) 25 meter

(b) 35 meter

(c) 30 meter

(d) 40 meter

Q208.

rpl

*

le is V3 cm, then the
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The perimeters of a circle, a square and an equilateral
triangle are same and their areas are C. Sand T
respectively. Which of the following statement is true ?
(a)C=S=T

(b)c>S>T

(c)C<S<T

(d)S<C<T

Q209.

A horse takes 5/2 seconds to complete a round around a
circular field. If the speed of the horse was 66 m/sec,
then the radius of the field is, (Given it pie 22

(a) 25.62m

(b) 26.52 m

(c) 25.26m

(d)26.25m

Q210.

The diameter of the front 0
and that of rear wheel is 2ycm to
distance, find the number o
revolve when th
(a)n/xy times
(b]yn/x ti

ine is 2x cm
ver the same
he rear wheel Will
whedrevolves n' times,

d e of 2.2 km is (assume pie 22 /7)

(a) 625

(b) 1250

(c) 1875

(d) 2500

Q212.

If the altitude of an equilateral triangle is 12v3 cm, then
its area would be ;

(a)36V2 cm?

(b)144+/3 cm?

(c)72 cm?

(d)12 cm?

Q213.

Let C; and C; be the inscribed and circumscribed circles
of a triangle with sides 3 cm, 4 cm and area of 5 cm then
areaof Cy fareaof Cz is

(a) 9/25

(b) 16/25

(c)9/16

(d)4/25

Q214.

A circular swimming pool is surrounded by a concrete
wall 4m,wide, If the area of the concrete wall
surrounding the pool 11/25radius(in m) of the pool :

(a) 8

(b) 16
(¢) 30
(d) 20
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Q215.

The sides of a triangle having area 7776 sq., cm are in the
ratio 3: 4: 5. The perimeter of the triangle is:

(a) 400 cm

(b) 412 cm

(c) 424 cm

(d) 432 cm

Q216.

The perimeter of a sheet of paper in the shape of a
quadrant of a circle is 75 cm. Its area would be (1t =
22/7)

(a) 512.25 cm?

(b) 345.5 cm?

(c) 100 cm?

(d) 693 cm=2
Q217.

A circle is inscribed in an equilateral triangle of side 8m.
The approximate area of the unoccupied space inside the
triangle is :

(a) 21 m?

(b) 11m?

(c) 20 m?

(d) 22 m?

Q218.

In the figure, OED and OBA are sectors of a circle with
centre O, The area of the shaded portion,

D

(a)11/16m?
(b)11/8 m?
(¢) 11/2 m?

(d) 11/4 m? ¢
Q219.

If the circumference o
circle is 30/ m, the
(a) 30
(b)15/w
(c) 60T
(d)3
Q220.
The outer and inner diameter of a circular path be 728
c¢cm and 700 cm respectively. The breadth of the path is
(a) 7 cm

(b) 14 cm

(c) 28 cm

(d) 20 cm

Q221.

cir then the diameter of the
meter of the circle is:
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A piece of wire when bent to form a circie will have a
radius of 84 cm. If the wire is bent to form a square, the
length of a side of the square is -

(a) 152 cm

(b) 168 cm

() 132 cm

(d) 225 cm

Q222.

The area of a circle is 324, sq. cm, The length of its
longest chord (in cm.) is

(a) 36

(b) 38

(c) 28

(d) 32

Q223.

The circumference of a triangle i
circumference of its in-circ

the triangle is (taking 7 = 7)
(a) 56 square cm

(b) 48 square cm ¢
(c) 84 square ¢

of two equal sides of an isosceles
.and the adjacent angle is 45°, then the
riangle is

2 square cm

b)i25V 2 square cm

() 12v/2 Square cm

(d) 15V2 square cm

Q225.

The inner-radius of a triangle is 6 cm, and the sum of the
lengths of its sides is 50 cm. The area of the triangle (in
sq.cm ) is

(a) 150

(b) 300

(c) 50

(d)56

Q226,

One of the angles of a right angled triangle is 15°, and the
hypotenuse is 1 m, the area of the triangle ( in sq. cm) is
(a) 1220

(b) 1250

(c) 1200

(d) 1215

Q227.

If for an isosceles triangle the length of each equal side is
'a’ units and that of the third side is 'b' units, then its area
will be

(a)(a/4)V4a?- a? sq. units

(b) (b/4)V4a2- b? sq. units

(c) (a/2)V2a% b? sq. units

(d) (b/2)V a2- 2b? sq. units

Q228.
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What is the position of the Circumcentre of an obtuse-
angles triangle?

(a) It is the vertex opposite to the largest side Ig qay
g3 ursg & foudafa g,

(b) It is the midpoint of the largest side T HaHos
qisq &1 Hew g g

(c)it lies outside the triangles./dg& ﬁﬂiﬁf & &gl grar

€|
(d) itlies inside the triangles./Jg ﬁﬁgﬁ & HeX @il

g |

Q229.

The ratio of circumference and diameter of a circle is
22:7.1f the circumference be 11/7 m, then the rafius of
the circle is:

(2)1/ 4 m

(b)1/3m

(c)1/2 m

(d)1Im

Q230.

The area of a circle whose radius is the diagonal of a
square whose area is 4 is:

(a)4m

(b)8m

(g)é6mn

(d)16m

respectively. The perimeter of the rhombus is :
(a) 80 cm

(b)72 cm

(c) 68 cm

(d) 64 cm

Q232.

The diagonals of a rhombu
perimeter of the rhombus (i
(a) 68

(b) 65

¢

cm &d cm. The

r of arhombus is 40 cm, If one of the
diagonals be"12 cm long what is the length of the other
diagonal?

(a)12cm

(b)V136cm

(c)16cm

(d)Va4cm

Q234.

The perimeter of a rhombus is 40 m and its height is 5m
itsareais:

(a) 60 m?
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a)8¥'3/2 cm?
2
Q231 (b)j:g/ * o
The diagonals of a rhombus are 32 cm and 24 cm. (c) o
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(b) 50 m2
(c) 45 m?
(d) 55 m2
Q235.
The perimeter of a rhombus is 40 cm. If the length of one
of its diagonals be 12 cm, the length of the other diagonal
is

(a) 14 cm

(b) 15cm

(c) 16 cm

(d)12 cm

Q236.

The area of arhombus is 150 cm?2. Thel
diagonals is 10 cm. The length of the ot
(a) 25 cm

(b) 30 cm
(c)35cm

(d) 40 cm

Q237.

The area of areg
(a) 18V3 cm?

xagQR of side 2v/3 cm is :

(d)3v2cm?

Q239.

The length of one side of a rhombus is 6.5 cm and its
altitude is 10 cm. If the length of its diagonal be 26 cm,
the length of the other diagonal will be :

(a) 5 cm

(b) 10 cm

(c) 6,5 cm

(d) 26 cm

Q240,

The measure of each of two opposite angles of a
rhombus is 60° and the measure of one of its sides is10
cm, The length of its smaller diagonal is :

(a) 10cm

(b) 10V3 cm

() 10v2 cm

(d) (5/2)V2 cm

Q241.

The perimeter of a rhombus is 100 cm, If one of its
diagonals is 14 cm, Then the area of the rhombus is
(a) 144 cm?

(b) 225 cm?

(c) 336 cm?

(d) 400 cm?

Q242,
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The ratio of the length of the parallel sides of a trapezium
is 3 : 2. The shortest distance between them is 15 cm. If
the area of the trapezium is 450 cm? the sum of the
length of the parallel sides is

(a) 15cm

(b) 36 cm

(c) 42 cm

(d) 60 cm

Q243.

A parallelogram has sides 15cm and 7 cm long . the
length of one of the diagonals is 20 cm . the area of the
parallelogram is

(a) 42 cm?

(b) 60cm 2

(c) 84cm?

(d) 96 cm?

Q244,

Sides of a parallelogram are in the ratio 5:4. Its area is
1000 sq. units, altitude of the greater side is 20 units,
Altitude on the smaller side is:

(a) 20 units

(b) 25 units

(c) 10 units

(d)15 units

Q245.

The perimeter of arhombus is 40 cm me of
an angle is 60°, then the area of it Q

(2) 100v/3cm?
(b) 50 V3cm?
() 160V3cm?

(d) 100cm?
Q246.

s of a parallelogram are of length 15

e distance between two smaller sides
he distance between two bigger sides is
(a) 8 cm

(b) 10 cm

(c)12cm

(d) 15 cm

Q247.

A parallelogram ABCD has sides AB = 24 ¢cm and AD = 16
cm. The distance between the sides AB and DC ,is 10 cn,
Find the distance between the sides AD and BC.

(@) 15¢cm
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(b) 18 cm
(c) 16cm
(d) 9cm
Q248.
The adjacent sides of a parallelogram are 36 cm and
27cm, if the distance between the shorter sides is 12 cm,
then the distance between the longer sides is:

(a) 10 cm

(b) 12 cm

(c) 16cm

(d) 9cm

Q249,

If the diagonals of a rhombus are 8 cm a ,th

the area of square having same side as of rhAbmbus
is

(a) 25

(b) 55

(c) 64

(d) 36

Q250.

Two circles wit

sq. units
SQ. Units

Q251.
he perimeter of a non-square rhombus is 20 cm, One its
diagonal is 8 cm, The area of the rhombus is
(a) 28 sq.cm
(b) 20 sq.cm
()22 sg.cm
(d) 24 sq.cm
Q252.
The perimeter of a rhombus is 100 cm and one of its
diagonals is 40 cm, Its area (in cm) is
(a) 1200
(b) 1000
(c) 600
(d) 500
Q253.
In AABC, D and E are the points of sides AB and BC
respectively such that DE|| AC and AD : BD = 3:2 the
ratio of area of trapezium ACED to that of A BED is
(a) 4: 15
(b) 15: 4
(c)4:21
(d)21:4
Q254,
ABCD is a trapezium in which AB||DC and AB = 2 CD, The
diagonals AC and BD meet at O, The ratio of area of
triangles AOB and COD is
(a)1:1.
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(b) 1:v/2

()4:1

(d)1:4

Q255.

The length of each side of a rhombus is equal to the

length of the side of a square whose diagonal is 40v2 cm.

If the length of the diagonals of the rhombus are in the
ratio 3: 4, then its area (in cm?) is

(a) 1550

(b) 1600

(c) 1535

(d) 1536

Q256.

ABCD is a parallelogram BC is produced to Q such that
BC = CQ, Then

(a) area (AABC ) = area (ADCQ)

(b) area (AABC) > area (ADCQ)

(c) area (AABC) < area (ADCQ)

(d) area, (AABC) not equal area (ADCQ)

Q257.

ABCD is parallelogram, P and Q are the mid- points of
sides BC and CD respectively, [f the area of AABC is 12
cm?, then the area of AAPQ is

(a) 12 cm?

(b) 8 cm?

(c) 9 cm?

(d) 10 cm?

Q258.

The area of arhombus is 216 cm? and the length of its
one diagonal is 24 cm, The perimeter (in cm) of th

rhombus is

(a) 52

(b) 6021.

(c) 120 ¢

(d) 100

Q259.

One of the four angles of a rhombus is 60 the length
of each side of the rhombu g th&th ength of
the longer diagonal is
(a)8+v3cm
(b) 8cm
(©)4vV3 cm
(d)8/v3 cm
Q260.
The
respective
(a) 8 cm
(b) 6 cm
(c) 10 cm
(d)12 cm
Q261.

A parallelogram has sides 60 in and 40 m and one of its
diagonals is 80 m long. Its area is

(a) 500vV15 m?

(b) 600V15 m?2

rhombus are 12 cm and 16 cm
he length of one side is
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() 400V15 m?

(d)450v15 m?

Q262.

Perimeter of a rhombus is 2p unit and sum of length of
diagonals is m unit, then area of the rhombus is.
(a)1/4m? p sq unit

(b) 1/4mp? sq unit

(€)1/4 (m2-p?) sq unit

(d) 1/4 (m? - p%) sq unit

Q263.

I AABC, D and E are two points on the sides A
|IBC and AD/BD = 2/3. Then the area of tra
DECB/the area of AABC is equal to
(a)5/9

(b) 21/25

(©)9/5

(d) 21/4

Q264.

The sides of a rhombus are ch and a diagonal
measures 16cm. the‘hombus is:

(a) 96sq.cm

(b) 160sq.
(c) 100 sgicm

that DE

of two parallel sides of a trapezium are 6 cm
, If the height of the trapezium be 4 cm, then its

(a) 28 cm?
(b) 56 cm?
(c) 30 cm?
(d) 36 cm?
Q266.
If diagonal of a rhombus are 24 cm and 22c¢m then
perimeter of that rhombus is
()80 cm
(b) 84 cm
(c)76cm
(d) 72 cm
Q267.
The area of an isosceles trapezium is 176 cm? and the
height is 2/11t% of the sum of its parallel sides, If the ratio
of the length of the parallel sides is 4: 7, then the length
of a diagonal (in cm) is
(a) 2v137
(b) 24
(c) V137
(d) 28
Q268.
The perimeter of a rhombus is 60 cm and one of its
diagonal is 24 cm. The area of the rhombus is

(a) 432 sq.cm

(b) 216 sq.cm
(c) 108 sq.cm
(d) 206 sq.cm
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Q269.

The area of the parallelogram whose length is 30 cm,
width is 20 cm and one diagonal is 40 cm is

(a) 200 V15 cm?

(b) 300v15 cm?

(€) 100V15 cm?

(d) 150V15 cm?

Q270.

The area of arhombus is 256 sq. cm, and on of its
diagonal is twice the other in length Then length of its
larger diagonal is

(a) 32 cm

(b) 48 cm

(c) 36 cm

(d) 24 cm

Q271.

The length of two parallel sides of a trapezium is 15 cm
and 20 cm. If its area is 175 sqg.cm, then its height is:
(a) 25 cm

(b) 10 cm

(c) 20 cm

(d) 15 cm

Q272.

The cost of carpenting a room is Rs. 120 If the Width had
been 4 meters less, the cost of the Carpet would have
been Rs. 20 less. The width of the room is :

(a) 24 m

(b)20m

(c)25m

(d) 184 m

Q273.

The floor of a corridor is 100 m long and 3 m v@
at I

of covering the floor with carpet 50 ¢ wi
of Rs. 15 per m is

(a) Rs.4500

(b) Rs.9000

(c) Rs.7500

(d) Rs, 1900

Q274,

A playground is in the
1,000 was spent t
25 paise per

¢

a rectangle, A sum of

he ground usable at the rate of
dth of the ground is 50 m, if
is increased by 20 m. what will

(a)1250
(b) 1,000

(c) 1,500

(d) 2,250

Q275.

A hall 25 meters long and 15 meters broad is surrounded
by a veradah of uniform width of 3.5 meters. The cost of
flooring the varandah at Rs, 27.50 per square meter is
(a) Rs. 9149.50

(b)Rs.8146.50
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(c) Rs.9047.50
(d) Rs.4186.50
Q276.

The outer circumference of a Circular race-track is 528
meter. The track is everywhere 14 meter wide, Cost of
leveling the track at the rate of Rs. 10 per sq. meter is :
(a)Rs. 77660
(b) Rs.67760
(c)Rs. 66760
(d) Rs.76760
Q277.

The length and breadth of a rectangular fieldare
ratio of 3 : 2. If the perimeter of the field , its
breadth (in meters) is:

(a) 18

(b) 16

(c)10

(d)24

Q278.

The sides of a rg
equal and its are
the plot i
(a)80
(b)1

()

he

rlar Plot are in the ratio5:4
to 500 sq. m the perimeter of

ABC s a triangle with base AB, D is =5 DB=3, what is
he ratio of the area of AADC to and its area the area of
AABC

(a)2/5

(b)2/3

(c)9/25

(d)4/25

Q280.

If the area of a triangle is 1176 cm? and the ratio of base
and corresponding altitude is 3 : 4, then the altitude of
the triangle is :

(a) 42 cm

(b) 52 cm

(c) 54 cm

(d) 56 cm

Q281.

The sides of a triangle are in the ratio . If the perimeter
of the triangle is 52 cm, the length of the smallest side is :
(a) 24 cm

(b) 10 cm

(c)12 cm

(d) 9 cm

Q282.

If the diagonal of two squares are in the ratio of 2: 5,
Their area will be in the ratio of

(@) V2:v5

(b) 2:5

(c)4:25
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(d)4:5
Q283.
The ratio of base of two triangles is x:y and that of their
areas is a: b, then the ratio of their corresponding
altitudes will be :

(aJa/x:b/y

(b)ax:by

(c) ay : bx

(d)x/a:b/y

Q284.

The area of a field in the shape of a trapezium measures
1440m?2. The perpendicular distance between its parallel
sides is 24m. If the ratio of the parallel sides is 5 : 3, the
length of the longer parallel side is :

(2) 75 m

(h)45m

(c)120m

(d) 60 m

Q285.

If the ratio of areas of two squares is 225 : 256, then the
ratio of their perimeter is :

(a) 225:256

(b) 256: 225

(c) 15: 16

(d) 16: 15

Q286.

The area of a triangle is 216 cm? and its sides are in the
ratio 3 : 4 : 5. The perimeter of the triangle is :

(a) 6 cm

(b) 12 cm

(c) 36 cm

(d) 72 cm

Q287.

A circular wire of radius 42 cm is&e rmof a
rectangle whose sides are in the rati The
smaller side of the rectangle is ( Take piey= 22/7)

(a) 60 cm

(b)30 em *

(c) 25 cm
(d) 36 cm
Q288.

he inner perimeter of a
: the path is 5 meters wide the
ner circle is:

(b) 55m

(c)220m

(d) 230 m

Q289.

The ratio of the area of a square to that of the square
drawn on its diagonal is:

(a)1:1

(b)1:2

(c)1:3

(d)1:4
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Q290.
A square and an equilateral triangle are drawn on the
same base. The ratio of their area is

(a) 2:1

h1:1

(V304

(d)4:+/3

Q291.

If the area of a circle and a square are equal, then the
ratio of their perimeter is
(@)1:1

(b)2:m

(c)m:2

(d)Vm:2

Q292.

The area of two equilateral tria
36. Their altitudes will be i

(a) 36:25
(b) 25: 36
(c)5:6 ¢
(d) V5:v6

Q293.

the ratio 25 :

e perimeter of a rectangle are in the
n its length and breadth will be in the

(c)5:4

d) 5:3
Q294.

Through each vertex of a triangle, a line parallel to the
opposite side is drawn. the ratio of the perimeter the
new triangle, thus formed, with that of the original
triangle is
(a)3:2
(b)1:2
(c)2:1
(d)2:3
Q295.

The ratio of the number giving the measure of the
circumference and the area of a circle of radius 3 cm is:
(a)1:3

(b)2:3

()2:9

(d)3:2

Q296.

The height of an equilateral triangle is 4v3 cm. the ratio
of the area of its circumcircle to that of its incircle is:
(a)2:1

(b)4:1

(c)4:3

(d) 3:2

Q297.
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The radius of circle A is twice that of circle B and the
radius of circle B is twice of that of circle C. there area
will be in the ratio:

(a) 16:4:1

(b) 4:2:1

(c) 1:2:4

(d) 1:4:16

Q298.

A circle and a square have equal areas, the ratio of a side
of the square and the radius of the circle is:

(a) 1: Vn

(b)Wm:1

() 1:vVw

(d) m:1

Q299.

The sides of a triangle are in the ratio 1/3 : %4 : 1/5 and
its perimeter is 94cm. the length of the smallest side of
the triangle is:

(a) 18 cm

(b) 22,5 cm

(c) 24 cm

(d) 27m

Q300.

The sides of an quadrilateral are in the ratio 3:4:5: 6
and its perimeter is 72cm. the length of its greatest side
(in cm) is:

(a) 24

(b) 27

(c) 30
(d) 36
Q301.
The ratio of the radii of two wheels is 3 : 4. Th:@

their circumference is:
(a)4:3

(b)3:4

()2:2

(d)3:2

Q302,

The sides of a triangle
perimeter of the trian
triangle is:

(a) 2

(b) 36

(c) V42

(d) 3

Q303.

The ratio of the areas of the circumference circle and the
incircle of an equilateral triangle is:

(a)2:1

(b)4:1

(c)8:1

(d)3:2

Q304.

¢

*

2:3:4,The
. the area (in cm?) of the
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Ifin a triangle ABC, the medians CD and BE intersect
each other at O, then the ratio of the areas of triangle
0DE and triangle OBC is:

(a)1:4

(h6:1

(c) 1#12

(d)12:1

Q305.

The ratio of the area of two isosceles triangles having the
same vertical angle (i.e. angle between equal sides) is 1 :
4. The ratio of their heights is:

(a)1:4

(b)2:5

(c)1:2

(d)3:4

Q306.

The ratio of length of each si the third side
of an isosceles triangle is 3¢ . if th®area is 8V/5 units2the
third side is
(a)3 units
(b)2+/5 units
(€)8V2uni

¢

s of a triangle is 3:4:5. If area of the
2 square unit then the length of the smallest

a 3 unit
(b)5v3units
(c)6V3 units
(d)3V3 units
Q308.
The ratio of sides of a triangle is 3:4:5 and area of the
triangle is 72 squares unit.then the area of an equilateral
triangle whose perimeter is same as that of the pervious
triangle is
(a]32\/3 5q. units
(b)48V3 sq. units
()96 sq, units
(d)60V/3 sq. units
Q3009.
The parallel sides of a trapezium are in a ratio 2:3 and
their shortest distance is 12 cm. if the area of the
trapezium is 480 sq. cm. the longer of the parallel sides
is of length ;
(a) 56 cm
(b) 36 cm
() 42 cm
(d) 48 cm
Q310.
An equilateral triangle is drawn on diagonal of a square.
the ratio of the area of the triangle to that of the square
is
(a)V3:2
(b)1:v/3
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(€)2:V3

(d)4:V/3

Q311.

Two triangle ABC and DEF are similar to each other in
which AB =10cm, DE = 8cm.then the ratio of the are of
triangle ABC and DEF is

(a)4:5

(b) 25: 16

(c) 64:125

(d)4:7

Q312.

The ratio between the area of two circles is 4 : 7. What
will be the ratio of their radii?

(a) 2: V7

(b)4:7

(c) 16: 49

(d) 4: V7

Q313.

The area of a circle is proportional to the square of its
radius. A small circle of radius 3 ¢cm is drawn within a
larger circle of radius 5 cm. Find the ratio of the area of
the annualar zone to the area of the larger circle (Area of
the annular zone is the difference between the area of
the larger circle and that of the smaller circle )
(a)9:16

(b) 9:25

(c) 16:25

(d) 16: 27,

Q314,

The diameter of two circles are the side of a square

the diagonal of the square. The ratio of the area e
smaller circle and larger circle is
(a)1:2

(b)1:4

(V23 ¢

(d)1:v2

Q315.

The ratio of the area of an i al t&m and that
of its circumcircle is

(2)2v3:2m
(b)4:m
(©)3V3:4m
(d)7vV2:2n

of arectangle and a square are equal
and the ra f two adjacent sides of the rectangleis 1 :
2 then the ratio of area of the rectangle and that of the
square is

(a)1:1

(b)1:2

(c)2:3

(d)8:9

Q317.

The perimeter of a rectangle and an equilateral triangle
are same, Also, one of the sides of the rectangle is equal
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to the side of the triangle, The ratio of the area of the
rectangle and the triangle is

(a) V3:1

(b) 1:V3

(c)2: V3

(d) 4:V3

Q318.

The radius of a circle is a side of a square. The ratio of the
area of the circle and the square is

(a)1l:m

(b)m:1

(m:2

(d2:m

Q3109.

ABC is an isosceles right angled tri
the sides AC and AB, two equilate
ABE have been constructe
and AACD is

(a)1:3

(b)2:3

(c)1:2 ¢
(d) 1: V2

B 90°, On
sles ACD and

ABC'and DEF are similar to each other in
m, DE=8 cm. Then the ratio of the area of
C and DEF is

h)i25: 16
(c) 64:125
(d)4:7
Q321.
ABC is aright angled triangle, B being the right angle.
Mid=points of BC and AC are respectively B' and A'. The
ratio of the area of the quadrilateral AA'BB' to the area of
the triangle ABC is
(@)1:2
(b)2:3
(c)3:4
(d) None of the above
Q322,

The sides of a triangle are in the ratio 1/4: 1/6:1/8 and
its perimeter is 91 cm. The difference of the length of
longest side and that of shortest side is

(a) 19 cm

(b) 20 cm

(c) 28 cm

(d) 21 cm

Q323.

If the arcs of unit length in two circles subtend angles of
60° and 75° at their centers, the ratio of their radii is
(a)3:4

(b)4:5

(c)5:4

(d)3:5

Q324.
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ABCD is a parallelogram in which diagonals AC and BD
intersect at 0. If E,F,G and H are the mid point of
AO0,DO,CO and BO respectively, then the ratio of the
perimeter of the quadrilateral EFGH to the perimeter of
parallelogram ABCD is

(a)1:4

(b)2:3

(c)1:2

(d)1:3

Q325.

If the circumference of a circle increases from 4w to 8m,
what change occurs in its area ?

(a)it doubles

(b)it triples

(c) it quadruples

(d) it is halved

Q326.

If the length of a rectangle is increased by 25% and the
width is decreased by 20%, then the area of the
rectangle:

(a)Increased by 5 %

(b)decrease by 5%

(c)remains unchanged

(d) Increased by 10 %

Q327.

If the circumference and area of a circle are numerically
equal, then the diameter is equal to:
(a) area of circle

(b)m /2

()2

(d)4

Q328.

If D and E are the midpoints of the si
respectively of the triangle ABC iWe
the shaded region of the triangle is t
whole triangular region?

A

AB and
iven here,
cent of the

*

B C

(2)50%
(b)25%
(©)75%
(d)60%
Q329.
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The length of a rectangle is decreased by 10% and its
breadth is increased by 10%. By what percent is its area
changed?

(a)0%

(b)1%

(c)5%

(d)100%

Q330.

The percentage increase in the area of a rectangle. If each
of its sides is increased by 20% is:

(a)40%

(b)42%

(c)44%

(d)46%

Q331.

If the circumference of a circle is
area will be reduced by?
(a)12.5%
(b)25%
(€)50%
(d)75%
Q332.

by 50%, the

@

¢

re is increased by 25%, then its area

increased by:

Q&f the radius of a circle is increased by 50%, its area is
(a)125%

(b)100%

(c)75%

(d)50%

Q334.

If the length of a rectangle is increased by 20% and its
breadth is decreased by 20% then its area

(a) Increased by 4 %(

(b) decrease by 4%(

(¢) decrease by 1%(

(d) none of these

Q335.

If each side of a rectangle is increased by 50%, its area
will be increased by

(a)50%

(b)125%

(c)100%

(d)250%

Q336.

If the altitude of a triangle is increased by 10% while its
area remains same, its corresponding base will have to
be decreased by

(a)10%

(b)9%
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(c)100/11%

(d)100/9%

Q337.

If the circumference of a circle is increased by 50%, then
the area will be increased by

(2)50%

(b)75%

(c)100%

(d)125%

Q338.

The length and breadth of rectangle are increased by
129% and 15% respectively. Its area will be increased by
(a)136/5%

(b)144/5%

(€)27%

(d)28%

Q339.

If the sides of an equilateral triangle are increased by
20%, 30% and 50% respectively to form a new triangle
the increase in the perimeter of equilateral triangle is
(a)25%

(b)100/3%

(c)75%

(d)100%

Q340.

Each side of a rectangular field is diminished by 40%. By

how much percent is the area of the field diminished?
(2)32%

The length of rectangle is increased hy 60%g. By
percent would the breadth to be aintain
the same area?
(a)75/2%
(b)60%

(0)75%
(d)120%

Q342

The length and b
20% and 25%
the resulting recta
(a)60%
(b)5
(€)40%
(d)30%

Q343.

If each side of a square is increased by 10%, its area will
be increased by

(2)10%

(b)21%

(c)44%

(d)100%

Q344.

(b)64%
(€)25%
(d)16%
Q341. Q

rectangle are increased by
. The increased in the area of
ill be:
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If the length of a rectangular plot of land is increased by
5% and the breadth is decreased by 10% how much will
its area increase or decrease

(a)6.5% increase

(b)5.5 % decrease

(c)5.5 increase

(d) 6.5% decrease

Q345.

The radius of circle is increased by 1%. How much does
the area of the circle increase?

(a)1%
(b)1.1%
(c)2%
(d)2.01%
Q346.

area of the floor (in square
(a)280
(b)325 *
(c)300

(b)3%

(€)2.9%

(d)2.7%

Q348.

The length and breadth of a square are increased by 30%
and 20% respectively. The area of the rectangle so
formed exceeds the area of the square by:

(a)46%

(b)66%

(c)42%

(d)56%

Q349.

If side of a square is increased by 40%, the percentage
increase in its surface area is:

(a)40%

(b)60%

(c)80%

(d)96%

Q350.

If the diameter of a circle is increased by 8%, then its
area is increased by:

(a)16.64%

(b)6.64%

(€)16%

(d)16.45%

Q351.
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One side of a rectangle is increased by 30%. To maintain
the same area, the other side will be have to be
decreased by:

(2)300/13%

(b)1000/13%

(€)30%

(d)15%

Q352.

The length and breadth of a rectangle are doubled.
Percentage increase in area is:

(a)150%

(b)200%

(€)300%

(d)400%

Q353.

The length of a rectangle is increased by 10% and
breadth decreased by 10%. The area of the new
rectangle:

(a)neither increased nor decreased

(b)increased by 1%

(c)increased by 2%

(d)decreased by 1%

Q354.

If diagonal of a cube is V12 cm, the its volume in cm?3 is:
(a)8

(b)12

()24

(d)3v2

Q355.

How many cubes, each of edge 3cm, can be cut fro

cube of edge 15cm?
(a)25
(b)27

(c)125 TS
(d)144

Q356.

What is the volume of a cube i bic cm
measures 4v3 cm?

(a)16
(b)27
(c)64
(d)8
Q357.
A cuboid
1/3
of length
(a)72dm

(b)18dm

(c)6dm

(d)2dm

Q358.

The volume of cuboid is twice the volume of a cube. If the
dimensions of the cuboid are 9 cm, 8 cm, 6 cm the total
surface area of the cube is:

(a)72 cm?

se diagonal

tank has 216 liters of water. Its depth is
d breadth is ¥z of 1/3 of the difference
readth. The length of the tank is:
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K(ABGZ.
cistern of capacity 8000 liters measures externally
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(b)216 cm?

(c)432 cm?

(d)108 cm?

Q359.

The length, breadth and height of a room is 5m, 4 m and
3m respectively. Find the length of the largest bamboo
that can be keptinside the room.

(a)5m

(b) 60 m

(c)7m

(d)5v2m

Q360.

A wooden box measures 20 cm by 12 y1
Thickness of wood is 1 cm. volume oodhto make the
box ( in cube cm) is

(a) 960

(b) 519

(c)2400

(d) 1120

Q361. *

A cuboidal codX 9 cm x 12 cm is cut up into
exact nu qual cube, The least possible number

3.3m by 2.6 m by 1.1 m and its walls are 5 cm thick. The
thickness of the bottom is:

(a)1m

(b)10cm

(c)1cm

(d)90cm

Q363.

The area of three adjacent faces of a cuboid are ¢, y, z
square units respectively If the volume of the cuboid by
v, cube units, then the correct relation between x,y, z is
(a) v =xyz

(b) v3 =xyz

() v2=x3y? 23

(d) v3 =x2y2z2

Q364,

The largest sphere is carved out of side 7 cm.The volume
of the sphere (in cm?) will be

(a)718.66

(b)543.72

(c)481.34

(d)179.67

Q365.

The length (in meters) of the longest rod that can be put
in aroom of (in m?) is dimensions 10mx 10mx 5m
is
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(a)15v3

(b)15

(c)10v2

(d)5v3

Q366.

A rectangular sheet of metal is 40 c¢cm by 15 cm. equal
squares of side 4cm are cut off at the corners and the
remainder is folded up to form an open rectangular box.
The volume of the box is

(a)896cm3

(b)986 m?

(c)600 m?

(d)916 m?

Q367.

The areas of three consecutive faces of a cuboid are 12
cm?, then the volume (in cm?) of the cuboid is

(a) 3600

(b) 100

(c) 80

(d) 24V3

Q368.

The length of the longest rod that can be placed in a
room which is 12 m long. 9 m broad and 8 m high is:
(a) 27m

(b) 19m

(c)17m

(d) 13m

Q369.

The floor of a room is of size 4m x 3m and its height is
3m, the walls and ceiling of the room require paint

The area to be painted is: O

(a) 66m?
(b) 54m?

d the to urface area
nd\94 cm? réspectively,

(c) 42 m? ¢
(d) 33m?
hat can be placed

Q370.

If the sum of three dimensions
of a rectangular box are 12
then the maximum len
inside the box is:
(2) 5V2 em
(b)5cm
(c)6cm
(d) 2v/5
Q37

The area o four walls of aroom is 660m? and its
length is twice its breadth, if the height of the room is 11
m, then area of its floor in m. sg. is:

(a) 120

(b) 150

(c) 200

(d)330

Q372.

If the length of the diagonal of a cube is 8v/3 cm, then its
surface area is:

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

(a) 192cm?

(b) 512cm?

(c) 768cm?

(d)384cm?

Q373.

The maximum length of a pencil that can be keptina
rectangular box of dimensions 8 cm x 6¢cm x 2cm

(a) 2v13em

(b) 2V14cm

(€) 2v26cm

(d) 10v2em

Q374.

The volume of cubical box is 3.375 cubicfmeters. Th
length of edge of the box is:

(a)75m

(b) 1.5m

(c) 1.125m
(d)2.5m

Q375.

Two cubes of sides
rectangular par: @
whole surf; ¢
(a)432

(b) 3

()3

Cl

0o
of rains has fallen on a square km of land. Assuming

that 50% of the raindrops could have been collected and

contained in a pool having a 100m x 10m, by what level

would the water level in the pool have increased?

(a)1km

(b) 10m

(c)10cm

(d)1m

Q377.

A parallelepiped whose side are in ratio 2 : 4: 8 have the

same volume as a cube, The ratio of their surface area is:

(a)7:5

(b) 4:3

(c)8:5

(d) 7:6

Q378.

If two adjacent sides of a rectangular parallelepiped are

1cm and 2cm and the total surface area of the

parallelepiped is 22 square cm, then the diagonal of the

parallelepiped is:

(a)v10

(b) 2v3

(c) V14

(d) 4cm

Q379.

If the sum of the length, breadth and height of a

rectangular parallelepiped is 24cm and the length of its

diagonal is 15cm, then its total surface area is:

n each are kept side to form a
. The area (in sq.cm) of the
eghangular parallelepiped is:
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(a) 256cm?

(b) 265¢cm?

(c) 315cm?

(d) 351cm?

Q380.

If the total surface area of a cube is 96 cm square, its
volume is:

(a) 56cm?

(b) 16cm3

(c) 64cm3

(d) 36cm?

Q381.

The length of the largest possible road that can be placed
in a cubical room is 35v3m. the surface area of the
largest possible sphere that fit within the cubical
room(assuming = 22/7) in sq. m is:

(2)3500

(b) 3850

(c) 2450

(d)4250

Q382.

The volume of air in a room is 204 m?. The height of the
room is 6m. what is the floor area of the room?

(a) 32m?

(b) 46m?

(c) 44m?

(d)34m?

Q383.

A square of side 3 cm is cut off from each corner of a
rectangular sheet of length 24cm and breadth 18¢c d
the remaining sheet is folded to form an open
rectangular box. The surface area of the box is:
(a)468m?

(b) 396m?

(c) 615m?

(d) 423m?

Q384.

Three solid iron cubes of e
melted together to ma n
material is lost due to imp
whole surface of

(a) 294

(b) 343

(c) 125

(d) 2

Q385.

Area of the floor of a cubical room is 48sq.m. the length
of the longest rod that can be kept in that room is:
(a)9m

(b) 12m

(c) 18m

(d) 6m

Q386.

Three cubes of sides 6¢m, 8cm, 1cm are melted to form a
new cube. The surface area of the new cube is:

5 5&1, afid 6 cm are

. 62cm3of the melted
anding. The area of the
formed cube is:
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(a) 486cm?

(b) 496cm?

(c) 256cm?

(d)658cm?

Q387.

Some bricks are arranged in an area measuring 20m?. if
the length, breadth and height of each brick is 25cm,
12.5c¢m and 8cm respectively, then the number of bricks
are suppose there is no gap in between two bricks:

(a) 6000

(b) 8000

(c) 4000

(d)10000

Q388.

The whole surface of a cube is 15 then the
volume of the cube is:

(a) 125cm?

(b) 216cm?

(c) 343cm?

(d) 512cm? ¢

d breadth of a rectangular
and its height is 6¢cm. if the total

Q390,

If the sum of the dimensions of a rectangular
parallelepiped is 24cm and the length of the diagonal is
15cm, then the total surface area of it is:

(a) 420cm?

(b) 275cm?

(c) 351cm?

(d) 378cm?

Q391.

The length, breadth and height of a cuboid are in the
ratio 3 : 4 : 6 and its volume is 576cm?, The whole
surface area of the cuboid is:

(a)216cm?

(b) 324cm?

(c) 432cm?

(d) 460cm?

Q392.

If the number of vertices, edges and faces of a
rectangular parallelepiped are denoted by v, e and f
respectively the value of (v- e + f) is:

(a) 4

(b)1

(c)0

(d) 2

Q393.
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Alow land, 48m long and 31.5m broad is raised to
6.5dm. for this, earth is removed from a cuboidal hole,
27m long and 18.2m broad, dug by the side of the land.
The depth of the hole will be:

(a) 3m

(b) 2m

(c) 22m

(d) 2.5m

Q394.

A cuboidal shaped water tank 2.1m long and 1.5m broad
is half filled with water. If 630 litres more water is
poured into tank, the water level will rise.

(a)2cm

(b)0.15cm

(c) 0.20m

(d)0.18cm

Q395.

A solid cuboid of dimensions 8 cmx 4cmx 2cm is melted
and cast into identical cubes of edge 2cm. number of
such identical cubes is.

(a)16

(b)4

()10

(d)8

Q396.

A metallic hemisphere is melted and recast in the shape
of cone with the same base radius (R) as that of the
hemisphere, If H is the height of the cone, then:

(a)H=2R
(b)H=2/3R
(c) H=V3R
(d)B=3R

Q397.

If the radius of a sphere is increas@ b its surface
area increased by 352cm? the radius@®f s e before
change is:

(a)3cm

(b) 4cm ¢

(c)5cm

(d)6cm

] is 60cm and the diameter of
t of painting it from outside at
per sg. m is:

(c)Rs. 35.20 approx

(d)Rs. 23.94 approx

Q399.

A solid metallic cone of height 10cm, radius of base 20cm
is melted to make spherical balls each of 4 cm diameter,
how many such balls can be made?

(a)25

(b)75

(c)50
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(d)125

Q400.

A cylindrical tank of diameter 35 cm is full of water. If 11
litres of water is drawn off, the water level in the tank
will drop by:

(a)21/2cm

(b)9/7cm

(c)14cm

(d)80/7 cm

Q401.

The volume of a right circular cylinder whose
40cm, and circumference of its base is 66 ¢
(a)55440cm?
(b)3465cm?
(c)7720cm?
(d)13860cm?
Q402.

The circumference of the base of ajgircular cylinder is 61
cm, the height of the cylinde
the base. How m
(a)54 m cc

al to the diameter of
itres o@vater can it hold?

of aright circular cylinder is equal to the

of that right circular cone whose heightis 108cm
A ameter of base is 30cm, if the height of the cylinder
is 9cm, the diameter of its base is:

(a)30cm

(b)60cm

(c)50cm

(d)40cm

Q404.

Three solid metallic spheres of diameter 6cm, 8 cm, and
10cm are melted and recast into a new solid sphere. The
diameter of the new sphere is:

(a)4cm

(b)6cm

(c)8cm

(d)12cm

Q405.

Three slid metallic balls of radii 3cm, 4cm, 5cm, are
melted and molded into a single solid ball. The radius of
the new balls is:

(a)2cm

(b)3cm

(c)4cm

(d)6cm

Q406.

Three solid spheres of a metal whose radii are 1cm, 6cm
and 8 cm are melted to form another solid sphere. The
radius of this new sphere is:

(a)10.5cm

(b)9.5cm
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(c)10cm

(d)9cm

Q407.

The slant height of a conical mountain is 2.5 km and the
area of its base is 1.54 km?. Taking t = 22/7, the height
of the mountain is:

(a)2.2km

(b)2.4km

(c)3km

(d)3.11km

Q408.

The base of a conical a tent is 19.2 metres in diameter
and the height is 2.8 metrres. the area of the canvas
required to put up such a tent ( in square meters) (taking
m=22/7) is nearly:

(2)3017.1

(b)3170

(c)301.7

(d)30.17

Q409.

A hollow cylindrical tube 20cm long. Is made of iron and
its external and internal diameters are 8cm and 6cm
respectively. The volume of iron used in making the tube
is(m=22/7)

(a)1760cu.cm

(b)880 cu.cm

(c)440 cu.cm

(d)220 cu.cm

Q410.

A sphere of radius 2cm is put into water containe
cylinder of base radius 4cm. if the sphere is co 1
immersed in the water, the water level in the cglinder

rise by:
(2)1/3cm ¢
(b)1/2cm
(c)2/3cm
L 4
a

(d)2cm

Q411,

A solid metallic spheri
and recast into a cone
the height of the
(a)6em
(b)2cm
(c)4cm
(d)3
Q412.
The volume of a right circular cone is 1232c¢m? and its
vertical height is 24cm. its curved surface area is:
(a)154cm?

(b)550cm?

(c)604cm?

(d)704cm?

Q413.

The volume of a sphere is 88/21 x (14)3 cm? the curved
surface of the sphere is assuming w=22/7.

eter 6¢cm is melted

eter of the base as 12cm,
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(a)2424cm?

(b)2446cm?

(c)2484cm?

(d)2464cm?

Q414.

The surface area of a sphere is 64m cm? Its diameter is
equal to:

(a) 16 cm

(b) 8 cm

(c) 4 cm

(d) 2 cm

Q415.

The diameter of the base of a cylindrical
and the height is 24 dm. it is a full of ke
many tins each of size 25 cm x 2

with kerosene from the drum?

(a) 1200

(b) 1020

(c) 600

(d) 120

Q416. ¢

i long and its exterior diameter
ess of the pipe is 1cm and iron

he volume of a right circular cylinder, 14 cm in height,
is equal to that of a cube whose edge is 11cm, the radius
of the base of the cylinder is:
(a) 5.2 cm
(b) 5.5 cm
(c)11.0 em
(d) 22.0 cm
Q418.
If the volume of a right circular cylinder is 9wh m3, where
h is its height (in meters) then the diameter of the base
of the cylinder is equal to:
(a)3m
(b)6m
(c)9m
(d)12m
Q4109.
Each of the measure of the radius of base of a cone and
that of a sphere is 8cm. also, the volume of these two
solids are equal. The slant height of the cone is:
(a)8v17cm
(b) 4V17cm
(c) 34V2em
(d)3cm
Q420.
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A well 20m in diameter is dug 14 m deep and the earth
taken out is spread all around it to a width of 5m to form
an embankment. The height of the embankment is:

(a) 10 m

(b)11lm

(c)11.2m

(d)11.5m

Q421.
The diameter of the iron ball used for the shot put game
is 14cm. It is melted and then a solid cylinder of height
7/3 cm is made. What will be the diameter of the base of
the cylinder?

(a)14cm

(b)28cm

(c)14/3cm

(d)28/3cm

Q422,
The sum of radii of two spheres is 10cm and the sum of
their volume is 880cm?, What will be the product of their
radii?

(a)21

(b)79/3

(c)100/3

(d)70

Q423
A rectangular paper sheet of dimensions 22cm x 12cm is
folder in the form of a cylinder along its length. What will
be the volume of this cylinder?

(a)460cm?

(b)462cm?

(c)624cm?
(d)400cm?
Q424.

A copper rod of 1cm diameter and‘c is drawn

into a wire of uniform diameter and@8m . The

radius (in cm) of the wire is:

(a)1/15

(b)1/30 ¢

(c)2/15

(d)15

Q425

g2 are made by melting a solid
ter and 2cm height. The diameter

()3 cm

(d) V3 cm

Q426.

When the circumference of a toy balloon is increased

from 20cm to 25cm its radius (in cm) is increased by:
(a)5

(b)5/m

(c)5/2m

(dJm/5
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Q427.
If the volume and surface area of a sphere are
numerically the same, then its radius is:

(a) 1 unit

(b) 2 units

(c) 3 units

(d) 4 units

Q428.

In a right circular cone, the radius of its base is 7cm and
its height 24cm. a cross section is made through the
midpoint of the height parallel to the base.

(a)169 cm?

(b)154cm?

(€)1078 cm?

(d)800 cm?3

Q429.

Some solid metallic right ci
of the base 3cm and heigh

ach with radius
melted to form a
ber of right circular

solid sphere of radius 6¢cm,
cones is:

(a) 12 *
(b) 24

(c) 48

(d)6

ciréular cylinder of height 16 cm is covered by a
lar tin foil of size 16 cm x 22 cm, The volume of

(a) 352 cm?

(b) 308 cm3

(c) 616 cm3

(d) 176 cm?

Q431.

If the area of the base of a core is 770 cm? and the area of
the its curved surface is 814 cmZ. then find its volume.
(a) 213v5 cm?

(b) 392v/5 cm?

() 550 V5 cm?

(d) 616v5 cm?

Q432.

The size of a rectangular piece of paper is 100 cm x 44
cm. A cylinder is formed by rolling the paper along its
breadth. The volume of the cylinder is (use pie =22/7)
(a) 4400 cm?3

(b) 15400 cm?

(c) 35000 cm?

(d) 144 cm3

Q433.

The radius of the base and height of a metallic solid
cylinder are r cm and 6 cm respectively, It is melted and
recast into a solid cone of the same radius of base, The
height of the cone is :

(a) 54 cm

(b) 27 cm

(¢) 18 cm
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(d) 9 cm
Q434.
The total surface area of a metallic hemisphere is 1848
cm?, The hemisphere is melted to form a solid right
circular cone. If the radius of the base of the cone is the
same as the radius of the hemisphere its height is

(a) 42 cm

(b) 26 cm

(c) 28 cm

(d) 30 cm

Q435.

A right circular cylinder is formed by rolling a
rectangular paper 12 cm long and 3 cm wide along its
length. The radius of the base of the cylinder will be
(a)3/2m

(h)6/ m

()9/2

(d)2n

Q436.

What part of a ditch, 48 metres long. 16.5 metres broad
and 4 meters deep can be filled by the earth got by
digging a cylindrical tunnel of diameter 4 meters and
length 56 metres?

(a)1/9

(b)2/9

()7/9

(d)8/9

Q437.

The volume of the metal of cylindrical pipe is 748 gm?3,
The length of the pipe is 14 cm and its external ra s
9 cm. its thickness is:

(a) 1 cm

(b) 5.2 cm

(¢) 23 cm ¢

(d) 3.7 cm

Q438.

Two iron sphere each of diame
the water contained in a

6 cm ar mersed in
the level of the water i ill be raised by:
(a)1em
(b)2cm
()3 cm
(d) 6 cm
Q439.
The the'tone is 30cm. a small cone is cut off at
the top by a¥plane parallel to its base. If its volume is
1/27 of the volume of the cone. At what height above the
base, is the section made?

(a)6cm

(b)8cm

(c)10cm

(d)20cm

Q440.

The total surface area of a solid hemisphere is 1081 cm?,
The volume of the hemisphere is:
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ves?el adius 6 cm.

www.jkchrome.com

www.jkchrome.com

()72 mcm?

(b)144 T cm?

(c)108vem?3

(d)54v6cm?

Q441.

A solid metallic sphere of radius 3 dm is melted to form a
circular sheet 1 mm thickness. The diameter of the sheet
so formed is:
(a)26 m
(b)24m
(c)12m
(d)6om
Q442.
Water flows through a cylindrical pipe, ius is
7cm, at 5 meter per second. The ti
empty water tank with height 1.5
the base ( 3x5) square met
(a)6 minutes

(b)5 minutes

(¢)10 minutes ¢
(d)9 minutes

a§ and area of

h?tan? o

sec o tan? o
(d) 1/3 msecatan? «
Q444,
The height and the radius of the base of a right circular
cone are 12 cm and 6 cm respectively. The radius of the
circular cross section of the cone cut by a plane parallel
to base at a distance of 3cm from the base is:
(a) 4cm
(b) 5.5 cm
(c)4.5cm
(d)3.5 cm
Q445,
IfS; and Sz be the surface areas of a sphere and the
curved surface area of the circumscribed cylinder
respectively, then S; is equal to
(a)3/4S:2
(b)1/25;
(c)2/3 Sz
(d)S2
Q446.
The volume of a right circular cylinder and that of a
sphere are equal and their radii are also equal. If the
eight of the cylinder be h and the diameter of the sphere
d. then which of the following relation is correct?
(a)h=d
(b) 2h=d
() 2h=3d
(d) 3h=2d
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Q447.
Water is being pumped out through a circular pipe
whose internal diameter is 7cm. if the flow of water is
12cm. if the flow of water is 12cm per second, how many
litres of water is being pumped out in one hour?

(a) 1663.2

(b) 1500

(c) 1747.6

(d) 2000

Q448.

The lateral surface area of a cylinder is 1056cm? and its
height is 16cm. find its volume.

(a) 4545 cm?

(b) 4455 cm3

(c) 5445 cm3

(d) 5544 cm?

Q449.

A solid metallic cone is melted and recast into a solid
cylinder of the same base as that of the cone. If the height
of the cylinder is 7cm, the height of the cone was

(a) 20 cm

(b) 21 cm

(c) 28 cm

(d) 24 cm

Q450.

A copper wire of length 26m and diameter 2mm is
melted to form a sphere. The radius of the sphere (in cm)
is:

(a) 2,5
(b) 3
(c) 3.5
(d) 4
Q451.
The diameter of the base of a righ@r is 4cm
and its height 2v/3 cm. the slant heig cone is:
(a)5cm
(b)4cm
(c)2v3em ¢
(d)3cm

Q452.

The rain water fr

22m x 20m drains into a
iameter of 2Zm and height
t full, then the rainfall (in cm ) is:

From a solid cylinder of height 10cm and radius of the
base 6cm, a cone of same height and same base is
removed. The volume of the remaining solid is:
(2)240 mcu.cm

(b)5280 1 cu. cm

(c)620 m cu, cm

(d)360 T cu. cm
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Q454.

Two solid right cones of equal height and of radii r1 and
r2 are melted and made to form a solid sphere of radius
R. then the height of the cone is:

(a)4RZ/ ri?ry?

(b)‘l-R/ ryrz

(c) 4R3/ ri?ry?

(d) R%/ ry%rz?

Q455.

The ratio of height and the diameter of a right circular
coneis3: 2 and its volume is 1078cc, then its height is:
()7

(b)14

()21

(d)28

Q456.

From right circular cylinde

21 cm a right circular cone @f the
removed, If the volume of th
4400cm? then th
(a) 15 cm

(b) 18 cm

and height
e base radius
Ining portion is
t ofgle removed cone is:

(b)12

(c)24

(d)48

Q458.

A solid cylinder has total surface area of 462sq.cm. its
curved surface area is one third of the total surface area.
Then the radius of the cylinder is:

(a)7cm

(b)3.5cm

(c)9cm

(d)11cm

Q459,

The diameter of a cylinder is 7em and its heightis 16cm.
using the value of m=22/7 the lateral surface area of the
cylinder is::

(a)352cm?

(b)350cm?

(c)355cm?

(d)348cm?

Q460.

The height of a solid right circular cylinder is 6 metres
and three times the sum of the area of its two end faces is
twice the area of its curved surface, the radius of its
base( in meters) is:

(a) 4

(b)2
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(c)8

(d) 10

Q461.

A semi- circular sheet of metal of diameter 28 cm is bent
into an open conical cup. The depth of the cup is
approximately

(a) 11 cm

(b) 12 cm

(¢)13 cm

(d) 14 cm

Q462.

A right angled sector of radius r cm is rolled up into a
cone in such a way that the two binding radii are joined
together. Then the curved surface area of the cone is:
(a)mr? cm?

(b) mr? /4 cm?

(c)mr? /2 em?

(d) 2 r? cm?

Q463.

The radius of the base of a conical tent is 16 meter. if
2992/7 sq. meter canvas is required to construct the
tent, then the slant height of tent is (take pie =22/7)
(a) 17 metres

(b) 15 metres

(c) 19 metres

(d) 8.5 metres

Q464.

A circus tent is cylindrical up to a height of 3 m and
conical above it, If its diameter is 105 m and the sl@nt
height of the conical part is 63 m, then the total area

the canvas required to make the tent is (take pig=22/
(a) 11385 m?
(b) 10395 m?

(c) 9900 m?2 L 2
(d) 990 m?

Q465.

A toy is in the form of a cone m
The radius of the hemisphe

ted @a misphere,
at of the cone is 3 cm
hetotal surface area of

A cylindrical rod of iron whose height is eight times its
radius is melted and cast into spherical balls each of half
the radius of the cylinder. The number of such spherical
balls is

(a)12

(b) 16

(c)24

(d) 48

Q467.
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A cylinder has 'r' as the radius of the base and 'h' as the
height. The radius of base 'of another cylinder, having
double the volume but the same height as that of the first
cylinder must be equal to

(a)r/V2

(b)2r

(Orv2

(d)var

Q468.

From a solid cylinder whose heightis 12 cm and
diameter 10cm a conical cavity of same heig
diameter of the base is hollowed out. The volim
remaining solid is approximately (pie =
(a) 942.86 cm3
(b) 314.29 cm?
(c) 628.57 cm3
(d) 450.76 cm?
Q469.

The radius of a cylinder is 1 d height is 4 cm, The
number of centi thatanay be added either to the
radius or to the t@\get the same increase in the
volume of

(a)5¢

(b)
()2

nd same

dius of the base of a right circular cone is doubled

(]
&(eeping its height fixed. The volume of the cone will be :

(a) Three times of the previous volume

(b) four times of the previous volume

() V2 times of the previous volume

(d)double of the pervious volume

Q471.

The base of a right circular cone has the same radius a as
that of a sphere, Both the sphere and the cone have the
same volume. Height of the cone is

(a) 3a

(b) 4a

(€)7/4a

(d)7/3a

Q472.

The circumference of the base of a 16 ¢cm high solid cone
is 33 cm What is the volume of the cone in cm?3?
(a)1028

(b) 616

(c)462

(d) 828

Q473.

A solid sphere of 6 cm diameter is melted and recast into
8 salid spheres of equal volume. The radius(in cm) of
each small sphere is

(a) 1.5

(b)3

(c)2
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(d) 2.5

Q474.

In a cylindrical vessel of diameter 24 cm filled up with
sufficient quantity of water, a solid spherical ball of
radius 6 cm is completely immersed. Then the increase
in height of water level is :

() 1.5 cm

(b)2cm

(¢)3cm

(d)4.2 cm

Q475.

A solid wooden toy is in the shape of a right circular cone
mounted on a hemisphere. If the radius of the
hemisphere is 4.2 cm and the total height of the toy is
10.2 cm find the volume of wooden toy (nearly),

(a) 104 cm?

(b) 162 cm?

(c) 421 cm3

(d) 266 cm?

Q476.

If a solid cone of volume 27w cm? is kept inside a hollow
cylinder whose radius and height are that of the cone,
then the volume of water needed to fill the empty space
is

(a)3m cm?

(b) 18 ™ cm3

(c) 541 cm?

(d) 81 ™ cm?

Q477.

A cylindrical can whose base is horizontal and is o
internal radius 3.5 cm contains sufficient water al
when a solid sphere is placed inside, water justcover
the sphere. The sphere fits in the cangxactly. T e
of water in the can before the sph@ i

(a)35/3cm
x

(b)17/3cm
has the same radius 'a’

(c)7/3 cm
(d)14/3 cm

e sphere and the cone have
the come is

Q478,

The base of a right cir
as that of a spher
the same vol
(a) 3a

(b) 4a

Q7

(d) 7/3a
Q479.

The radius and height of a cylinder are in the ratio 5: 7
and its volume is 550 cm?. Calculate its curved surface

area in sq. cm,
(a) 110

(b) 444

(c) 220

(d) 616
Q480.
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The area of the curved surface and the area of the base of
a right circular cylinder is a square cm b by square cm
respectively. The height of the cylinder is

(a)2avmb cm

(b)avb/2vm em

(6)a/2¥mb cm

(d)avm/2Vb

Q481.

The volume of a solid hemisphere is 19404 cm?. Its total
surface area is

(a) 4158 cm?

(b) 2858 cm?

(c) 1738 cm?

(d) 2038 cm?

Q482.
A solid hemisphere is of radius 1 @ curved surface

area in sq.

(a) 1140.85

(b) 1386.00

(c) 760.57

(d) 860.57 ¢
Q483.
The bas and a cylinder have the same radius 6
also the same height 8 cIl. The ratio of the
f the cylinder to that of the cone is

Q484.

A right cylindrical vessel is full with water. How many
right cones having the same diameter and height as that
of the right cylinder will be needed to store that water
(take 22/7)

(a)4

(b)2

()3

(d)6

Q485,

A spherical lead hall of radius 10 cm is melted and small
lead balls of radius 5 mm are made the total number of
possible small lead balls is (take pie =22/7)

(a)8000

(b) 400

(c) 800

(d) 125

Q486.

The number of spherical bullets that can be made out of
solid cube of lead whose edge measures 44 cm each
bullet being of 4 cm diameter is (take pie =22/7)

(a) 2541

(b) 2451

(c) 2514

(d) 2415

Q487.
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The radius of a metallic cylinder is 3 cm and its height is
5 cm. It is melted and molded into small cones, each of
height 1 cm and base radius 1 mm. The number of such
cones formed is

(a) 450

(b) 1350

(c) 8500

(d) 13500

Q488.

A sector is formed by opening out a cone of base radius
8 cm and height 6 cm. Then the radius of the sector is (in
cm)

(a) 4

(b)8

(c) 10

(d)6

Q489.

A solid cone of height 9 cm with diameter of is base 18
cm is cut out from a wooden solid sphere of radius 9cm
the percentage of wood wasted is :

(2)25%

(b) 30%

(c)50%

(d) 75%

Q490.

The perimeter of the base of a right circular cylinder is ‘a’
unit. If the volume of the cylinder is V cubic unit, then the
height of the cylinder is

(a)4a?V/m unit

(b) 4 ma? /V unit

and radius as a sphere of diameter 1

(a) 7 cm

(b) 10 cm.

()9 cm ¢
(d) 8 cm
Q492.

of aright circular cone is 8
is 21 cm, then its volume is :

Q493.

If the volume of two right circular cones are in the ratio 4
: 1 and their diameter are in the ratio 5 : 4, then the ratio
of their height is

(a)25:16

(b) 25: 64

(c)64:25

(d) 16:25

Q494.
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(c) ma? V/4 unit Q
(d) 4 mV/a? unit

Q491.

What is the height of a cylinder th‘ha e volume
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The volume of a conical tent is 1232 cu. m and the area of
its base is 154 sq. m Find the length of the canvas
required to build the tent, if the canvas is 2 m in width.
(Take pie =22/7)

(a) 270 m

(b) 272 m

(c)276m

(d) 275 m

Q495.

If the ratio of the diameters of two right circular cones
of equal height be 3: 4 then the ratio of their me will
be
(a)3:4
(b)9:16
(c)16:9
(d) 27 : 64
Q496.

The surface area of two spheres arg in the ratio 4 : 9.
Their volumes will be in the

(a)2:3 ¢

(b)4:9
(c) 8:27

b) 622,36 cm?

(c) 622.56 cm?

(d) 623.20 cm?
Q498.
A conical flask is full of water. The flask has base radius r
and height h, This water is poured into a cylindrical flask
of base radius m, height of cylindrical flask is

(a)m/2h

(b)h/2 m?

(c)2h/m

(d) r2h/3m?
Q499.
A solid spherical copper ball whose diameter is 14 cm is
melted and converted into a wire having diameter equal
to 14 cm. The length of the Wire is

(a) 27 cm

(b) 16/3 cm

(c) 15 cm

(d)28/3 cm
Q500.
A sphere of diameter 6cm is dropped in a right circular
cylindrical vessel partly filled with water, The diameter
of the cylindrical vessel is 12 em. If the sphere is just
completely submerged in water, then the rise of water
level in the cylindrical vessel is

(a)2cm

(b)1cm
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(c)3cm
(d)4cm
Q501.
A copper sphere of diameter 18 cm is drawn into a wire
of diameter 4 mm The length of the wire in meter is:
(a) 243 m

(b) 243 m

(c) 2430 m

(d) 243 m

Q502,

In A rectangular block of metal has a dimension 21 cm,
77 cm and 24 cm, The block has been melted into a
sphere. The radius of the sphere.is (take pie 22/7)

(a) 21 cm

(b) 7 cm

(c) 14 cm

(d) 28cm

Q503.

The radius of cross-section of a solid cylindrical rod of
iron is 50 cm. the cylinder is melted down and formed
into 6 solid spherical balls of the same radius as that of
the cylinder. The length of the rod (in metres) is

(a)0.08

(b)2

(c)3

(d)4

Q504.

Two right circular cones of equal height of radii of base
3 cm and 4cm melted together and made a solid spher
of radius 5 c¢m, the height of a cone is

(a) 10 cm

(b) 20 cm

(c) 30 cm

(d) 40 cm ¢

Q505.

The radius of the base and the height of@right circular
cone are doubled, The volume ofithe cone be

(a) 8 times of the previous
(b) three times of the

Q507,

The total number of spherical bullets, each of diameter 5
decimeter, that can be made by utilizing the maxim In of
arectangular block of lead with 11 meter length, 10
meter breadth and 5 meter width is (assume pie =3)

(a) equal to 8800
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(b) less than 8800

(c) equal to 8400

(d) greater than 9000
Q508.

If a metallic cone of radius 30 cm and height 45 cm is
melted and recast into metallic spheres of radius 5 cm,
find the number of spheres,

(a) 81

(b) 41

(c) 80

(d) 40

Q509.

A metallic sphere of radius 10.5 cm is m
recast into small cones each of radius 3.

3 cm. The number of cones thus fi
(a) 140

(b) 132

(c) 112

(d) 126

Q510.

A right circular
is 1.6 cm. Itd

c% high and radius of its base
recast into a right circular cone
ase as 1.2 cm. Then the height of the

f surface area and volume of a sphere are S and V
respectively ,then value of S3/V2 is

(a)36 m units

(b)9  units

(c)18m units

(d) 27 1 units
Q512.
Assume that a drop of water is spherical and its diameter
is one tenth of 1 cm, a conical glass has a height equal to
the diameter of its rim, If 32,000 drops of water fill the
glass completely, Then the height of the glass (in cm) is
(a)1

(b)2

()3

(d) 4

Q513.

A tank 40 m long, 30 m broad and 12 m deep is dugin a
field 1000 m long and 30 m wide. By how much will the
level of the field rise if the earth dug out of the tank is
evenly spread over the field?

(a) 2 meter

(b) 1.2 meter

(c) 0.5 meter

(d) 5 meter

Q514.
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A sphere is cut into two hemispheres. One of them is
used as bowl. It takes 8 bowlfuls of this to fill a conical
vessel of height 12 cm and radius 6 cm. The radius of the
sphere (in centimeter)

(a)3

(b)2

(c)4

(d)6

Q515.

The height of a cone is 30 ¢cm, A small cone is cut off at
the top by a plane parallel to the base. if its volumebe
1/27% of the volume of the given cone, at what height
above the base is the section made?

(a) 19 cm

(b) 20 cm

(c)12cm

(d) 15 cm

Q516.

A ball oflead 4 cm in diameter is covered with gold. If the
volume of the gold and lead are equal then the thickness
of gold [given 32 =1.259) is approximately

(a) 5.038 cm

(b) 5.190 cm

(c) 1.038 cm

(d) 0.518 cm

Q517.

A conical cup is filled with ice cream. The ice-cream
forms a hemispherical shape on its open top. The height

of the hemispherical part is 7 cm, the radius of th
hemispherical part equals the height of the cone, T

the volume of the ice cream is

(2)1078 cubic cm O

(b)1708 cubic cm

(¢)7108 cubic cm ¢
(d)7180 cubic cm

Q518.

A hollow sphere of internal anghexternal
and 10 cm respectively is to z&ig ircular
cone of diameter 8 cm, the cone is
(a) 22.5cm
(b) 23.5cm
(c) 24,5 cm
(d) 25.5 cm

eter 6 cm

e of a right circular cone of height 24
cm is fille h water. The water is poured in right
circular cylindrical flask whose radius is 1/3 rd of radius
of the base of the circular cone. Then the height of the
water in the cylindrical flask is

(a) 32 cm

(b) 24 cm

(c) 48 cm

(d) 72 cm

Q520.
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A solid metallic spherical ball of diameter 6 cm is melted
and recast into a cone with diameter of the base as 12
cm. The height of the cone is

(a) 2 cm

(b)3cm

(c)4cm

(d) 6cm

Q521.

A hemispherical bowl of internal radius 15 cm contains a
liquid. The liquid is to be filled into cylindrical shaped
bottles of diameter 5 cm and height 6 cm. The aumber of
bottles required to empty the bowl is

(a) 30

(b) 40

(c) 50

(d) 60

Q522.

If V1 ,V.and V3, be the volumes ofia right circular cone, a
sphere and aright circular ¢ having the same
radius and same the%

(a)Vi=Vz/4 =V

(b)3.25cm

(€)5.25 cm

(d) 9 cm

Q524.

Deepali makes a model of a cylindrical kaleidoscope for
her science project. she uses a chart paper to make it. if
the length of the kaleidoscope is 25 ecm and radius 35
cm , the area of the paper she used, in sq. cm. is [ take
pie =22/7]

(a) 1100

(b) 5500

(c) 500

(d) 450

Q525.

If the volume of a sphere is numerically equal to its
surface area then its diameter is;

(a) 4 cm

(b) 6 cm

(c)3cm

(d) 2 cm

Q526.

5 persons live in a tent, If each person requires 16 m? of
floor area and 100 m3 space for air then the height of
the cone of smallest size to accommodate these persons
would be?

(a) 16m

(b) 18.75m
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(c) 10.25m
(d) 20 m
Q527.

The numerical values of the volume and the area of the
lateral surface of a right circular cone are equal. If the
height of the cone be h and radius be r, the value of 1/ha+
1/rtis
(a)9/1
(b)3/1
(c)1/3
(d)1/9
Q528.

Then is wooden sphere of radius 6v'3 cm. the surface
area of the largest possible cube cut out from the sphere
will be

(a) 464 v/3 cm?

(b) 646V3 cm?

(c) 864 cm?

(d) 462 cm?

Q529,

If a hemisphere is melted and four spheres of equal
volume are made, the radius of each sphere will be equal
to

(a) 1/4th of the hemisphere

(b) radius of the hemisphere

() 1/2 of the radius of the hemisphere

(d) 1/6 th of the radius of the hemisphere
Q530.

The portion of a ditch 48 m long, 16,5 m wide an
deep that can be filled with stones and earth availab
during excavation of a tunnel, cylindrical in shape,

diameter 4 m and length 56 m is[take pie =22
(a) 1/9 #1971
L 2

(b)1/2 e
L 2

(c)1/4 197
(d) 2/9 &TT
Q531.
er of length 4 cm and
vity of the same height and
hole surface of the remaining

A spherical ball of radius 1 ¢cm is dropped into a conical
vessel of radius 3 cm and slant height 6 cm, The volume
of water (in cm?), that can just immerse the ball is
(a)5m/3

(b)3m

(m/3

(d)4 /3
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Q533.
Assume that a drop of water is spherical and its

diameter is one tenth of a cm. A conical glass has a height

equal to the diameter of its rim. If 32000 drops of water

fill the glass completely, then the height of the glass is

(a)3

(b) 4

()1

(d)2

Q534.

If the height of a cylinder is 4 times its circum

volume of the cylinder in terms of its circumfere

(@) 2c3/

(b)c3/m

(c) 4 mc3

(d)2mc?

Q535.

The radii of a sphere and afgight c

cm each, If their volumes ar

area of the cylin

(a) 528/7 cm?

(b)458/7

ular cylinder are 3
, then curved surface
ssuee n=22/7)

52,57 cm3
(b) 452 cm?
(c) 345,53 cm?
(d) 405.51 cm?
Q537.

The total surface area of a right circular cylinder with
radius of the base 7 cm and height 20cm is:
(a)140 cm?
(b)1000 cm?
(c)900 cm?
(d) 1188 cm?
Q538.
The radius of base and curved surface area of a right
cylinder 'r' units and 4 mrh square units respectively.
The height of the cylinder is:
(a)4h units
(bYh/2 units
(c)h units
(d) 2h units
Q539.
A hemi-spherical bowl has 3.5 cm radius. It is to be
painted inside as well as outside. The cost of painting it
at the rate of Rs, 5 per 10sq, cm, will be:
(a) Rs. 77
(b)Rs. 175
(c)Rs. 50
(d) Rs. 100
Q540.
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The volume of a right circular cone which is obtained
from a wooden cube of edge 4.2 dm wasting minimum
amount of wood is:

(a) 194.04 cu.dm

(b) 19.404 cu.dm

(c) 1940.4 cu.dm

(d) 1940. 4cu. dm

Q541.

If the radius of a sphere is increased by 2 cm, then its
surface area increase by 352cm® The radius of the
sphere initially was : [use m=22/7]

(a)3cm

(b)5cm

(c)4cm

(d) 6 cm

Q542.

A right triangle with sides 9 cm, 12cm and 15 em is
rotated about the side of 9 ¢cm to form a cone. The
volume of the cone so formed is:

(a) 432 mwem?

(b) 327 mecm?

(c) 334 cm?

(d) 324 cm?

Q543.

The volume of the largest right circular cone that can be
cut Out of a cube of edge 7 cm? (use = 22/7)

(a) 13.6 cm?

(b) 147.68 cm3

(c) 89.9 cm?
(d) 121 cm?
Q544.

By melting two solid metallic spheres,of ra
cm, a hollow sphere of thickness 1 cm
external radius of the hollow sphere
(a)8cm

(b)9cm

()6 cm L 4

(d)7 cm

Q545.

Water is flowing e of 5 km/ h through a pipe of

diameter 14 caint ngular tank which is 50 m
long 44m wi e taken (in hours ) for the rise in
the level in the tank to be 7 cm is

(a) 2

(b)3/2

()3

(d)5/2

Q546.

The volume (in m3) of rain water that can be collected
from 1.5 hectares of ground in a rainfall of 5 cm is

(a) 75

(b) 750

(c) 7500

(d) 75000

Q547.
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Water is flowing at the rate of 3 km/ Hr. through a
circular pipe of 20 cm internal diameter into a circular
cistern of diameter 10 m and depth 2m. In how much
time will the cistern be filled?

(a) 1 hour

(b) 1 hour 40 minutes

(c) 1 hour 20 minutes

(d) 2 hours 40 minutes

Q548.

Water flows at the rate of 10 metres per minute from
cylindrical pipe 5 mm in diameter, How long itaill take
to fill up a conical vessel whose diameter, at
30 ¢cm and depth 24 cm?
(a) 28 minutes 48 seconds
(b) 51 minutes 12 seconds
() 51 minutes 24 seconds
(d) 28 minutes 36 seconds
Q549.

The radius of the base of co tis 12 m, The tent is
9 m high. Find th fca‘.ras required to make the
tent, if one squa eglof canvas costs Rs. 120 (Take

4 e of square base made of brass is of length x cm
and thickness 1 mm, The plate weighs 4725 gm,, If 1
cubic cm of brass weighs 8,4 gram, then the value of c is:
(@) 76

(b) 72

(c) 74

(d) 75

Q551.

The diameter of a 120 cm long roller is 84 cm . it takes
500 complete revolution of the roller to level a ground.
The cost of travelling the ground at Rs, 1.50 sg.cm, is

(a) Rs. 5750

(b) Rs, 6000

(c) Rs. 3760

(d) Rs. 2376

Q552,

Two right circular cylinders of equal volume have their
heights in the ratio 1 : 2. The ratio of their radii is
(a)v2:1

m2:1

(c)1:2

(d)1:4

Q553.

If the volume of two cubes are in the ratio 27: 1, the ratio
of their edge is :

(@3:1

(b) 27:1

(c)1:3
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(d) 1:27

Q554.

The edges of a cuboid arein theratio 1: 2 : 3 and its
surface area. is 88cm. The volume of the cuboid is :

(a) 48 cm3

(b) 64 cm?

(c) 16 cm?®

(d) 100 cm?

Q555.

The volume of two spheres is in the ratio 8: 27. The ratio
of their surface area is:

(a)4:9

(b) 9:3

(c)4:5

(d)5:6

Q556.

The curved surface area of a cylindrical pillar is 264 m?
and its volume is 924 m? (take m=22/7) find the ratio
of its diameter to its height.

(a)7:6

(b)6:7

(c)3:7

(d)7:3

Q557.

The ratio of the volume of two cones is 2 : 3 and the ratio
of radii of their base is 1 : 2 The ratio of their height is
(a)3:8

(b)8:3

(c)4:3

(d)3:4

Q558.

If the volume of two cubes are in the ratio 27 : @

the ratio of their total surface area is;

(a)27:64 L 3
(b)3: 4

(c)9:16

(d)3:8

Q559.

A hemisphereandac
are also equal, the xati
(2)1:v2
() v2:1
(c)1:2
(d)2:1
Q560.
If the height of a given cone be doubled and radius of the
base remains the same the ratio of the volume of the
given cone to that of the second cone will be

(a)2:1

(b)1:8

(c)1:2

(d)8:1

Q561.

*

base, If their heights
urved surface will be:
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Spheres A and B have their radii 40 cm and 10 cm
respectively, Ratio of surface area of A to the surface area
of Bis:

(a)1:16

(b)4:1

(c)1:4

(d) 16:1

Q562.

If the radius of the base of a cone be doubled and height
is left unchanged, then ratio of the volume of new cone to
that of the original cone Will be :
(a)1:4

(b)2:1

(c)1:2

(d)4:1

Q563.

A cube of edge 5 cm is cut i bi of edge of 1
cm. The ratio of the total sukface area of one of the small
cubes to that of the large cubeligsgqual to :

(a)1:125

(b)1:5 ¢
(c)1:625

two hollow spheres made from the same
is 21 cm and 17.5 cm respectively. The ratio

(b) 36:25
(£)3:2
(d) 18:25
Q565.

By melting a solid lead sphere of diameter 12 cm, three
small spheres are made whose diameters are in the ratio
3:4:5.The radius (in cm) of the smallest sphere is
(a)3
(b)6
(c) 1.5
(d) 4
Q566.

A cone is cut at mid-point of its height by a frustum
parallel to its base. The ratio between the volumes of two
parts of cone would be

(@al:1

(b)1:8

()1:4

(d1:7

Q567.

The ratio of the area of the in-circle and the circum-circle
of a square is

(a)1:1

(b) v2:1

(€) 1:v/2

(d2:1
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Q568.

The ratio of the surface area of a sphere and the curved
surface area of the cylinder circumscribing the sphere
is

(a)1:2

(b)1:1

(c)2:1

(d)2:3

Q569.

The radii of two spheres are in the ratio 3 : 2. Their
volume will be in the ratio:

(a)9:4

(b)3:2

(c)8:27

(d)27:8

Q570.

The volume of a sphere and a right circular cylinder
having the same radius are equal the ratio of the
diameter of the sphere to the height of the cylinder is
(a)3:2

(b)2:3

(c)1:2

(d)2:1

Q571.

A cone, a hemisphere and a cylinder stand on equal
bases and have the same height. The ratio of their

respective volume is
e ratio @

(a)1:2:3

(b)2:1:3

(c)1:3:2

(d)3:1:2

Q572.

dii of the base of two cylinders are i

their heights in the ratio 2 : 3. The@ti ir curved
surface will be :
(a)2:5

(b)2:3

(c)3:5

(d) 5:3

Q573.

If the radii of two
surface area i
(a)1:2

*

are in the ratio 1 : 4, then their

Q574.

The radii of the base of two cylinders A and B are in the
ratio 3:2 and their height in the ratio x:1 If the volume of
cylinder A is 3 times that of the cylinder B, the value of x
is

(a)4/3

()2/3

(c)3/4

(d)3/2
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Q575.

A solid metallic sphere of radius 8 cm is melted to form
64 equal small solid spheres, The ratio of the surface
area of this sphere to that of a small sphere is

(a)4:1

(b) 1:16

(c) 16:1

(d)1:4

Q576.

The diameter of two cylinders, whose volumes are
equal, are in the ratio 3 : 2, Their heights wilLbe in the
ratio
(a)4:9
(b)5:6
(c)1:2
(d)8:9
Q577.

The radius of base and sla
ratio 4 : 7. If slant height is
of its baseis 2 ( ie = 22‘7]
(a)8

(b)12
(c) 14

atio of the surface area of the sphere and the
wivéd surface area of the cylinder is
(a)2:1

(b)1:2

(c)1:3

(d)1:1

Q579.

The ratio of radii of two cone is 3:4 and the ratio of their
height is 4: 3. Then the ratio of their volume will be

(a) 3: 4

(b) 4:3

(c)9:16

(d) 16:9

Q580,

If a right circular cone is separated into solids of volumes
V4, V3, V3 by two planes parallel to the base which also
trisect the altitude, then Vi: V2:Vs is

(@)1:2:3

(b)1:4:6

(c)1:6:9

()L xTeedD

Q581.

The total surface area of a solid right circular cylinder is
twice that of a solid sphere, If they have the same radii,
the ratio of the volume of the cylinder to that of the
sphere is given by
(@)9:4
m2:1
(c)3:4

of a cone are in the
en the radius (in cm)

heig

www.jkchrome.com



48 www.jkchrome.com

(d) 4:9

Q582.

The respective height and volume of a hemisphere and a
right circular cylinder are equal, then the ratio of their
radii is -

(a)V2:V/3

(b)V3:1

(c)V3:2

(d)2:v3

Q583.

The ratio of the volume of a cube and of a solid sphere is
363 :49. The ratio of an edge of the cube and the radius
of the sphere is ( take pie =22/7)

(a) 7: 11

(b)22:7

(©) 11:7

(d)7:22

Q584.

The radius and the height of a cone are in the ratio 4 : 3,
The ratio of the curved surface area and total surface
area of the cone is

(a) 5:9

(b)3:7

(c)5:4

(d) 16:9

Q585.

A sphere and a cylinder have equal volume and equal
radius. The ratio of the curved surface area of the
cylinder to that of the sphere is

(d) 3:4

Q586.

A right circular cylinder and a cone

radius and equal height. If their curve facés are in
the ratio 8: 5, then the radius ofithe base to'the height
are in the ratio :

(a)2:3

(b)4:3

(c)3:4

(d)3:2

Q587.

The edge rectangular box area in the ratio1: 2: 3
and its surface areais 88 cmZ The volume of the box is

@) 24 cm?
(b)48cm?
(c) 64 cm?

(d)120 cm3
Q588.
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(c)3:2 Q
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The radii of the base of cylinder and cone are in ratio
v/3:v/2 and their heights are in the ratio v2:v3 . their
volumes are in the ratio of

(a)V3:/2

(b)3V3:V/2

()V3:2v2

(d)V2:v/6

Q589.

The heights of two cones are in the ratio 1 : 3 and the
diameters of their base are in the ratio 3 : 5, The ratio of
their volume is

(a)3:25

(b) 4: 25

(c) 6: 25

(d)7:25

Q590.

A sphere and a hemispher t
ratio of their radii is

(a)1:2

(b)1:8

(12 ¢
(d)1:3V2

Q591.

volume. The

(d)7:60

Q592.

If A denotes the volume of a right circular cylinder of
same height as its diameter and B is thevolume of a
sphere of same radius then A/B is :

(a)4/3

(b)3/2

(€)2/3

(d)3/4

Q593.

The radii of the base of cylinder and cone are in ratio v3:
2 and their heights are in the ratio v2: V3, their
volumes are in the ratio of

(a) V3:v2

(b)3V3: V2

(c) V3:2v2

(d)V2:v/e

Q594.

Diagonal of a cube is 6v/3 cm. ratio of its total surface
area and volume (numerically) is

(a)2:1

(b)1:6

(c)1:1

(d)1:2

Q595.
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A sphere and a hemisphere have the same volume. The
ratio of their curved surface areais:
(a)23/2: 2
(b)22/3:1
(c)42/3:1
(d)21/3:1
Q596.

The volume of a cylinder and a cone are in the ratio 3 : 1.
Find their diameters and then compare them when their
height is equal.

(a) diameter of cylinder = 2 times of diameter of cone
(b) diameter of cylinder = diameter of cone

(¢) diameter of cylinder > diameter of cone

(d) diameter of cylinder < diameter of cone

Q597.

A solid sphere is melted and recast into a right circular
cone with a base radius equal to the radius of sphere.
What is the ratio of the height and radius of the cone so
formed
(a)4:3
M2:3(1)

(c)3:4
(d)4:1
Q598.

Two cubes have their volumes in the ratio 27 : 64, The
ratio of their surface areas is
(2)9:25
(b) 16: 25
(c)9:16
(d)4:9
Q599.

The ratio of weights of two spheres ratio of differen
materials is 8 : 17 and the ratio of weights
materials of each is 289 : 64. The gatio
spheres is
(a) 8:17
(b)4:17
(©17:4 ¢
(d)17:8
Q600.

The total number
decimeter th

r of
j e two

by utilizing the maximum of
ead with 11 meter length , 10

(c) 7800

(d) 7790

Q601.

If the ratio of volumes of two cones is 2 : 3 and the ratio
of the radii of their bases is 1 : 2, then the ratio of their
heights will be

(2)8:3

(b)3:8

(c)4:3

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

(d)3:4

Q602.

The volumes of a right circular cylinder and a sphere are
equal. The radius of the cylinder and the diameter of the
sphere are equal, The ratio of height and radius of the
cylinder is

(a)3:1

(b)1:3

(c)6: 1

(d)1:6

Q603.

A large solid sphere is melted and molde
identical right circular cones with base
same as the radius of the sphere. One
melted and molded to form a sm
the ratio of the surface area

area of the larger sphere i

(a) 1. 3%3

(b) 1: 23/2

(c) 1:32/3 ¢
(d) 1:3453

d) 1:3vV2+1
Q605
On increasing each side of a squire by 50%, the ratio of
the area of new formed square and the given square will
be
(a)9:5
(b) 9:7
(c)9:3
(d)9:4
Q606.

A cone of height 7 cm and base radius 1 cm is carved
from a cuboidal block of wood 10 cm x5 cm x 2 cm|
assume m=22/7]

(a)278/3%

(b)139/3%

(c)127/2%

(d)124/3%

Q607.

If radius of a cylinder is decreased by 50% and the
height isincreased by 50% to from a new cylinder, the
volume will be decreased by

(a)6%

(b)25%

(c)62.5%

(d)75%

Q608,
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Each of the height and base radius of a cone is increased
by 100%. The percentage increase in the volume of the
coneis

(a) 700%

(b) 400%

(c) 300%

(d) 100%

Q609.

If both the radius and height of a right circular cone are
increased by 20%, its volume will be increased by
(a) 20%

(b) 40%

(c) 60%

(d) 72.8%

Q610.

A cone of height 15 cm and base diameter 30 cm is
carved out of a wooden sphere of radius 15 cm. The
percentage of used wood is :

(a) 75%

(b) 50%

(c) 40%

(d) 25%

Q611.

If the height of a right circular cone is increased by
200% and the radius of the base is reduced by 50%, the
volume of the come
(a) increases by 25%

(b) increases by 50%
(c) remains unaltered
(d) decreases by 25%

Q612. Q

If the height and the radius of the base of a cong are eagh
increased by 100%, then the volume e/gone e
(a) double that of the original @
(b) three times that of the original
(c) six times that of the origina
(d) eight times that of the origi
Q613.

If the height of a cylin
the radius of its bage i
what percent will1

V7

*

eased by 15 per cent and
credsed by 10 percent then by
d surface area change?

If the radius of a sphere is doubled, its volume becomes
(a) double
(b) four times
(c) six times
(d) eight times
Q615.

If the radius of a right circular cylinder is decreased by
50% and its height is increased by 60% its volume will
be decreased by
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(a) 10%

(b) 60%

(c) 40%

(d) 20%

Q616.

The length, breadth and height of a cuboid are in the
ratio 1 : 2: 3. If they are increased by 100%, 200% and
200% respectively. then compared to the original
volume the increase in the volume of the cuboid will be
(a) 5 times
(b) 18 times
(c) 12 times
(d) 17 times
Q617.

Each of the radius of the base and
circular cylinder is increased by
cylinder is increased by

(a) 3.31%

(b) 14.5%

(c) 33.1% ¢
(d) 19.5%

A hemispherical cup of radius 4 cm is filled to the brim
with coffee, The coffee is then poured into a vertical cone
of radius 8 cm and height 16 cm. The percentage of the
volume of the cone that remains empty is :

(a) 87.5%

(b) 80.5%

(c) 81.6%

(d) 88.2%

Q620,

The height of a circular cylinder is increased six times
and the base area is decreased to one ninth of its value,
The factor by which the lateral surface of the cylinder
increases is

(a)2

(b)1/2

(c)2/3

(d)3/2

Q621.

If the radius of a sphere be doubled the area of its
surface will become

(a) Double
(b) Three times
(c) Four times

(d) None of mentioned
Q622.
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If each edge of a cube is increased by 50 % the
percentage increase in its surface area is

(a) 150%

(b) 75%

(c) 100%

(d) 125 %

Q623.

If the radius of a sphere be doubled, then the percentage
increase in volume is

(a) 500%

(b) 700%

(c) 600%

(d)800%

Q624.

If radius of a circle is increased by 5%, then the
increment in its area is

(a) 10.25%

(b) 5.75%
() 10%
(d) 5%
Q625.
If the length of each side of a regular tetrahedron is 12
c¢m, then the volume of the tetrahedron is

(a) 144V2 cu. Cm
(b) 72V2 cu. Cm
(c) 8V2 cu. Cm
(d) 12v2 Cu.cm
Qe626.
If the radii of the circular ends of a truncated coni
bucket which is 45cm high be 28 cm and 7cm then t
capacity of the bucket in cubic centimeter is[ta
n=22/7]
(2)48510
(b)45810 L 2
(c)48150
(d)48051
Q627.
There is a pyramid on a bas
of Side 2a cm, if every
length 5a/2 cm th

¢

is aregular hexagon
this pyramid is of
the pyramid is

The base of aTight pyramid is a surface of the prism is
square of side 40 cm long. If the volume of the pyramid
is 8000 cm?, then its height is

(a) 5cm

(b) 10 em

(c) 15 cm

(d)20 cm

Q629.

The base of a right prism is a trapezium . the length of
the parallel sides are 8 cm and 14 cm and the distance
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between the parallel sides is 8 cm , if the volume of the
prism is 1056 cm3 then the height of the prism is

(a) 44cm

(b) 16.5 cm

()12 cm

(d) 10.56 cm

Q630.

Each edge of a regular tetrahedron is 3cm, then its
volume is

(a)9V2/4 c.c.

(b)27V3 c.c.

(©)4V2/9 c.c.

(d)9V3 c.c.

Q631.

The perimeter of the triangular b
15 e¢m and radius of the incircle d
3 cm. If the volume of the p
height of the prism is

(a) 6cm

(b) 7.5 cm

(c)10cm ¢
(d)12 cm
Q632.

1 prism is
gular base is
3 then the

olidright prism isa triangle whose sides
and 15 cm, The height of the prismis5
e total surface area of the prism is

c) 288 cm?
(d) 270 cm?
Q633.

The base of a right prism is an equilateral triangle of

area 173 cm? and the volume of the prism is10380 cm?2.
The area of the lateral surface of the prism is
(a) 1200 cm?
(b)2400 cm?
(c)3600 cm?
(d) 4380 cm?
Q634.

The base of a right pyramid is a square of side 16 cm
long, If its height be 15 cm , then the area of the lateral
surface in square cm is:

(a) 136

(b) 544

(c) 800

(d) 1280

Q635.

Area of the base of a pyramid is 57 sq. cm and height is
10 c¢m, then its volume (in cm3), is
(a) 570

(b) 390

(c) 190

(d) 590

Q636.
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The height of a right prism with a square base is 15 cm, If
the area of the total surface of the prism is 608 sq. cm, its
volume is

(a) 910 cm?

(b) 920 cm3

(c) 960 cm3

(d) 980 cm?

Q637.

The base of a right prism is an equilateral triangle of side
8 cm and height of the prism is 10 cm. Then the volume
of the prism is

(a) 320 V3 cubic cm

(b) 160v3 cubic cm

(c) 150 V3 cubic cm,

(d) 300 V3 cubic cm

Q638.

A prism has as the base a right angled triangle whose
sides adjacent to the right angles are 10 cm and 12 cm
long. The height of the prism is 20 cm, the density of the
material of the prism is 6 gm /cubic cm. the weight of the
prism is

(a) 6.4 kg

(b)7.2 kg

() 3.4 kg

(d) 4.8 kg

Q639.

If the slant height of a right pyramid with square base is
4 meter and the total slant surface of the pyramid is 12

(c)32:9
(d)12:3 ¢

Q640.

The length of each edge of a regular tetrahedron is 12
cm. The area (in sq. cm) of the t@tal surface@f the
tetrahedron is

(a) 2883
(b) 144v2
(c) 108V3
(d) 1443
Q641.

prism is a triangle whose perimeter is
adius of the triangle is 4 cm. If the
prism is 366 cc, then its height is

(d) None of these

Q642,

The base of a right pyramid is equilateral triangle of side
10v3 cm. if the total surface are of the pyramid is 270v3
cm?, its height is

(a) 12V3 em
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sq. m. then the ratio of total slant surface and areg of
base is

(a) 16:3

(b)24:5 Q
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(b) 10 cm

(€) 10v3cm

(d)12 cm

Q643.

A right prism stands on a base of 6 cm side equilateral
triangle and its volume is 8 1v3 cm?. the height (in cm )
of the prism is

(a)o9

(b)10

()12

(d) 15

Q644.

A right pyramid stands on a square bas on
10V2 cm. If the height of the pyramid is12 cm, the area
(in cm?) of its slant surface is
(a) 520
(b) 420
(c) 360
(d) 260
Q645. ¢

If the altitude o tprism is 10 cm and its base is an
e 12 cm, then its total surface

A right pyramid stands on a square base of side 16 cm,
and its height is 15 cm. The area (in cm?) of its slant
surface is
(a) 514
(b) 544
(c) 344
(d) 444
Q647.
The base of a right prism is a right angled triangle whose
sides are 5 cm, 12 cm and 13 cm. If the total surface area
of the prism is 360 cm?, then its height (in cm) is
(a) 10
(b)12
(c)9
(d)11
Q648.
A right pyramid 6 m high has a square base of which the
diagonal is V1152 m. Volume of the pyramid is
(a) 144 m?
(b) 288 m3
() 576 m3
(d) 1152 m3
Q649,
The height of the right pyramid whose area of the base
is 30 m and volume is 500 m3 is
(a) 50 m
(b)60 m
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(c)40m
(d)20m
Q650.

The base ofa right prism is an equilateral triangle . if the

lateral surface area and volume is 120 cm?, 40v/3 cm3
respectively then the side of base of the prism is

(a) 4 cm

(b)5 cm

(¢) 7cm

(d) 40 cm

Q651.

Each edge of a regular tetrahedron is 14cm. its volume
in cubic cm ) is

(a)16v3/3

(b)16+3

(©)16v2/3

(d)16v2

Q652.

The base of a prism is a right angled triangle with two
side 5 cm and 12 cm, the height of the prism is 10 cm,
the total surface area of the prism is

(a)360 sg.cm

(b)300 sq.cm

()330 5q.cm

(d)325 sq.cm

Q653.

The base of a right prism is a quadrilateral ABCD, given
that AB = 9c¢cm ,BC=14 cm, CD =13 ¢cm, DA=12 cm and
2DAB =90°, if the volume of the prism be 2070 cm3th
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(d)4V3 em?

Q657.

Base of a right pyramid is a square of side 10 cm . if the
height of the pyramids 12 cm, then its total surface area
is

(a)360 cm?

(b)400cm?

(c)460cm?

(d)260cm?

Q658.

A right prism has a triangular base whose sid
cm, 20 cm and 21cm, if the altitude of the prism 1
then its volume is
(a)1143 cm?
(b)1314 cm3
(c)1413 cm3
(d)1134 cm?
Q659.

Base of a prism of height 10 are, Total surface
area of the prism sq. g‘l . the volume of the prism
is

(a)120cm?

(b)640

(c) 90fem

(

es, e be the number of faces of the prism, The value

dlsls
@ prism has triangular base. If v be the number of
K{)f v+e-f/2is

the area of the lateral surface is (a)2

(a)720cm? (b)4

(b)810 cm? (c)5

(c)1260cm? (d)10

(d)2070 cm? ¢ Q661.

Q654. The base of a right prism is a trapezium whose lengths
If the area of the base , height and volu ight of two parallel sides are 10 cm and 6 cm and distance
prism be {3\/3/2} p?cm?, 100v8,cm and cm? between them is 8 cm, its volume is

respectively, then the valu cm) willbe ? (a)300cm?

(a)4 (b)300.5 cm?

(b)2v3 (€)320 cm?

(V3 (d)310 cm?

(d)3/2 Q662.

Q655. Base of a right prism is a rectangle, the ratio of whose
If the ba t prism remains same and the lateral length and breadth is 3:2 if the height of the prism is 12
edge ved then it s volume will be reduced by cm and total surface area is 288 sq. cm, the volume of the
(a) 33.33 prismis:

(b)50% (a)288 cm?3

(€)25% (b)290 cm?

(d)66% (c)286 cm?

Q656 (d)291 cm3

The total surface area of a regular triangular pyramid Q663.

with each edges of length 1 cm is?
(a)4/2(V2)em?

(b)V3 cm?

()4 cm?
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Height of a prism shaped part of a machine is 8 cm and
its base is an isosceles triangle, whose each of the equal
sides is 5 cm and remaining side is 6 cm. the volume of
partis
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(a) 90 cm?
(b) 96 cm3
(c) 120 cm?
(d) 86 cm?
Q664.

The sides of a triangle are 7 cm,8 cm, 9 cm, then the
area of the triangle (in cm?) is
(a) 12v/5
(b) 6v/5
(c) 24v/5
(d) 30v5
Q665.

A cylindrical rod of radius 30 cm and length 40 cm is
melted and made into spherical balls of radius 1 cm. The
number of spherical balls is.

(a) 40000

(b) 90000

() 27000

(d) 36000

Q666.

The ratio of the radii of two cylinders is 2: 1 and their
heights are in the ratio 3: 2. Then their volumes are in
the ratio.

(a) 4:3

(b) 6:5

(c)3:1

(d) 6:1

Q667.

heights is
(a)1:2
(b)2:1

(©)1:4 L 2
(d)1:3
Q668.
The curved surface areaofa c
equal to the radius, is equa
a sphere, The ratio of
sphere is

(a) 3:2v2

der v'th height

cylinder to that

The base of a right prism whose heightis 2cmis a

square. If he total surface area of the prism is 10 cm?
(2)2 cm?
(b)1 cm?
(c)4 cm?
(d)3 cm?
Q670.

The radius of a wire is decreased to one third. If volume
remains the same, length will increase by:
(a) 3 times
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rved surface area of
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(b) 1 times
(c) 9 times
(d) 6 times
Q671.
Let ABCDEF be a prism whose base is a right angled
triangle, where sides adjacent to 90° are 9 cm and 12
cm, If the cost of painting the prism is Rs. 151,20 at the
rate of 20 paisa per sg. cm then the height of the prism is:
(a)16 cm
(b) 17 cm
(c) 18 cm
(d) 15cm
Q672,

The total surface area of a right pyramidion a sqmare
base of side 10 cm with height 1
(a) 260 square cm
(b) 300 square cm

(c) 330 square cm.

(d) 360 square cm

Q673. ¢

Ifthe area ofas creased by 44%, retaining its
shapeasa I C its sides increases by :

(a) 20%

(b) 19%

()2

0
The radii of the base of a cylinder and a cone are®gu K
and their volumes are also equal. Then the ratio of t
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ANSWER :

1b 2¢
15d 16d
29c¢ 30d
43d 44d
57c 58d
71a 72 ¢
85a 86 a
99 ¢ 100 a
113 d 114 b
127 a 128 b
141 a 142 b
155 a 156 ¢
169 d 170a
183 ¢ 184 a
197 a 198 d
211b 212 b
225 a 226D
239 a 240 a
253 d 254 c
267 a 268 Db
281 c 282 c
295 b 296 Db
309d 310 a
323 c 324 ¢
337 d 338b
351 a 352 ¢
365 b 366 a
379 d 380 c
393 b 394 ¢
407 b 408 c
421 b 422 Db
435 b 436 Db
449 b 450 b
463 d 46
477 e 8
491 9
5 6 d
b
53 534 b
547 b 548 a
561 d 562 d
575 ¢ 576 a
589 a 590 d
603 d 604 ¢
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3a 4c 5b
17b 18d 19d
31a 32d 33a
45b 46a 47b
59d 60b 61b
73 ¢ 74b 75b
87c 88b 89c
101a 10Zc¢ 103a
115d 116 ¢ 117 a
129 b 130 a 131 a
143 a 144 a 145 c
157 a 158 a 159 b
171 d 172 ¢ 173 ¢
185 ¢ 186 a 187 d
199 b 200d 201 b
213 d 214 d 215d
227 b 228 ¢ 229 a
241 c 242 d 243 c
255 d 256 a 257 ¢
269d 270a 271D
283 c 284 a 285 ¢
297 a 298 b 299 ¢
311 b 312 a 313 c
325 ¢c 326 c 327 d
339 b 340 b 341 b
353 d 354 b
367 d 3@. c
381 b 382 b
395 d 396 a 398 d 399 d
409 c 10 ¢ 4 d 412 b 413 d
42 4 bV425 b} 426 ¢ 427 ¢
7 b 439 d 440 b 441 d
52 b 453 a 454 ¢ 455 ¢c
5b 466 d 467 ¢ 468 ¢ 469 a
c 480 c 481 a 482 ¢ 483 a
493 ¢ 494 d 495 b 496 c 497 b
507 a 508 a 509 d 510 ¢ 511 a
521 d 522 a 523 ¢ 524 b 525 b
535 a 536a 537d 538d 539 a
549 d 550 d 551 d 552 a 553 a
563 d 564 b 565 a 566 d 567 a
577 a 578 d 579 a 580 d 581 c
591'a 592 b 593 b 594 ¢ 595 d
605 d 606 a 607 ¢ 608 a 609 d
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359
373
387 b
401 d
415 a
429 b
443 c
457 a
471 b
485 a
499 d
513 ¢
527 d
541 d
555 a
569 d
583 b
597 d
611 d

o]

66
180
194
208
222
236
250
264
278
292
306
320
334
348
362
376
390
404
418
432
446
460
474
488
502
516
530
544
558
572
586
600
614
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c 167
b 181
195
209
223
237
251
265
279
293
307
321
335
349
363
377
391
405
419
433
447
461
475
489
503
517
531
545
559
573
587
601
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617 c 618a 619 a 620a 621 c 622 d 623 b 624 a 625 a 626 a 627 c 628 c 629 c 630 a
631 d 632 b 633 c 634 b 635c 636 c 637b 638b 639a 640d 641d 642d 643a 644d
645d 646b 647a 648d 649a 650a 651c 652a 653a 654a 655b 656b 657a 658d
659d 660c 661c 662a 663d 664a 665c 666d 667d 668d 669a 670c 671c 672d
673 a
ikl L
4624, 68 2
—V[T} 2? = 22; m
5. (b) Perimeter of square =44 ¢
2 4 x side = 44
(b) Side of square = % side=11cm
CE S—— Diagnnal® area of square = side’ m?
VZ Circumference of cirgle = 4
2 {radius) =44
(5.2)> _ 5.2x5.2 44x7
== = radius=? =7cm
B AT area of cir T*7 =154 t:m;"2
swer. (circle, 33 cm?)
(c) Area of square 6. ide of square =a
_ Diagnnal? _ q? adius of circle =r
2 T2 eter of square = circumference of circle = 4a
4a
(a) Let the length of rectangular hall = x 2n
Thus, Breadth of rectangular hall area of circle = 3850 m*
3 4a  4a
2y mx==x= = 3850
According to Question, 16a’ = w, a’=3025m’
Area = 768 m’ C) 7. (b) 2(1+b) =28
xx2x =768 l+b =14
3, A 4 andIxb =48
7t = 768 (1+b)? = 2+p*+2lb
2_768)(4 (14)2=|2+b2+48)<2
E * 196-96 = I + b’
=256 x4 1?4 p?=1%
x =256 x 4 V(IF+b?* =10
Diagonal = 10m

and breadth

e the room is in cuboid shape =
Length of largest rod = = Diagonal of cuboid

=V(I* + b* + h?)
2
=v(16% + 122 + )

V(256 + 144 +22)
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(c) Letthe length of rectangular hall = x

Thus, Breadth of rectangular hall
o

4
According to question,

Area = 192m”?
X x%x =192

2 192%4

x = V(64 x4) =16 cm
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11.

12,
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Difference of length and breadth

U
RIS
=16/4
=4 cm

(d) Side of the square
_Diagonal _ #Z _ 4
—F 7 -

Area of the square = 16

Area of new square =32

Side of new square =V32

=42

Diagonal of new square = 4v2 x V2
=8cm

(d)

Diagonal of square A =(a+b)

Diagonal _ [a+b 2

Side of square = v

- (a+b)?
2
Area of square =B =2 x Area of square
2
= 2% @ * (a+b)>

side of square B= /(a + b)?
=(a+b)b

Diagonal of square B =v2(a +b)

12 m
Area of the rectangular garden
Thus, Area of square =6

(side)® = 60 L 4
Side = V60
Diagonal of the'sgu 2 =V2xV60
=2V30m
(c)
a (a+5)

According to question,
a’ “(a+3(a+5)
a’“a’+5a-3a-15

2a =15
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=V120

(a-3)
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13.

15,

16.

17.
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15
a=—
. 15
Length=a+5 = ?+ 5
_2
- 2 15 15—6
Breadth=a-3 =——3 =
2 2
>
e
perimeter of the rectangular = 2(| +

=2(%+§)= 34 cm

(a) According to question,

2(1+b) =160

(14b) =80 oo (i

(I-b) =48 oo (i

on solving (i) and (ii)

1 =64, b=16

Area of sq Area®f rectangle

(side)’= 64

area of square = 6° = 36 cm’
gain, side of square, whose perimeter is 32 cm
=32/4 =8cm
So area of this square = 8°
=64 cm?

According to the question,

Area of new square = 64 + 36 =100 cm”

Side of the new square

= V100 =10cm

Hence perimeter of new square=10x4 =40cm
(d) (side)® =484 cm

side=22cm

Perimeter of square=4x 22 =88 cm

According to question, 2nr =88 cm
_88x7

(- 14 em
2%22 5
Area of circle =t r? ==x14 %14
=616 cm’

(d)I =10m, b=6m, h=4m
Length of diagonal (longest + rod)
=v/100 + 36 + 16 =152 m
(b) Let the length of smaller line segment = x cm
The length of larger line segment = (x + 2) cm
According to question,
(x+2)*=x* = 32
X +ax+4 -x2 =32
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20.

21.
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X = =7
The required length=x+ 2
=742 =9cm
(d) A D
b

B C
BD = Length of diagonal = Speed xTime
) x 15 =13 cm
BD = V(I* +b?)

> (P+b%)=13* =169
Again, (P+b?) =2=x15 =17
(I+b) =1P+b*+21b

17*= 169 + 21B

1B =£2° = 60m?>

(d) Let the breadthbe =xm
Thus, Length =206

2 (x+23 +x) =206

4x =206-46

X === =40m

Thus, Length =40+23 =63 m
Thus, Required area= 63 x40 = 2520 m®
(b) Length of rectangle =48 m
Breadth of rectangle = 16m
According to question,
Perimeter of square =
Perimeter of rectangle =2 (4

4 xside=2 x64
side =22 = 32 ¢
Thus, Area of thesq ide)? =(32)
=1024
(a)
a
Area of third square= a’ — b’
= 10° -8’
=100 - 64
=36 cm’

Side of third square= V36 =6cm
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22.

23.

25.

26.
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Perimeter of third square= 4x6

=24 cm

(a) Side of the square= Eerimieren

thus, Sides of all five squares are
24 32 40 76 80 - 6,8,10,19,20

ATQ

side=v961 =31

(c)

Area of the tank = Length
=180x%120 = 2160

Total area of the cir

= 40000 + 21600 = 61
1600X7

2K
n (radius) ¢

lar pl

radius = 7

20
140

Let the breadth of rectangle = x m
us, Length= (x+5)m
Thus, Area of hall = Length x breadth
(x +5)x
=750
=30x25
(clearly 750 =30 x 25)
Thus, x =25, Breadth =25m
Length= 25+5 =30m
(d) Required total area
= Area of four walls + Area of base
=2x125(6+4)+6x4
=49 m’
(a)

2X

3x
Ratio of length and breadth=3 2
2(l+b) =20cm
2(3x+2x) =20cm
2x5x =20cm
10x =20
X =2
Thus, Length=3x2 =6cm
breadth= 2x2 =4cm
area = Length x breadth
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=6x4 =24 cm?
27.  (d)

| a
2(1+b) =160m 4a =160
(l1+b)=80m
a=40m
ATQ
a’—Ib =100

(40)* -1b =100
1600—1b =100
Ib =1500
Clearly, 50+30=80
and 50 x 30 =1500
length =50 m
28. (b)

32m

-4
-

38m
area of path = 600 m’
(I+b—2x) =600
(38 + 32 - 2x)2x = 600

(70 + 2x)2x = 60 C)
(70-2x)x =600/2 =3004, \ E

70x — 2x> =300

2% - 70x+300 =0 \

x*—35x +150 =0

%% - 30x + 5x + 150 L 4
X(x—30)—5(x-

(x—=30)(x-5)
x =30 not

29. = Perimeter of base x height = 18
30. =9
-> Perimeter of square
=9x4
=36cm
2 2r+nr =36
rir+m) =36
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31.

32.

33.

34.

35.

36.

37.
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P36
2422

(a) a’=21 a=11

- Perimeter of square
=11x4
=44 cm

- Cricumference of circle
=44

2nr =44

=T7c

(d)

Let the no. of hours
- (0.3 x0.2 x2000
S 200x150x8 _ 20

3x2
(a) 2

X
X =200 x 150x 8

200

Area of path = 200 x 220 — 200 x 180
= 44000 - 36000 = 8000 m’

(c) Diagonal of square = diaeter of circle
=8x2

=16cm

Thus, Side of square = 16/\2

- Area of square (8v2)?

= 128 cm’

(a) Side of square = 72 =8cm

Thus, Area of square = 8 x 8 = 64 cm®
(@) X* +7x+10 =x* +5x+2x + 10
=x(x+5) +2 (x+5)

=(x+2)(x+5)

Thus, Two sides of rectangle
= (x+2) (x+5)
Thus, Perimeter =2(x+2 +x+5)
=2(2x+7) =4x+14

(c) Let the sides of rectangle be 6 cm and 2 cm (or
any other number)

—> Area of rectangel Q=6x 2

=12 cm’
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Side of square =4 cm
- Side of square (P) =4 x4 =16 cm’
- P>Q
38. (b) No. of cubes with no side painted = (n - 2)®
Where n is the side of the bigger cube
Requried number = (6 - 2)* =64

39.  (d) Side of squre = w
_ vz _
== = 15cm
Area of square= (side)® = (15)°
=225cm’
40. (a)
A
1
B D 35cm
v
L5 8cm
E M
Area of square =% (Diagonal)®
==(32)°
==x32X32 =16X32
=512 cm’
1.732x8x

Area of triangel =

=1.732x2x8
=27.712 cm’
Required ar +27.712) cm?
=539.712 ¢
41.  (a) Areao wn = % hectare
Le eadth = 1/12 x 10000 m*
x breadth = 11—2 X 10000 m?
= dx X Ino= Ll m?
_ 4n.2 _ 10000
=12 = Th
5 10000
=X = —
12
100
xX=—
112
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42.

43.

45.
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Breadth =
==2
(a) Let the side of squgre =acm
ATQ
Ix2 =3x
20 xg & =34
a=10
(d)
4m
Area of pa +Qx)2x
=fthinkness of path
2(4)=416

=416

== =4, p=4
Thus, breadth=4x4 =16 m
(d) Areaofthefloor=8x6 =48 m’
=4800 dm’ (1m =10dm)
=4x4 =16 dm®

. 4800
No. of tiles = ——
16

(b)

=300

15m

< 15m >

Shape of godown is cuboidal

(1) Length= 15 m , breadth =12 m height
Area of four walls=2 (I +b) x h

area of floor = (| + b)

ATQ

(I+b) +(I+b)=2(1+b)x h
2(l+b)=2(I+b)xh

2(15x12) =2(15+12) xh

=2x27 xh

2x180=2x27xh
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47.

48.

49.

50.
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h o — i —

27 3
Volume of the cuboid =1xbxh

=15x12x?
=60x20 =1200m’
(a)

0]

A8
side of a square = AB
=V2 a units
Thus, AC = Diagonal =v2 xV2 a
Thus, Diameter =2 a units
Circumference =t x diameter
=T x2a =2mna units
(b) Perimeter of rectangle = 40m
Length = 12 meter
Thus, 2(12+b) =40
12+b=2 =20
b=20-12 =8m
(d) Percentage increase in area

= (x+y+2)%

100
Here, x =100%, y = 100%
=100 + 100 + 222190 o
100
=300% *
D
1%
A B
AC =V ) =V(30% +167)

56)

4 meter

travelled by elephant
=34 -4 =30 meter

Speed of elephant = % =2m/s

(b)
A
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51.

52.

S

53.
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35 35

D 35 C
According to the question,
Radius of circle == %

Required area of shaded portio
=(35) -Zx2x 2
=1225-962.5 =262.5
(b) Diagonal of squar

of square
Here a =% (x+1)and

Thus, d = ¢

3—-x

> 7 =@ @+ 1))

x

vz

D<

\/
(@)

I

Let ABCD is a rectangular carpet having length 1
meter and breadth b meter and
BD is a diagonal
- As we know
>1xb =120 ...... (i)
—> Area
%
2(Ixb) =46
— Perimeter
Using formula
> (Ixb)? =xb? +2Ib
> (232 =P xb’+2x120
529 =1°xb’ +240
1> x b* = 529 - 240

> 1’x b =529-240
> Pxb’=289
> V(> xb?) =v289

Diagonal =17
Diagonal of carpet is17 meters

(c)

Diagonal of a square =6vV2 cm
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55.

56.

57.

58.
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5 62
Side of a square = -3 cm
Area of asquare ==6x6 =36 cm®

(c)

Let the breadth; of floor = xm

Then the length of floor = (x + 3)m

ATQ

X2+ (x+3)=70

X +3x -70=0

x+10x+7x—70 =0

(x+10) (x-7) =0

x=7, x=-10

Breadth = 7m

Length = 10m

Perimeter of floor =2 (1 + b)
=2(10+7)

=34m

(d) Let the breadth of rectangle =xm

then the length of rectangle =2x m

ATQ
x x 2x =417.605
2x* =417.605

2 _ 4170.605

Length = % X2 =2890m

(b) Radius of circle=5cm ¢
Lengthofarc=1=3.5cm

Thus, Area of sector = i

_ Distance to be covered

Circumference of cicle

— 11000 = 1000
11

Circumference of wheel =2 it r\
22
=2x7><21cm = 132 cm
(Distance to be covered)

x —
2

x =V(83521/400)

289
X ==—

20
Breadth = a2 m

20 ‘ ’

No. of revolutions =

_ 924x100
T3z

Circumference of circle

=700

www.jkchrome.com

www.jkchrome.com

59.

60.

61.

62.
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TN
o

Radius to the largest circle

28 cm

= % X (side of squre)
==x28 =14cm

Area of the circle = it (radiu

= %x 14 x4 =616
(b)

R
us: 2mnr =88
B8x7
s e R 14 cm
2mR =88
- 132x7 — 21 cm
2x22
The area between two circle
n(21+14) (21-14)

:%x 35%7 = 770 cm?
(b)

Circumference of wheel =2 nur
=2x =1 X 7
7
= 44 cm

Thus, total distnace travelled by wheel in 15
revolutions =15x44cm = 660 cm

(c)
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Circumference=2nr
Distance covered in 1 min

=52x i;’r T
40
new circumference =2 x m x rx 10
Time taken = Zarx10x40 - 50 min

r X8

(b)

12 cm

15cm

Areao fthe triangel = %x base X heinght
= +1/2x15x%x 12
=90 cm’
Area of another triangle =2 x90 =180 cm’

1

3 x base x height = 180
1

5 X 20 height = 180

1802
20

Height = =18cm

(b)

¢

Area of the square = 81 cm’
Side of the square =v81 =
Perimeter of the squre =4 x
Now, According to uestion,
nr+2r =36

rim+2) =36

- 27 = 77 cm?
(b) Area of square = (12)?
= 144 cm?

Area of triangel = % X base x height
= ix 12 x height
=%x 12 X height = 144
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66.

68.

69.
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Height = %:2 =24 cm

(c)

B F
Thus, 3° +4°=5’
ABC is aright angledftrian
ar(ABC) = %x AB XWBC

of (A DEF)

7cm

AB = BC =AC

=7cm
Area enclosed =
Area of equiliateral A ABC -

% (area of 1 circle)

B et
4 2

= 1.967 cm’

(a) Thus, mnr’=2464cm’
5§ = \2464%7

22
=V794 = 128m

Thus, Diameter=2r =2 x 28 =56 cm

2. 35x% 3.5]
7

(b) Requried area = Area o0f square Area of circle
=(2a)? - m (a)?
o hg 222
=4a —a
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28a2—22a2 _ 6a®
7
(c) Dlameter of the circle = Side of square
2r =21
21
r=—m
8 22
Area= nr' = T[(?)Z
22 121 -693
= — X =X=— "—am
7 2 8 2
=346~ cm’
(a)
A
B C
Thus, Area of an equilateral triangle = 400 v3
2 (side)’ = 400v3
L2 400V3BX4
(side)’= 5 - 1600
side = 40m
perimeter = 3 xside
=3x40
=120m
(c)
A
F 2

1 1
+E><xx2\/§+§><x><5\/§)
2V3+ 43+ 10v3 =16

Thus, Perimeter of triangel =3x =3 x16 =48 cm
Alternative :
Side of equilatera A

== (V3+ 2V3+ 5V3)

www.jkchrome.com

www.jkchrome.com

73.

74.

76.

77.

www.jkchrome.com

www.jkchrome.com

(V,_ V,_ =16 cm)
Perimeter = 3 x sides
=3x16

=48 cm

(c) Perimeterof A = 30cm
Area = 30 cm?
Check the triplet =
{(5, 12, 13), (3, 4, 5)}
Whose largest side is 13,
Also, 52+122=13
And perimeter = 5+ 12 +
=30cm
Smallest side= 5¢

(b) Diameter of the\wheel 3m

(t x diameter = — 2x3 = 1—6}

ers ?cllstance equal toits

eters covered = 1 minute

1 i
eter covered = —minute
264
280
264

80 meters covered =

=20 minutes
(b) Distance covered =2 km 26 decameters
= (2x 1000+ 26 x 10)
(1 decameter = 10 meter)

=2260m

Distance coverd in 1 revolution =
Total Distance 2260
Number of revolutions T 113
=20m
Now, m x dameter = 20
207
22

diameter =
_ 70 _ 4

11 11
(a) Distance coverd in 1 revolution

= Circumference of wheel
=2xZ x175m
No. of revolution
11x1000
= ——— =1000
2xZx1.75
: : ci 100
(b) Radius of circle = Losumjerencs . S0
2m 2m
When a square is inscribed in the circle, diagonal
of the squre is equal to diameter of the circle
Thus, 100 100

Diagonal of square = 2 X - =
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80.

81.
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g _ Diagonal _ 100 _ 50vZ
Thus, side of square= = == =

(c) Letouter Radius =R
and inner Radius =r
2nR -2nr =132

2n(R-r) =132
132x7
Rt e =5 =21

Hence, width of path =21 meters

(b) / l \

28 cm

AN

side of squre papersheep

= V794 =28 cm
-2—7 ™m
== c

Thus, Circumference of each circular plate
=2nr

=2x22[/7x7
=44 cm

(c)

Circumm r

Circum radius
_ side

Thus, In radius of equilateral triangle
side 83
"Wz 23 oo
(b) radius of eachcircle =1 cm
with all the three centres an equilateral triangle of

side 1 cm is formed.
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area enclosed by conins = (Area of equilateral
triangle — 3x (area of sector of angle 60°)

2\1—3(2)(2)—3)(%)(?1'(1)(1)

=Bya—_3xixn
4 6
:(\/5
(b)

M is the c 3 =CM=r
AM

Perimeter

=120/4 = 30cm
= % =15¢;
Area of the circle = 2—72 X (radius)’

e 2
He X (15)

Side of the square =
Side

radius of the circle =

radius of in circle

Side __ 42
= _Zﬁ—21x/§ cm

area of incricle
22 (21)1
== =
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_ (E) 5 21x21
Ty 3 8
=22x21 =462cm?’

Diagonal of square = 8¥2 cm

85. 8. (b)A
1
X 5cm
whell of radius 20 cm no. of revolutions
distance to cover
circumference of wheel B c
= 270007, A4l isoceleus right traingle
2x22%20 Loy =5iz

86. fal Thus, X" +x 5

Area of trinagle

89.

In an equilatera triangel
. 2
side = v—g(Pﬁ- Py+ Ps3)

87 (c) gth of side:% (PL+Py+Ps)
2
—V—,—3,2(6+7+8)
:\TEX 21
O . g

"BV 3
=14V3 cm

90. (c) Remember : area of isoceleus triangle

= %az sin B (0 is angle between equal sides)
= = (10 xsin4s5°

_ o0 L 50,42
=S *ETE
=25v2 cm?

91. (a)

-
G=

Radius of circule =6 cm

. 62 x2
Area of smallest circle = A 12 it

Radius of smallest circle

=—'11:Tr = 2¥3cm

8V 8
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92. -

B vc
a’=4v3

2 =4x4
a =4cm

e

. R a
Circum radius = —= =

V3

Area of circle = iir?

al=

=70 ()2
=iz
16 2
= —mcm
3

93. (b)

Circumference — diameter = 30 cm

2nr—2r =30
2r(m-1) =30
30 307 .
r_z(Z_f_ 5 2xis . 1M
94. (b)
*
A

12 cn

5

=12cm

Thus, Length of perpendicular to hypotenuse to =

PerpendicularxBase

Hyopotence

12X5 60
= =— =4

13 13
95. (c¢) //.

8,
13

c

fl

e

C
24 (5)7=,/(14% + 25)
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A
v

Area of shaded region

= area of semicircle - area of trian
_r@?
Tf(a)zz 2 2 (T

=———a=a (E = 1) s

(c) According to question

n(R+1)’-nR’ =

n{(R+1)* -R%} =2

(R+1 +R)(R+1-R) = . =7

1
—;XaXZa

2R+1 =7 Y 3
R =3cm
(b)
7cm 14 cm
148 cm
radius of lartgest circle
_ breadth 1A ’
=y g rad

Area =2—:>< 7x7 =154 cm?

In radius of circle (r) =

i . I .1
side/v3 7
L _ ig
Area of circle=n (ﬁ]
22 4x4
=—X
7 3
_22x16
T2
=16.76

Required area
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3 5 22%16
(9 &)=
- (£ x 64-16.76)
= 16v3 — 16.76 > o
= 27.71—16.76
= 10.95cm? \_B/
99. (c) 30 : 72 : 78 ¢ ¢
5 : 12 : 13 4 4
So the trinagle is right tirangle The cone so formed after rotatin Sid
So, slant height of cone
=5¢cm
radius =4cm
30 78 Height = 3 cm
Thus, Volume of co
= % X 7 r*h
72 r =radius ¢
%x 3072 = %x aptitude X 72 h = height
altitude = 30 m Thus i ahe
100. (a) 2 X 4x3
6 1 chy’
1 )
X 2x
1 1
X
Perimeter of triangle 1
=42+ 4
X+Xx+V2x =4V2 +4 * 1 1
2X+V2Xx=4V2 + 4 Area of bounded region
X(2+V2) =4(v2+1) B ot Ly
X :% 4 2
Z = . 2
Hypotenuse = v2x ¢ (ﬁ 2)cm
~ 103. (a)
=/2x
nd B 3 A 2nr =11
e SreZ ot
x
R & Area of sector
A 0 2
=— X fr
360
60 . 22 5 7 i 7
- 3607 7 474
3 5 =0 = IE\':m2
104. (c) Letthe side of the triangle be 'a’ cm
" 5 a
5 i g -2 Clrcumradlus—ﬁ
Loo_a
cone is rotated about and In radius = 273
A
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107.

108.

109.

110.
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a? a?
- T[(?—E = 44
4g? — g2 44 x 7
— = )
2 12 22
32 -14
12
>a’=56
a =2v14
%Area=?x2\/14xam
= 14v3 cm’

(c) Side of square = Daimeter of the circle
nr’ = 9n

- r =3cm

— Side of squre =3x2 =6cm

> Area=6x6 =36cm’

(d) The given triangle is a right angled triangle

Pxb 8x6 24
i fh R = e = e =
— Side of the square - = -

576
-> Area of square= = cm’

: . . _8
(b) Radius of circumcirclel = 7 cm

Radius of incricle =
8 4

oW V3

- Required area =t (R’- r%)

_22 (64 16)
7 \3 3

Perimeter of squre = Circurzfe 4

cm
= 2nr =44
_(a4ax7n)
->r — — 7 cm .
> Area=nr’

=?x7x7
=154 cm’
(a) 2r+

(c) 2+mr =%nr
S>r(2+n) =nr
—4+2n=nr

Sr=242
4 4
- Diameter =2 (; + 2)
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. (b)
=Zx16=502 cm’
(c) Side of square=v121 =11cm
ce of cir 4
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=6=m
11
111. (1)

The angles of the given tinagle are 90°, 30°
and 60°

P 10

30°
B
P =10/2 =5
B =5v3
> Area==x5V3 x5
2
2543 4

112.

The sides of the given tiangle are 3,4 and 5 cm
rea =%>< 3 X=6cm’

lev2

Lo _16VZ
Other sides = . ol 16 cm

(as the A issosceles)
> Area:%x 16 X 16 = 128 cm?

15 14y ?az = 4v3

>a’ =16
2 a=4cm
116. (c)

Side of hexagon
_Side of equilatera tringle

S =2cm
Area of hexagon = % A= % x 4
=6v3 cm’
117 : _ 176
+ (a) The radius of park = oo
=28m
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121.

122,

123.
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- Area of road = (28 + 7)* -m(28)* = 28 m
- Area of road =m (35 + 28)(38 - 28)

=§x7x63 = 1386 m?

&)
=

INnAOMB MB =v(13*-12% =5
- AB =5x2 =10cm
(b) 4

4
4 4
4 4

Area of shaded portion
=8x8—mx4’

=64 - 167

= 16(4 — 1) cm”

R

Area orf shaded portion @
=6x6—m3’
=36-3n
=9 (4 - 1) cm? V'S
(c) Radius of incircle

1443
T

=7 cm

- Are %

124,

125

126.

T T

2\}‘_\/50"1

Area=rr’

www.jkchrome.com www.jkchrome.com
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=a=2cm
—3a =66cm
Circumference of circle =66 cm

2nr =66
_66x7 _ 21
To2x22 7 2
Area=mu’ = E><E><ﬂ
7 g 1
=346.5 cm’
(b) Area grazed by the cow

:-ﬂ.'?'

=—><—><7><7
2 7
=77 m?
S =26+320 +28 =42

Area of filed = V/s(s
=12 X Lo"ad x 2

=836m’

- R j

—b)(s—c)

B C
As P and Q are mid-point and PA
- A APQ - ABC

> AP/AB =PA/BC ==
>PQ ==

>BC =2PQ =2x5
=10cm

()

B C
AsPQ || BC
- A APQ - AABC
- APQis also an equilatera A

> AAPQ = ? (5)%
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%—254‘5 m?
127 (a) an =?(5}2
22x7 7
% " 222><22 ;E 7 77
->rtr2=?><5xz =T = 38.5cm
128. A
E &
B D C
ar AAOE =15cm’
ar BOFD =2 xar A AOE =30cm’
129. (b)

A
A
B C
2

ar ABE =arAACD=36cm
130. (a) The third side will be eit
-> Possible perimeter
=15x2 +22

=52 L 2
and 22 x2+15

131.
132.
>r = Sox22x2 =0.7
— Diameter = .14 cm
133. (b) 2nr _ 11000x100
11%100x7
=>r s el 35cm
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134.

135.

136.

138.
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(b)
Length of rubber band

=3d + 2nr
=30+ 10m
(c)
A" M \_B
_i 8
15
0
8
C N
In A OMB
0B =V(15*+8%) =1Zcm

OB =0D = radius

In A OND
ND =v(17® ¢

3+99 =162 cm
c) A
=
B D E '3
In triangle AFB
AF | BC
AF* = AB*—FB> =100=25
AF =5vV3

In triangle ADF
AD’ = AF’ +BF’
AD'= 75+ (5 +3)°

(c) Letsides of trangel are, a,b, and c respectively
Thus, Largest side given =17 cm
= Perimeter =a + b + c =40 cm (given)
area =60 cm’ (given)
In such questions take the help of triplets which
from right angle trinangle

A

e
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140.

141.

142.

143.

144.
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3,45
6, 8, 10 8 17
8,15, 17
etc.
B C
15

So, here we have a side 17 cm

-» by triplet we git sides 8 and 15

- check the sides periemter =8 + 15+ 17 =40
Area:%xﬁx 15 =60

Hence sides are 15,8

smaller side =8 cm
(b) 2 2

2 2

Area of shaded region

=(4)*-n(2)’ = 16 -4n cm’
(c) Let the side of the triangle be a
-» Perimeter = 3a
3a = (Za) v3

3

3= Za

a =4 units
(a)
Areaof A =—
(b)
Area of A=
; (Area of A formed

Iﬂ

o

edian'as side)
= 4(1 9x12 ¢
= Hlge B
(Thus, 9,12,
=2x54 =
3

(a) 3x
X V

iplet )

. equal to one)
inates of A
= (0,3),(2,0), (0,0).
Area ofﬂ=% x 3% 2 = 3units’
(a)

Let each side of the triangle be a units

—>§ (a+2% -a%) = 3+v3

www.jkchrome.com
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145.

146.

147.

148.

149.

150.
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i(aZ +4+4a-2a2) =1+V3
=§(4+4a) =1+v3

1+a=1+vV3

a =V3 units

i & 9+1g+11 -15

Area=+s(s =9)(s = 10)(s —11)
=1V1516 x5 X

=/1800 = 30V2 cm?
(C) Let the length of each e 0
unit
- % V(4a®
v(4a’-4) 8
43’ -4 =64
a’-1 =16
&t -1=1

-4) =

er two sides
=32-11 =21

da-b =5
2145

a= =13 cm

Sides of the A 13 cm
S = 13+8+11
2

- Area

=11, 8,
=16

V16(16 —13)(16 —8)(16 - 11)

=V(16x3 x 8 x5)
=8v30 cm’
(b)
Area of A % a’ :?x (2)*
v3cm’
(a) Let the original radius
=rcm
Sn(r+1)-r* =22
P a1+2r - =222 o7
22
2r+1 =7
r =3cm

(a) Area of two circles = (5% + 127)
= 1691

Snr =169n

r’ =169

ch side be a
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152.

153,

154,

155.
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r=13cm
Thus, Radius of thir circlel =13 cm
(d) Let the radius of the semicircle be =r
>2r+mr =36
r(2+m =

r(2+2—:) =36

* (376) =86
- Area =%ﬂ

_22X7x7 77 m?
T2
(b) Side of squgre=v2 m

= Diameter of circle

; s V2L

—> Radius of circle = =
2 Bk
Thus, Area —22/7x(\[_) ==m
(d) k
k
Side of AABC =10, 14, 12
§ = 10+124+12 =18
Area=./s(s —a)(s = b)(s — ¢)
=1IBx8x4x%x6
= 24V6 cm? ’

(a) Check tripletes

3,4,5

6, 8,10

7,24, 25

- 7,24,25 ful fill the given conditions

www.jkchrome.com
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156.

157,

158.

159,

www.jkchrome.com

area==x24x7 =84cm’
Perimeter

(c) Length of median = ?a
=6V3

=a=12cm
Thus, Perimeter =12 x3 =36 cm
(a) Area of equilateral A

Thus, Perimeter = 4 X 3=

(a) Distance covere 3

= BAT x—2.= 5045t

llgear =2mr x42

ig gear

of semi-circle= 2r+mnr =r(2+r)

erimeter of circle = 2mr

Q 2(18 + 26)

161.

162.

163.

www.jkchrome.com

=88 cm
=nr =44cm
r=14cm
Thus, Area of circle = 2—7_2 X 14 x 14 = 616 cm’
(a)
Area of circle = 38.5 cm’

nr’ = 38.5
2_ 38,57

22
r =7/2 cm
Cricumference of a circle = 2mr

2><2—72 x- =22cm

(c) Dlameter of circle
Dm;g/;nal _ 13«%@ =A%
Radius of circle = 12—2 =6cm

Radius of circumcircle of equilaternal A
=a/Vv3
- a =Radius xV3 =6V3

cm
c
\3)(+4y =12

by

't
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165.

166.

167.
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(4,0)

168.
3x+4y—-12
3x 4y {
12" 18
Thus, Divide by 12 on both sides make
RHS. =1
X Yy
-t =1
4 3
Thus, Cordinates of point A =(0,3)

Point B = (4,0)
Area of A OAB =%x 4 x3 =6sg. units
(c) hight of equilateral A =15cm

_ ﬁ(lsxz)z _ V3 225x4

T a3 T4 3
=75vV3 cm’

(b) 3/4 (side)’ = 9v4

(side)’=9x4 =36

side =v36 =6cm .

Length of median = V3/2 (si

=§x6 =3v3cm

Note: In an equilatera tr
angle bisector, altitu

gle, length of median,

169.
al to v3/2 sides

(c) Clearly,
12 cm, 16 cm an rom a triplet
3 4 triplet

1 20 - triplet

They from a right triangle

area of triangle = %x 16 x12 =96 cm’
(c) 8 _360 _36
X2 250 25

www.jkchrome.com www.jkchrome.com
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=1
[a%]
L B

¥ =

Note: The ratio of area of two similar triangles is
equal to the ratio fo square of their corresponding
sides.

(d)

A

B S
AB = AC =§Bc
AB + BC + 4 ¢

204
AB = AC =§x 204 = 140 cm

Area of A ABC = b/4 V/(4a’ - b?)

Thus, Where = equal side

b = base

=22 V4[(170)” - (204))"

=51 V(115650 - 41616)

=51v73984

=51x272

= 13872 cm’

(d)

D
AB =AC=acm
BD =DC =bcm
Altitude of isoscles triangel is also median
Inright A ADC
AD’ =a’ -b’
64 =a* -b? ... (i)

Perimeter =64
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+a+2b=64 i _,a _a
ata Thus, Diagonal of square 22\5 =
2a+2b =64 N p = Diagonal _a _ a
a+b =32 . (il) ow, v ="rn - "B T

N a?— p? 64 342
On dividing ( s ) - Required ratio = (Tia)z = ?aa x 6/a’
Thus, a®— b? =(a+b)(a-b) 5 Ve
a-bh =2 = SEVI: 2
a+h= 32 173. (¢
Onsolvinga=17, b =15 Let the side of equilateral triangle
area of A ABC =%><8 x 30 =120 cm® =s
170. (a) Area of equilateral = gsz
A
L 4
s
x=AB=b+c
y=BC=a+bhb
z=AC =a+c ¢
Thus, semi-perimeter,s
_ AB+BC+AC _ 2a+2b+2c
2
atb+c eight of equilateral triangle

Vs =x)(s=y)(s=2)] V3

=y(a + b + c)abc 2 ° 5

171. (d)mR’= mn(10)% + 1t (24)? 2 E) 32 5 7
R?= 10° +24% =100 +576 il - Rl
R =V676 4 *

=26cm 23 174. (c)

172. (c) A A D
L 4
. B 5 C E F
3 3 5 4
A ABC - ADEF
[ar(AABC)] 37
[ar(ADEF)] =~ 42
C _54 :i
ar (ADEF) 16
. 2 _ . ar(ADEF =222 = 96 cm?
Let the side of equilateral triangle = ‘a i [ (AABC)? 52
. R A . _ar = —
:emd. the snde_- of square = b (b) TorGoEE] — 7
in circle radius of equilateral A 20 25
a — T —
e 45 DE?
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DE? = 452’;25 =% =2 X 2xPQ x0Q
vV - _ 2
DE=ﬁ=1—5=7.5Cﬂ’1 =12x5 =60cm
5 4 2 178.
- C

AB = AC triangle drawn from the same point equal

OB=0C =3cm

OA =12 cm nr =66

¢ABO = £ACO = 90° _

In right AABO R=1) 66 6655x7 21

AB =v(122 -32) =135 BBy T
15 % = 1 wil = &

V(5% 9) =3vV15 idth = 10.5

arABOC=2xar(ABO)=2x%xAon 79. (a)

~3vV15X 3 = 915 cm? Perimeter of the circle =
Circumference of circle =

Let ‘R’ be the radius

177.

ATQ

2nR—2R =x

2R (m-1) =x

_ X

2R =D

Diameter = —
=1

P Thus, 2R = Diameter of the circle
180.
R a

i )

£0QP = £0ORP =90°

(radius is | tangent)

and PQ = PR (tangent drawn from same point
are equal)

PQ = V(OP)2 -(0Q)? =V(133 -52) =12

ar of (PQOR) = 2 x ar (PQO)
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Let the side of equilateral triangle = ‘a’
. o y a
Thus, Circumcircle radius = pi

Area of circumcircle =1t [%]2 =na’/3
na’/3 = 3n
a’=9.a=3
Perimeter=3xa=3x3 =9cm
181. (a)

72°\r

88X7X360 _

T2X2%22
182. (A)

www.jkchrome.com
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B C
20m
Thus 15, 20, 25 from a triplet
Clearly, 25% =15% +20°
ABC is aright triangle

Area of Right AABC = % x AB x BC
= % x 15 x 20

=150

Cost of sowing seeds = 150 x5 0

184. (a)

OA = 17cm
Radius of circle = 17¢m
85. (¢)
A

12 cm

Since, 9, 12, 15 forms a triplet

area of A ABC =%x9x 12 =54cm’
In circle radius of triangle
area of triangle

- Semiperimeter of triangle

54 _ 54x2
= S¥istiz 36 3cm
2
Alternate:
In a right triangle, with , P, B and H incircle radius

_P+B=H

2
9412 —15 6
Hence, r = el - 3cm
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188.
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. . . H 15
Also circum circle radius = g 7.5 cm

www.jkchrome.com
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B B C
| SUnAABC and AA'B'C

2
N

a2 a

V2

AN

C =2«C (common)
= /B (Thus, AB || AB)
AABC - AA'BC

AN

e

Let the side of square = a

" . . a
in circle radius of square = o
; ; : Diagonal  avZ
Circumcircle radius of square = QT ===
a
Incircle radius 5 1
Thus, Circumcircle radius =~ WZ 2
2
sdav2

(d)

Hence, ABC is the equilatera

AB=BC =AC ="2a’cm
area of A ABC =?(Za)2 == 4
=v3a®"

area of 3 sectors of
60°

ion = area of A ABC -Area

www.jkchrome.com

— (Areaa.q’ﬂ’c') ¥ B’_C)Z
lareaAAEC BC

= ()2 =%

Gy =4

—arA A'B'C

(b) Perimeter of squéare

= %(Area /
189.
Area of square = (?

Circumferen f circle =
_22x7
T2
- A nr =2—?2 % (7}
cm,
quired difference = 154 - 121 =33 cm

c

1
2a < E B
iangle O
2

£ ACB =90°
AC:BC =3:4
AB? =+(AC2 + BC2) =+(32+ 42) =5 units
5units=5cm

Thus, ar A ABC =§x 3x4 =6cm?

(a)

(angle in semi-circle)

191.

£

www.jkchrome.com
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ar & ABC =§ X 6 X 8 = 24 cm’
A ABC - A MCN

£C =2C

tM=2sB (Thus MN]| | AB)
arACMN CMyy _ A3 _

Thus, dr A ABC (E) '(2)

aroMNAB = 1—4 x3 =18 cm?
(a)

ol [
- L

24 cm
Inradius of an equilateral triangle
side
= 3 ? =43 cm

Area of equilatera triangle
= ? x (side)” =v3/4 x24 x 24
=V3xb6x24
=144 v3 cm’
=144 x 1,732
= 249.408 cm’
Now, Area of incircle
= % X (Inradius)’

=2?—2x4\/§><4\/§

_ 22X16X3 _ (1056)
“\ 7

7
=150.86 cm’

www.jkchrome.com
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194.

S

195,
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B 24 C
LABC =907
AC =\/(ABE) + (BC?) = \f(322) + (242)
=+/(1024 + 576)
=v1600 =40m
Now, area of A ABC
=% x AB x BC
=1 %32 %24 =384cm?
Now, in A ADC,
& 25+225+40 ol
area of A ADC =+/s(s — + c)
=/45(45 — 25)(45 —
=+/45 x 20 x 20 X x3x5
= 300 m?
Area of the plot
= 3841 + = 684 m?

(c)

<

B b [

Lengthof perpendicular drawn from the right angle

hypotenuse,
axb

P_.—

Pz___ a? b?
—r

2= a?p?

P

(Thus, H*=a? + b?)

al+ b

(a)

Diameter of the circle = AB=8 +4 =12 units
Raduys = Z = 6units

Thus, Area of circle
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199,

200.

201.
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=nr’ =mx(6)
= 36 sq.units
(@) 2 (side) =side)’

side = 2 units
(a) Let the ;emgtj pf sode pf sqiare= a
Let the diameter of circle = d
According to the question,
a=d

Area of square a?

Thus, =

Area of circle n(dz)

_(a?x4) _ (a?x4)
T md: ma?

B g

w22 T 11

- 14 : 11

(d) Length of median of an equilateral triangle
=§(side)

Length of median, altitude, and angle bisector is

=V3/2 (side)

Thus, ? a
N

Thus, Areaof AABC = ? a?

=By 12x12

=vV3x3x12 =36V3 cm?
(b) mr? =2nr
r =2 units
Thus, Area of circle = r(2)*
=4 115q. units
(d) Area of equilateral triangl

= ?{side]2

-2 (side” =
(side)’ = (48
side = 64 ( ;
(b)

=6v3

=12cm

48

www.jkchrome.com
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202.

203.

205.
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R

2nR -2mr =33
_ 33 _33x7 _ 37 21

(R-r)=—= === ==
2 2X22 2x2 4

thickness =5.25m

(b) Ratio =5: 6 : 7

Sum of sides = perimeter

=18

sides, =X 54 =15 5, =1
18 18

% X 54 = 21 meter
_ (15+18+21)

(s =b)(s=c)

(a) Circumference o

=m x diame

=2 %11 cm
s

2(1+

Perimeter of equilateral triangle
18
3 xside =18 cm
; 5
side = 6cm

Length of median = ? side

V3

=—xX6
2
=3V3 cm

(a)

Circumference of paper sheet

=352
2nR =352
=E — 352x7 = BE S
2 2x22
R 56
r —; —? =28 cm
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. Thus, Circumference of circular plate =2nr
=2xZx 28
=176 cm
(a) Inradius of equilatera triangle
N
Side

V3 = G

side =6cm
perimeter of of equilateral triangle=3x6 =18cm
(b) Circumference of circle = nd
Thus, d -d =150
d(r-1) =150
d(z—:— 1) =150
dx= =150
=157 _ 49

' d 70

Radaus=5 . =35m
(b)
Let radius of circle =r

Side of square = a
Side of equilateral A=b
According to question,

2nR =4a =3b

Thus, a =— b ==1R

Ratio of their areas

nRe o (B . B 2gpy
2 4 3
1 - E _3}-[ ‘
4 9
cC: S i
Here, we can see that @S>

T
m(—:%r two or more
re who has more

a. Since, here, circle has

Quicker approach:
figures are same
vertex is greate
infinite ver

ered in 1 revolution
ference of circular field = 2nr
Distance = Speed x Time

=66 m/s xgs =165m
Thus, 2 ir = 165
ZX%xr =165

www.jkchrome.com

TR 2
2 3
nR? : a’ ? b’ < l
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210.

211.

212,

213.
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= 18%7  _26.25m
2x22

(c) Circumference of front wheel

x no. of its revolutions= circumference of rear
wheal

% no. of its revolutions

2nxxn =2nxyxm (let ‘m’ is the revolution of

rear wheel)
mx
m =—
y
(b) Distance to be covered in ongyrevoldtion =
Circumference of wheel =
=2 x56 =176 cm
Total distance = 2.2
=(2.2 x 1000 x 100)
=220000 cm
Thus, Nu rev@lutions === = 1250
(b)
a
G
-
B | C
a

We know that in an equ7ilateral trinagle a median
also be a altitude
—Altitude of an equilateral triangle

V3

2

- ga =12v3

—a=24cm

- Then ara of an equilatera triangle
V3 s

=— 3
4

=§X24X24

= 144v3 cm’
(d) Leta triangle ABC has sides of measurement
3cm, 4cm, and 5cm
- A ABC will be a right angled tri-angle

= Inner radius of circle C,
_AB+BC —CA  _ 4+3=5
- 2 -2

(given)
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=r=1cm

1

4

—>Circum-radius of cirlce = C,
_ Hypotenuse

- 2
In a right angled triangle half of hypotenuse is
circum
radius

R = =2.5cm
2

Araof€l a2, 2 _ 24507 _ 4
Area of C2 —T[r/l'[l’ MI/(Z) 25

(d) Let the radius of swinmming pool
=R

Oute
According to question,

dius of Pool with concrete wall = (R + 4)

nRxgz m(R+4)* -nR?
R x% —R? +16+8R - R?
=%R2= 16 + 8R

www.jkchrome.com
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215.

216.
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11R* -200R -400 =0

By option (d), In such type of equation go through
the option to save your valuable time

R =20

11x 20> -200x 20 -400 =0

4400 -4000 -400 =0

0 =0
Therefore, radius of poolR =20c¢
(d) A

3x

B ¢ C

- Perimeter of triangle =
3x+4x+5x =12x
=12x36

=432 cm Ans.

(b)

90°
I

o4
-

A 4

According to the firgure,

- Perimeter = r +r+|

3—-> 75cm = 2r + Length of arc
22%r

- 75¢m = 2r +

Tx2
= r=21cm
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> ttsarea= % (Zx 21 x 21)

=346.5 cm’
217.

According to the question,
Here OD = radius,

a 8
ThUS, F »m ——m
r =4/¥3

Required area of slided portion
=B g iyt
mem X~ (\E)
L2
T4
= v3x16-2xL
773
=10.95 m’
=11 m?

16
X 64 —nx?

218.

Area of the sector OAB

g 45
= Xx—— =MIXx3 X3 x—
360 360
9 2
8

So, Area of shaded protion = Area of OED — Area of

OAB

www.jkchrome.com
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219.

220.

221.
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9 16m—9m
=2 -=n=
8 8
7 7., 22 11 =
== = — = —m
8 8 7 4

(d) According to the question,
Circumference of a circle= 2 tsr

30
2nr =—
T

r = 15/m?

D=2 =30/n

(b) According to the question
D =728m

d =700 m
The breadth of the path
=(R-r)
= (364 —350) cm
=14 cm

(c)

According to the questions

r=84cm
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a =7?
Let the length of side of the square be a cm

Circumference c =4a (Peimeter square) =2mr =

4a

=2x % x84 =4a

132cm =a

(a) Area of circle= 324 it cm?
nr’ =324n

r =18 cm

Longest chord = diameter = 2r
=2x18
=36cm

(c) Circumference ofaA=24cm

at+b+c=24cm
a+b+c

222.

223.
orS = =12cm

Cricumference of incircle
2nr (Inner) =14 cm
Areaof A=Sxr (inner)
=12x7 =84cm’

(b) Areaof A= % ab sin@

=§ x 10 x 10 X Sin45°

=25v2 cm?

(a) Accroding to the question
A

r=-=
5

Semiperimeter = 52—0 = 25

224,

225,

Inner radius =

(Semiperimeter)

226.

www.jkchrome.com
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227.

228.
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] 15°

B C
in15e =£ -48
Sin 15 TR
AB =S5in15°
- _B_BC
Cos15 =
BC = Cos15°

Area of AABC :i x AB x BC

= % X 5in15° cos15°

= %xginZ % 15 [Thus, sin 0 cosf)]
mdaid o bt
=15 T gm

=%x100x100 =050

g

) 4

B &
b
AB=AC=a
BC=b
Thus, § = &4+2
S =a+%
Area= vs(s —a)(s=b)(s =)
Area =

J(a+§)(a+§— a)(a +2- a)(a+§_ b)
wes= e+ Q@) (a-3)

Area =b/2v(a’ - b’/ 4)
Area = % \/(az—bz) sq. units
(c) Aswe know circum centre always made by the

intersection of half altitude
- In obtuse angle it will always be out.
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D = Circum centre
(a) According to the question,
2nr = Circumference

2r = Diameter
2nr 22

2r 7
12 22
> i
2r 7

11 22

7>§12r = 7
& it
r 1

R =-
— 4m

(b) Given

- Area of square =4

Side” =4

side =2

—> Diagonal of square = radius of circle
V2 side =r

=>r =2v2

- Area of circle =m r’

S>nx(2V2)° = 8w cm’

bisect each other at 90°
s i B
2
x

D

Thus, AB =@{l6)5.+ (12)" =v400 =20cm

= side gf rh

Thus, PReri of the rhombus =20x4 =80cm

d d, are the lengths of diagonals of

Perimeter = 2v(d,? +d,?)
=2v(24% +10%)

=2V676

=2x26 =52¢cm

(c) 4 xside=40cm
(given)

www.jkchrome.com
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—>side=":°= 10 cm

D G
6cm
10 cm 10 cm
m
A B
In A AOB,
OB =V(10’-6?)
=y(100 - 36)
='64 =8cm

Diagonal BD=8x2 =

234,

B C
4 x side of rhombus =40m
(a) side of rhombus =10 m
We know that rhombus is parallegogram Since rhombus isalsoa parallfelogram
. ; Therefore its area = base x height
whose all four sides area equal and its diagon

=10x5 =50 m?
235. D 5
10
o
[
A B
10
Perimeter of Rhombus =40cm
4 x side = 40
side=10cm

We know that diagonals of rhombus bisect each
other at right angle,
Therefore, In right A OAB
OB® =AB’ - OA?
=10°-6* =100-36 =64
OB =v64 = 8cm
Diagonal BD =2 x0B=2x8
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=16cm
Alternative:
Side of rhombus

= =\/(d,*+d,)
10 =§J(12}2 -
20 =V144 + d,°
144 + d,” = 400
d,’ =400 - 144 =256
d; =v256 =16cm
236. (b) diagonal=d; = 10cm
Area of Rhombus =150
%xdlx d, =150
%x 10 x d> = 150
150x2
dzz

10
237. (a)

=30cm

— >
1
A regular hexagon consists of 6 equilater
area of regular hexagon
=6x g (side)®

N L 2

6x—a
4

=6 xgx (2v3)?

=6><§ x12 =18v¥

238.

239. (a)

www.jkchrome.com
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240.

242,

243.
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6.5

(Thus, Rhombusisa | | gm, Thus, Area of
Rhombus = Base x Heinght)

Area of Rhombus = Base x Height
=6.5x10 =65cm’

Also area of Rhombus = % X d;xd;

=§x26xd2 =65
=13xd, =65
d2=5cm

A

C
ve figure A ADC is equilateral triangel (as
ngle bisector)

AC =10 cm (smaller diagonal)

Side of rhombus

100
= =25cm

We know that in a rhhombus = 4a’ =d.* +d,?
?d,’=4x25" -14°= 2500196
=2304
= d,=V2304 =48 cm
- Area= % xXd; xd,;
=%x 14 x 48 = 336 cm?
(d) Let the parallel sides be 3x and 2x
-2 (3x +2x) x 15 = 450
- 5x=60
X =12
> Sum of length of parallel sides
=(3+2)x12 =60cm
(c) A B
15

D C

Using Hero’s formula
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15+7+20
S o =21lcm

Area of A ABC
=/[21(21 = 20)(21 = 7)(21 = 15)]
=J(21x1x14%6)
=42 cm’
- Areaof o ABCD=4212=84cm’
(b) Area of parallelogram = 1000 units®
Let the altitude on smaller side = x units
- 5x20 =1000
100 units - 1000
1 unit 10
- Greater side=10x5
=50 units
and smaller side =10 x4 =40 units
- 40 x x =1000 units
- x =25 units
(b)) A B
10 60°

10

D C

as 0 ABCD is a rhombus
Thus, A is equilateral

=25vV3 cm?
S aroABCD =25v3x2 &
=50vV3 cm’
(b)
¢
B
F/ 7 12
o >~
5 *> c
E 18

www.jkchrome.com

—)arnABC=§ x10x 10 O:
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247.

248.

249.
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Area of parallegogramm

=BCxFC=15x12 =180 cm’

Area of parallegogram =

DCxAE =180

18 x AE =180

AE = 10cm

Thus, Distance between bigger side
=10cm

ea of Parallelogram = AE x DC =10 x 24 =240
2

Also, area of Parallelogram = FC x AD =10 x 24
=240 cm’

FC x16 =240
FC =15
Thus, Distance between AD and BC = 15 cm
cm
A 36 B
27
Ef ¥ T
|
D E C

Area of parallegogram

= AE x DC

=CFxAD

AE x 36 =12 x 27

=AE =8 cm

Thus, Distance between bigger sides =9 cm
(a) Inarhombus

www.jkchrome.com
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dat =d;® +ds?
43’ =8’ +6’

www.jkchrome.com

- Side of square =5 cm

Thus, Area of square = 25 cm

250. (b)

2

Area 0 ABDE =3 xarA ADC
(ADC is equilateral triangle)

V3

3x=x2° =3v3unit’
251 (d) side of thombus = 2>

=5cm
A D
< AC =8 cm

B 5 o
OC =4cm
In Right A OBC
oB* =BC*-0C 2 3
=5 -4*=9
OB =v9 =3
BD =2x0B =2x3 =6 P

Area of Rbombus
= % XB8X6
Note :in th

not get confused with the
its simply to clear that it is

www.jkchrome.com
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253.

254,
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Side of Rhombus === = 25 cm
Let BD = 40 cm
OB =20cm
In right A OBC
0oC* =BC* -0B?
OC =v25% -20> =15cm
Thus, AC=2x0C =2x15 =30cm
Area =§x BD x AC

:%x BD X AC

=§><40><30 = 600 ¢

AN l

Thus, DE | | AC
Thus, BDE - ABAC
ar(BDE) =ik
ar(BAC) = 22/52 2_5
ar (trap ACED ) =ar(BAC) - ar(BDE)
=25-4 =21
ar(ACED) _ 21

Thus, = =21:4
ar(BDE) 4
(c)
D c
o
h) (
A B
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Thus, AB=2CD
AB 2

7.
ar(A0B) _ 2o _ 4 _ ..
ar(cop) (1} 1 43l
Thus, AAOB - ACOD
(d) .

Let AC =4x and BD =3x
Thus, OA=2x and OB :3?::
In Right A OAB

VI + ()] =40

4x* +9x°/2 =40% =1600
16x" +9x” = 1600 x 4

25x* = 6400
2 _ 6400
25
% =v'64-00 =ﬂ =16
25 5

Thus, Ac=4x=4x16 =64
BD =3x =3x16 =48
area=§><AC X BD

=§ X 64 x 48
= 1536 cm’ Y
(a)

in DCQ
cQ

ZA 2DQC

BC =CQ

AAABC = ADCQ

arA ABC = arADCQ

(c) D Q C

C

www.jkchrome.com

www.jkchrome.com

40

40

(\_,&\&
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N 0 P
12
=]
i

A M B A
B
ara of ABCD =24 ar (ABC
Draw QM and PN and inte e 0

aro POQC:%X 24=6
Thus, area PQC=% 6 =

PQC =3
¥

1

QMAD =
QAD :lx —

(A _3

ABCD) 24 8
us, Alwaysitwillbe3:8
(b) A

C
Letd;, =24 cm
area of Rhombus = 216

%x dixd;, =216
d, = %x24><d2= 216

d, =222 —18cm

24
OA = lxd1=§x24 =12 cm
Thus,

Diagonals of Rhombus bisect each other at right
angle
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OD ==xd, ==x 18 =9 cm
Now, Inright AAOB

AD’= AO’+0D” =12,+9,
=144+ 81 =225

AD =v225 =15cm

Thus, Perimeter of Rhombus

=4 x AD
=4 x15 =60 cm
(a) A D
0]
90°
Ry 2
B 8 C

Let £« ABC = 60"

£0BC = 30°

Thus, Diagonals of Rhombus area the angle
bisectors

Inright A BOC

Thus, BD =2 x OB

=2 X 4V3 TS
=8vV3cm
() ) A D
L 4
9]
10 L&
AC =4B, BD = 12cm

Thus, OA=8cm, OB=6cm

Thus, Diagonals of rhombus bisect each other at
20°

In right A OAB

AB’ =0A> + 0B’

www.jkchrome.com

22 =Cos 30°
BC

0B _\3

g8 2
OB = 4+/3

www.jkchrome.com

261.

262.
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82+6%2 =100
AB= 2100 =10 cm
(b)
A 60 B

D 60

S (AABD) =

ard ABD
= /90(90 — 80)(90 — 60)(90 — 40)
= /90 x 9 = 300V15m?
arnAB aglABD = 60015 m?
(c) D
0
b 3

i

2
side of Rhombus = m =¥ = g
Let, AC=2a
thus, OA=0C=a
CD=2b
OB=0D=h
In right A OBC,
a’ +b’ =PT2
42° +4b° =p* .. (i)

Also, 2a+2b =m

On squareing, 4a° +4b* +2ab =m
43’ +4b’ =m’ - 8ab

from (i) and (ii)

m? -8ab =P,
8ab =m’ -P’
4x(2ab) =m* -p?
2ab = %{m2 -p?)

Area of Rhombus
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=1/2xs1 xd2 =§x 2a % 2b
=2ab =%(m2 -P?)
(b) A

/

B C

Thus, DE || BC
Thus, £ADE = £ABC and £AED= £LAEB
Thus, AADE - AABC

ar(ADE) . 22/52 - 4
ar(ABC) 25
Thus, Area DECB = Area(ABC) -area (ADE)

=25-4 =21

(ar ADECB) _ 21
Thus, arAABC 25
(a)
A B
L
D 2
AB=BC=CD =DA =
BD=16cm
In A ODC
oD =8, C=90°

D2 - OD2) =+/(102- 82)

. Area of Rhombus ABCD = %dl X dp
12 =96 cm?

Area if trapezium
== (6+8) x4 =>x14x4
=28 cm’
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267.

268.
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B C
Thus, OB=0D=16and OA=0 2
(Diaggonals of Rhombus bi h
In A OBC,
BC’ =0B*+0C’ =1
BC=v400 =20cm
Perimeter=2014 =

(a) ‘4)( c

er at 90°)

A N 4x M B

v

7x
area =
%(sum of parallel sides ) X
distance between them

1
5 (7x + 4x x 2x) = 176

11x°*=176 > x* =16
X =4

AB =7x4 = 28cm
CD =4x4 =16cm
CM =2x4=8cm

AM = AN + NM

- AN +16

>6+16 =22(AN=BM ===6
AC’ = CM? + AM?

AC? =8% +227

AC =64+ 484 — /548 — 2137
(c)
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ABCD is a rhombus
AB=6= =15cm
(Perimeter = 60 cm)

AC =24

AP =12

[Diagnonals of rhombus bisect perpendicularly]
In A APB

AB =15, AP=12

Thus, BP=9

(By pythagoras theorm)
Bd=9x2 =18

Area of rhombus

= % X Diagonal; x diagonal,
= =x 18 x 24

- 216sgcm
(d) LetABCDis || gm

|| Gm area of ABCD =1+ area of ADC Z
Fro area of (ADC)
A 30 cm B
274,
2| g O

www.jkchrome.com

271.

272,

20cm 20cm
L 4
D 20 cm C 275.
276.

d1 =x & dz =2x
Area of rhombus = %dl d,

1
256 ==(x)(2x)

2 277
Longer diagonal = 2x = 2 =32cm :

www.jkchrome.com
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(b) A 15cm B

h
D 20cm
As we know

-> Area of trapezium

= %(sum of parallel sid

>175 =§(20+15 h

ight

)
.......... (ii)

Area of Room =100 x 3 =300 m?

Carpet Length = 300;;100 = 600 cm

Cost of Carpet =15 x 600 = 9000

(a) Old expenditure = 1000

Increase in area = 50 x 20 m’

Increase in expenditure =50 x 20 x 25 =250
- New expenditure = 1000 + 250 =1250
(d) Area of veramdhah =

(25+3.5) % (15+3.5)—25x 15
=527.25~-375 =152.25m’

cost of flooring =152.25 x 27.5 =Rs. 4186.50
(app.)

(b) 2mR; =528

>2xZ xR, =528

-2 R;=84m
- New Radius=R; -K =R;
>R, =84-14 =70

New RadiusR; = 84—-14 =70
Area of Road = nt(R;* - R,’)
- 1% 14(154)
- Total expenditure
%%x 14 % 154 x 10 = Rs. 67760
(b) Since the ratio of length and breadth =3:2
Let length of rectangular field = 3x
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Breadth of rectangular field = 2x 3= SLEIORE) g
Perimeter of the filed = 80 m i
2(1+b) =80 % =34
g Thus, Altitude=4x14 =56cm
2 (2x+3x) =80 : :
281. (c) According to question,
2x5x =80 . . .
80 Ratio of sides of triangle are =
xsp = & ¥ 1l
then breath = 2x 2°'3°2
=2x8 =16cm (Take LC M of 2, 3, and 4 which i
278. (c) Since the sides of a rectangular plot are in the Now, 6x +4x+3x =52
ratio =5:4 13x =52
Let the length of rectangular field = 5x X =4
and the breadth of rectangualr field = 4x Thus, Length of smallests 3x4 =12cm
According to tquestion = 282. (c) Let diagonals the@x and
2
Area =500 m i A [% x (2x)
S5x x 4x =500 m 5 . P T
= 22 =25 ’ B
X =5 - 4: 25
Length =5x =5x5 =25m 283. (c) b
Breadth= 4x=4x5 =20m
Perimeter of the rectangle = 2 (25 + 20)
=2x45 =90m
279. (d) C h1 h2
1 - 7 > - § >
[7 % hl X% X] a
O %x h2 Xy b
LA T . B
hz "y b’ hz ~ bx
ay : bx

284. (a) Ratio of parallel sides=5:3
Let sides are 5x and 3x

% (sum of parallel sides) x Perpendicular
distance = 1440 m’

1
E(Sx +3x) x 24 = 1440

4x x 24 =1440
1840 _ g
280 4x24 _
x Thus, Length of longer side = 5x
= =5x15
Let the base = 3x =75m
Altitude = 4x 285. (C}

Thus, Area of triangle = 1176
]
Ex?:x x4x =1176
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e -3

i a 22
LetR=23x ,s =22x
22 228 Thus,R—r=5
a;" /a," = = 23x—-22x =5
— \f225265 =% Sr=22x%x5 =110
g s Diameter of inner circle = 2r
i =2x110
—4a1/432— aif/a, = =220m

=15 289.
286. (d) Ciearly, 3,4, 5, from a triplet therefore,

consider the triangle, a right triangle

Let the sides are 3, 4, 5 triplet

Perimeter = 3x + 4x + 5x = 12x

. 1
area of triangle = S X3x X4x =

%x 3x X 4x =216
5 216X2

BECTR 36
X =V36 =6
thus, Perimeter= 12x6 =72cm
287. (a)
Ket tge sude if sqyare = a
Thus, Diagonal = av2
(@’ +a%) /av2}
Area of square on diagonal
AReaof square on diagonal
¢ a? a? 1

Perimeter of rectangle = circu re of circlare 2 T3 = g

wire av2 o 2 .
=1 2

22 i

22x =2x22x6

X =12

Clearly,

Smaller side of.r gle=5x12 =60cm

288. (c)
a a a
a
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area of square

area of equilateral triangle
a2

% az = \% =43
291. 5
a
a
n’ =a,
rZ = a_z
o
il
r=7 2
Rato of perimeter = —
nr 4a
2a
T X
= N = ﬁ = ‘\/E 2
2a 2
292.
h, Ky
4 A
) al = 2
V3
T 25 R
V3, 6
4 %2
a; V25
- af 6
- 'V@ vl'i
o~ 5= [F o] /7 el
a’ il g 16
a2
293. length = 5x
5 Breadth s 58255% _ gy
Thus, Required ratio = :—i
=513
204. (o)

www.jkchrome.com

www.jkchrome.com

295.

296.

300.

301.

302.
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the old triangle are half of the op
Thus, Required ratio=2:
(b)

Circumference _ 3 z
Area i Gl r 3 %
(b) Ratio of area=(R radius)® = (ﬂ,@)2
EY:
2
atio of Radius)?
A B C
' E : 1
6 : 4 1

Ratio of sides = l:l =
3°4°5

=20:15 : 12

=20+15+12 =47

> 47 > 94

-1 =>2

- Smallestside=12x2 =24 cm

(a) Letthesides be = 3x, 4x, 5x, and 6x
218 =272, x = 4

- Greatestside=6x4 =24 cm

(b) Ratio of circumference = Ratio of radius
=3:4

(b)

Let the sides be = 2x, 3x and 4x

> 9% =18=x=12

—> Sidesare 4,6, and8cm respectively

Using hero’s formula
g - 4618

2
> Area= (y[s(s —a)(s —b)(s — )]
=[O 5% 8% 1]
= 3v/15 em?

www.jkchrome.com
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303. (b) Ratio of area= (Ratio of radius)’

(T 2\5)2 =41
304. (a) A

B C
As D and E are mid-points
- DE || BC
- A ODE - ABOC

DE 1
andalso— =-
BC 2

(as D and E are mid- points)

ardGDE ( )
— —
ar'AOBC

As D and E are mid-points
- DE || BC

- AODE - ABOC
ndalso = =<
andalso —= =~
(asDandE are mid-points)

ard0DE .,
Edrr ard0BC _( ) =%
305.

A D

www.jkchrome.com

306.

307.

308.

309.

310.
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e let verticle angle =0
ADEF are isoceleus triangles)

AABC is similaer to A DEF

Area of A ABC
Area of ADEF
VI _ side of AABC
Va4  side of ADEF

__ side of AABC
" side of ADEF

311.

www.jkchrome.com
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Areaof AABC 1

Area of ADEF 2
(a)

Let the sies be 3x, .3x, and 4x

> Area = 4 J4(3x2) — (4x?)
= 4x*V(36x” - 16x?)
= 4xV20x°
=8xV5 =8V5
=x} =1
x=1
Thus, 3“side=3x1 =3
(c) 3,4and from tre
Let the sides be 3x, 4K =72

>6xk =72

S>x =12

Sx = 2 2

Thus, Sm side =3 x 2v3 =6v3

be 3x, 4x and 5x
X3xxX4x =72

12
=2V3
- Perimeter of equilateral A
=12x2V3 =24V 3 units

24\@

Sideof A = = 8V3 units

Areaof A = £ x (8v3)?

=§x 64 x3 = 48V3 units

(d) Let the parallel sides be 2x and 3x

- Area =%x (2x +3x) x 12 = 480
5x =80

x =16

-» Longer parallel side= 1613 =48cm
(a)

Let the side of square =a

Thus, Side of equilateral A=v2 a

2(V2a)?

Required ratio = =

3
= \/:X2=V3:2
4

(b) Ratio of area = (Ratio of side)’

arAABC 10\?2
——= (=) =25:16

arADEF 8
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7 4 2

7 7

=2:V7

(c)

n(5)% =n(3)°
m (5)2
16

15
16:25

_ - @)
IGE

(a) Let side of square =a

a
radius of smaller circle = ;

) ) vZa
Radius of larger circle = T
a 2 a2
ratio = E(E) 2z = L
(z\/E)Z a2 2
) 4
(c) A
L 2

T _aE
Requird ratio = T = E
m(%)

= 3V3:4n

(d) 2(1+b) =4a (a =side of square)
2(2+41) =4a

2x3 =4a
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www.jkchrome.com

S

320.

321.
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317.
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g o
Required ratio LB = X2 _2x4 _ 8
equired ratio = s — (g)z — 9 = 9
2
=8:9
(c) 2(1+b) =3a
Thus, (a = side of equilateral traingle)
Let (b =a)
- 2(l+a)=3a
2(l+a)=3a
2l +2a =3a
2l =a
RGeS =& x
equired ra IIO—Ea — 2
4
4
==
=
D
E 1 V2
B 1 C
Thus, AC=
V12 + 12 = /2 (using pythagoras)
V3
ar(aABE) _ F M 1 _
ar(AACD) g
,) ar44Bo) (ﬁ)z _ (2)2 _ 25
(b) ar(ADEF) ~ \DE/ ~ \s8 T 16
(c) A
|
B 1 B 1 &
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A
v

AB || AB

Thus, A’ and B’ are the mid-point By mid point
theorem

Thus, AA'B’C - AABC

Let BB’ =B'C =1

Thus, BC =2 (B is the mid point of BC)

ar(4ABC)  B'C.; _ 1y, _ 1
ar(AABC) ~ (BC) B (2) T4
ar(AA'B'B) =ar(ABC) —ar(A'B'C)
ar(AA'BIB)
— =34 =3:4

ar(ABC)

) , 11 1

(d) Ratio of sides ==:=:=

;! 1 4:1 68
==X24:=%X24 i=xX24 = 6: 4:3
4 6 8

Thus, Take LCM =24
ATQ perimeter =91
6+4+3 =91

91
13 unit ==— =7
13

Diff. between long and shorside =6-3 53
= 3unit =7x3 =21cm

(c) By using result, Q
= S H

R191 =R2 82
Ry 8, _ 75° 5
R, 0, 60° 4 'S

(c) InAOBC,

H and G are the midpoints of OB a C
Thus, HG =% BC ¢
Similarly, FG =% =% AD,
HE =% AB

On adding,

Perimeter of ABCD 2
(c) Old circumfference = 4nt
2ir =4n

471
r =— =2cm
21T
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326.

327.

328.

329.
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Old area = n(2)? = 4m cm?
New circumference =8
2nR =8n

R_Brr
T 2m

New area =161 cm
Option (c) is the answer
(Thus, areais quadruples)
(c) Length 4->5

Breadth 5 >4

Area 20— 20

Area remains unchanged
(d)

According to questi

=4cm
2

Circumference of a ci =4#Area of circle
2nr =mr’
r s L 4

er gfcircle = 2r

A

B C

Dand E are the mid points of sides AB and AC
Thus, DE||BC
(By mid Point theorem)
AADE - A ABC
{~ADE = ~ABC
ZAED = ZACB}
ar(ADE) (05)2

- -

ar(ABC) BC.
ar(AECB) _ 3
U Tr(ABC) 4
Percentage of ar(DECB)

=%x100 =75%

(b) Incrementin breadth = 10%

b (1 =Increment, 10— Breadth)
100 10

www.jkchrome.com



330.

331.

332.

333.

334,

335.

336.
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Length Breadth  Area
Original 10 10 100
New 9 11 99 >-1
% change =-;?0 =1%

Alternate:
using x =10% (Breadth),
y =-10% (length)
are x+y e
100
T 10%(=10)
= - o —
100

=-1%

Xy
+ +_
(c) Usex+y Tl

20%20
20+20 + =44%

(d) If circumference of circle is reduced by 50%

then radius is reduced by 50%.

50% =% (1 - Decrement, 2-> Original)
Radius  Area

Original 2 4>
New 1 1°-3

f la(x+ pplas =50+6
use formula (x +y 100) = :

= 56.25% *

(a) Increasein area
50450

=50+50+

(c) Increase in altitude = 10%

Ul
6 (1 = Increament, 10 — Original)

Altitude Base
10 11)

www.jkchrome.com

3
(rt is constant)
Reduction in area = = % x 100 =75%
(d) Increase in area
25+25
=25+25+ O
100

www.jkchrome.com

337.

338.

340.

341.

342,
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-1 Area of no change
11 10
Decrease in base

-1 —glo

= x 100 =9 T )

(d) Increase in circumference = Increase in radius
=50% =% (1-Increment, 2= Original)

Radius Area
2 4
>+5
3 9
5
2 X100 =125%

b) Useofx+y +
()seoxylo

Percentage e Y
=12+ 15
44
10 00 1 150
100 130

Perimeter of equilateral triangle
=100+ 100 + 100 =300
=120 +150+ 130 =400
100

% -1lncrease = 100
=33 = %
(b) Length 53

Breadth 5 =3

Area 25->9
% decrease =% x 100 = 64%
(A) Length 5 8

Breadth 8 5

Area 40 - 40

8-5

= % Decrease x 100
—a71lg
= 372 %

(b) Length 5 =6
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347.

348.

349,
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Breadth 4 > 5

Area 20-=> 30
. 30—-20
% increase = 30 x100 =50%

(c) Side 10 = 11
Area 100 - 121
121=100
100
(b) Length20 - 21
Breadth 10> 9

Area 200 - 189

% increase = x100 =21%

200-189
% Decrease =———— x100 =5.5%
200
(d) Radius 100 - 101
Area 10000t = 10201
201
% increase = 10000x 100 =2.01%

(c) Letthe breadth =xcm
- Length =(x +10)cm
According to the question,
X (x+20) =(x+10)(x+5)

Area 1000 = 1029
1 i
029—-1000 xq
1000
(d) Length10 - 13
Breadth 10 = 12
Area 100> 1 *

% increaseinar
156—100

% error =

(d) 409

Si Su 2c:e area

5 (5) =25>M

7 (7)* =49
% = Increase = z—:x 100 =96%
Alternative:
Percentage increase in surface are

= 40 + 40 + 220y
100

www.jkchrome.com

> x> +20x=x>+15x+ 50
- 5x =50
- x=10
- Area = 10(10+20) =300 m?
(c) Length20 = 21
Breadth 50 = 49 O
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350.

351.

353.

354.
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=80+16 =96%
% effect usingx +y + xy/100
(a) Percentage increase in area

—(3+8+8xg)
B 100

=16+0.64 =16.64%

(a) Side of square is increased by 309
30 3

Initial

e to be decreased by
=232%

rcentage increase in area

100x100
100 + 100 + —m—
100

= 300%

Alternate :

L B Area

1 1 1

D3

2 2 4

3
Percentage increase =Ix100 =300%

Xy
() x+y +7055
10x(=10)
=10-10+— =-1%
100
(Negative sign shows decrease)

(a) Let the side of cube =a

om P> ads
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Diagonal of cube =av3 cm
av3d =v12

on squaring, a’(3) =12

g =4

a =2cm

Volume of cube =a*=2° =8cm
3

(c) Number of cubes = 1:% =125
_ Diagonal
(c) Side of the cube = —
43
V3
Volue of the cube (side)?
=(4) =4x4x4 =64cm’

Let | = 9x, h=3x, b=x
Ixbxh =216 x1000
(1 litre = 1000 cm’)
9x x3xxx =216000
27x*= 216000

X = 8000

X =20

| =180 cm =18 cm
Volume of cuboid

= 2 xvolume of cube
Ixbxh =2x(side)’

9x8 16
- = (side)? L 2

side =V(6x6x6) =6cm

Total surface area of cuhe= 6 (side)’ =
x36 =216 cm’ ¢

(d) Length of larges 0 =
=V(25+ 16 +9)

6 (6)° =6
V[(5)* +(4)* + (3)*
ensions of the boxare=1

12cm, h = 10em
lume of the box =20x 12 x 10 = 2400

s of the wood =1cm

Internal length=20-2 =18 cm

Internal breadth =12-2 =10cm

Internal height =10-2=8cm

Internal volume of the box =18 x10x8 =1440
cm’

Volue of wood = (2400 - 1440) cm’
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362.

363.

364.

366.

367.

368.

369.
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= 960 cm’
(c) The number of cubes will be least if each cube
will be of maximum edge
. Maximum possible length
=HCF of6,9,12 =3
Volume of cube =3 x3 x3 cm?

Number of cubes

(6%x9x12)

AR ERoS) oy
3x3x3

(b) Volume of the cistern =(3 10

10) x (110 -x) =8000 x 10
(where x = thickness of bo
x =110-100 =10c
(a) Letthe length,
respectively.
< Ib =x
bh=y 2
Ih =z
> P

260 —

eadt eightbel, b, h

Xy
iameter of sphere = side of cube = 7 cm

(r) =%cm

4
lume of sphere e Tr

s 22 7 7 7

==X—X=X=X= =179,67 cm’
3 7 2 2 2

(b) Lengthofrod = v(10%+10%+5?%)

=225

=15cm

(a) Volume of the box =1x bhx h

= (40-8)x(15-8)x 4

=32x7x4

=896 cm®

(d) Let the three sides of the cuboid be |, b and h

= lb =bh=hl =12

Pb’h? = 12x12x12 =1728

= lbh =v1728 =12v12

= 24v3 cm®

dimension’s of room

Length(l) =12cm

Breadth(b)= 9 cm

Height (h) =8 cm

Thus, diagonal of cuboid = V(I’ + b” + h?)

Thus, Length of longest rod

- Length of diagonal of cuboid

- V[(12)*+(9)* + (8)7]

- V144 4+ 81 + 64 =v289 =17cm

(b) Areaoffloor>3x4 =12 m?
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height=3 m
. Area of walls of room
- (Perimeter of floor) x height of room
= 2(l+b) xh
| =length=4cm
b = breadth =3 cm
h =height=3 cm
. Areaofwalls 52 (4+3)x3 =42m’
Area of painted part =42 m?* +12m’ = 54 m’
(a) Letlength = |, breadth= b
Height=h
Given that
(lI+b+h) =12cm
= total surface area of box
=2 (lb +bh +hl)
(12)> = P +b*> +h> +94
144-94 =1* +b* + h?
> 50 =P +b’+h’
Diagonal of box=V(I* + b’ +h?)
". Length of longest rod that
can be put iniside the box
V(> +b’+h?) =5v2 cm

(c) Letbreadth=bm

Thus, Length of room =2bm
(1=2b)

height = 11m

Area of four walls of room

- 660 m’ (given)

2(1+b)xh =660 '3
2(2b+b)x 11 =660

3bx22 =660

b =10

Thus, breadth =10 ¢
Length =20 m
area of floor
length x br

(c) Length of pencil = v(a® +b’+¢?)
= V(8 +6°+2%) = V(64+36+4)
=v104 =2v26 cm

(b) Edge of box =¥(3.375) =1.5M

www.jkchrome.com
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376.
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380.
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(b) Whole surface area of cuboid = 2(Whole
surface area of cube)
- 2 x Area of one face

(.. two facesa of the two cibes area not visible)
- Required area =12° -2a’ =10a’
=10x6° =360 cm’
(b) Lettheincreaseinlevel=xm
-(1000 x 1000 x 1%} x % =100 x
- x=10m
(d) Sides of parallelopiped
Let length = 2 units
Height = 8 units
Let the side of cube #a uni
According to questio
Volume of cube = volu
a® =2k L 4
a’ =64

3

parallelopiped

a
S e arég of parallelopiped

ace area of cube
_ 2(lb + bh + hl)

6a?

+32+16) _Z ey

6(4)2 g 8
(c) Letlength=1cm
Breadth = 2 cm, Height=h cm
2(lb +bh+hl) =22
2+3h =11
3h =9
h =3cm
V(17 +2°+3%) =V(1+4+9) =Vv14 cm
(d v(I* +b*+h?) =15
(2 +b2+h?Y) = 225

I+b+h=24
(lI+b+h) =576
> 225 +2(Ib +bh +hl) =576

=351 cm’

(c) Total surface area of cube = 6(side)’
6(side)* = 96

96
(side)? = = =16

side=v16 =4cm
Volume of the cube = (side)?

= (4)

=64 cm’
(b)
|
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e

N\

Diagonal = 35v3
. The length of largest rod = Diagonal = side V3
side = 35
Side V3 =35v3
35V3
side = 73 =35

side of cube = 35

Diameter of the sphere = side of the cube

2 x radius = side

; 35
radius = < cm
Surface area of the sphere

= 4mr’
22 35 35 <
= 4 x= X =— X =— =3850
7 2 2

(d) Volume of airinro
(area of floor) xhei

Thus, Volume 3 x height
(area of floor)
Area of floor\= =34 cm’

(b)

12
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386.

387.

388.
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+“Frt——p 4>
3 18 3

The box will be of cuboid shape
Length of the box, |=24—-(2x3) =24—-6 =18cm
Breadth of the box, b =18—-(2x3) =18 -6 =12
cm
Height of the box, h =3 cm
Surface area of the box = 2 (I +b) x i+
=2(18+12)x3+18x12
=2x30x3 +18x12
=180+216 =396 cm’
(a) Volume of all three cu % 5 +6°

=64+125+216 ¢

=405 cm?

Now, 62cm’is

Thus, Volu new‘ube = 405-62
=343

(side =343

[ ube -%*v343 =7

area of new cube =6 x (side)?

94 cm*
) Area of cubical floor =48
Side” = 48
side =v48 =4v3
Diagonal of cube  =side v3

=4¥y3 x53 =12cm

Length of longestrod =12 m
(a)

Let side of new cube =a
According to question,

a’ =6 +8°+1°=

216+512+1

=729
a =729 =29
then surface area = 6(a)’
6x9” =6x81 =486 cm’

(b) Volume = 20m’® =20x(100)® cm?
Volume of one brick = (25 x12.5 x 8) cm?
Required number of bricks
20X100x100x100
25x12,5X8
(a) The toal surface area of cube
=150 cm?
6 (side)* =150 cm’

(side)? =% =25

=8000
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side=v25 =5cm

. Volume of cube = (side)’

=(5)° = 125 cm®
(b) Ratio of length : breadth =5:3
Total surface area of parallelopiped = 558 cm’
2(lb + bh+hl) = 558 cm?
2 (5xx3x+3xx6+6x5x) =558
2 (15x° + 18x +30x) =558
15x° + 48x =279
15x* +48x—279 =0
On Solving,

15
. Length=5%x3 =15cm =—
10

=1.5cm

Alternatively:

Take help from the options
Covert alloptions m cm, 90, 15, 100, 150

then divide all by 5(because we have to find length)
18, 3, 20, 30. Putall these values one by one.

(c) I+b+h =24cm

Length of diagonal = 15 cm

V(7 +b*+h%) = =15

(P +b*>+h%) ==225cm
(I+b+h)> -2(lb+bh +hl) =225
(24)*> - 2(lb+bh +hl) =225
576—225 =2(lb+bh +hl)

Thus, Total surface area = 351 cm?

3
x =V8=2cm
Thus, Length =3x2 =6cm

breadth =4x2 = 8cm,
height = 6x2 =12cm
Total surface area =2 (Ib + bh + hl)
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393.
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398.
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=2(6x8+8x12+12x6)

=2 (48 +96 + 72)

=2x216 =432cm’

(d) We know that

A parallelopiped has vertices (v)= 8

edge (e) =12

face (f) =6

Put into equation (v-e +f)
>8-12+6 =2

(b) According to the question,

1
1dm =—
10

Let depth of the hol

6.
Thus, 48m m x31.5),x
= 27x18.2 x

=§ m =0.20 meter

(d)

BxX4x2
Number of cubes = =8
2X2X2

(a) When we change shape of a solid figure,
volume remains constant
Volume of hemisphere = volume of cone

LR

3 TR = 5 nR h

Thus, 2R =h

(d)

According to the question,

Let the radius of sphere =rcm
Am(r+2)’—4nr’ =352

In such type of questions take help from the
options to save your valuable time

anf(r+2)* -r’} =352
ar{r’+ 4 +4r—r’} =352
n(l+r) =22 =22

16
Take=r=6
22><(1-|—6)“22><7
7 7
=92

Then option (d) is the right answer.

(d)

N\
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H = 60cm

== Ty

R =32cm
We have to find the slant height
Take ratio of H and R

= 60 : 37

15 2 8
L =v[(15)* +8* =17
= 17x4 =68 cm

Cost of painting = Surface area of cone x 35
=mrlL x35
22 32x68

7 10000
= Rs. 23.94 (approx)

[Spherical balls]

R=20cm ¢
[Solid Cone]

Let the spherical balls e

*

me of sphere

www.jkchrome.com
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35
400. (d) Radius of tank,r = - cm
Let initial height = H
Final height=h
According to question,

3512 Lo 3
- (7) X H =1 (?) h = 11000 cm
. h_11(:100><,2><2><7 _ 80

"7 35x35%x22 7
=11§cm

401. (d)

=40 cm

s, Volume =rmr’h

H |=10 cm 21 21
_— — X 4
> X > X > x 40

=13860 cm’

02. (a)
@ h
L3
r

According to question,
2mr = 6n
r =3mn
height of cylinder = diameter
=2xr =2x3 =6cm
Volume of water=mtr® h
= (3)* x6 =54mcm’
403.  yolume of the cone = én(ls}2 x 108 cm’

Volume of the cylinder =t x r* x9 cm?
According to the question,
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nxrix9 =§n><15 % 15 x 108
, _5x15x108

9

r =v900 =30
(d) Volume of new sold sphere

4 6\ 4 (8\3 , a4 (10)3
=2 u (8] +3m(3) +dw ()
=T = 2GR+ @+ (5)°]
r =216, r =bcm
*. Diameter of the new sphere =2x6 =12cm
(d) Let the radius of new ball
=Rcm
Then, %nR3 = % n(3*+4°+5°)
R® =27+64+125 =216
R=V(6x6%x6) =6cm
(d) Volume of the new sphere

r =900

= En[rf‘ +1° 4157
%nRB
gi'r[rl3 £ w1
R3 = r13 + r23 + i,33
R®=1+6%+8°

= 1+216+512 =729
R =729=9cm
(b) 1 =2.5km
Area of base = 1.54 km*

nr’=1.54
5 1.54%7
r =
22
J(1.54%7)

r =————— =0.7 km
22

We know that, I*=r"+ h?
h® =v(I*-r%)

= V¥(2.5% - 0.7%)
=Vv5.76 =24

he canvas =l
= 27—2>< 9.6 x 10 = 301.7

(c) ExternalradiusR = 4 cm
Internal Radius =3 cm

Volume of iron used =nR>h—mnr’h
= 1th (R* +r?)
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413.

414.
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=nth(R+r)(R-r)

22
= = X20x (4+3)x (4-3)
=1—2><20><7><1 = 400 cm

(c) Volume of Sphere = Volume of di d water

4
§n><2><2x2 =g x4x4x

h:% cm
(d)
: AX
R=6cm
lume of cone = Volume of sphere
th=§ﬂ:r3
§n><6x6><h =§n><3><3><3
h =3

(b) Volume of a cone = %T[ r’h

% nr(24) =1232 cm?
2 _1232x3x7
T 2ax22

rF=7%7

F=7X7 =7cm

| =vr’+h? = V(77 +24) =v625 =25
Curved surface area = rrl

=‘Z7—2>< 7 X 25 = 550 cm?

(d)

Volume of a sphere

=2« (14)°

= %x 27—2 x (14)° {% m‘3}

Radius =14

Curved surface area of sphere = 4n(radius)?
=4x% x 14 x 14 = 2464 cm’

(b)
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Surface area of sphere =64 1t
41 (Radius)® = 64n

(radius)? =Z—4 =16
Radius =v16 =4cm

Diameter =8 cm

(a) 1dm =10cm

e ey
[y
h =35cm
b=22cm

240 1=25cm
cm

e —

350
2
x x volume of 1 tin = volume of cylinder
= x % (25 x 22 x 35) :%x%x? x
x=1200
(a) =
4—-1=3cm ®
im
L 4
21cm
‘_

R=
Volume of hollow iron pipe
=1t {R> -r’}xh

=y {4* -3} x21
=%><7><21 =22 x21
=462 cm?®
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420.
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Now 1cm? =8g
462 cm’® = 8x462¢g

=3696¢
=3.696 kg
(b)
h =14c I

11 cm
Volume of th ind(—‘$= volume of cube

2 i
nrh =(s @
2 1x11

cm =55cm

(b) Lettheradius =r
nr*th =9mh

r‘=9

r=v9=3m
diameter=3x2 =6m

(a)

8cm

volume of cone =value of sphere
%n(sf xh = gn (8)°
8x8xh =4x8x8x8

h =32
slant height = (1)
V(r’ +h?) =v(8°+32%) =vV(64+1024) = 8V17

I -

’
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100-3Rr =21
h=14m —— 3Rr =100-21 =79
r=10 79 1
Rr S —26;
423. (b) -
2nR =22 cm
22 cm
- —
B =13 12 cm
Volume of well =volume of embankment 12 Lyreer
n(10)> x 14 =m (15 -10°) xH
H="C22 =112m
Thus, Cylinder is folde ng the length of
rectangle ¢
So2nR
wil = 7
H T3 B = x22 2 cm
cylinder = nR’H
7
A 3 x 12
2x7x3 =462 cm’
Volume of sphere = volume of cylinder 4 ) R= % r
=n(7) = (R)’ x=
R2 = &xIxT =2 x2xFx}
R =V(2x2x7x7) =2x7=14cm
Diameter of base of cylinder =2R =2K14 8 H =8cm
cm h =18
422. (b) 'Y
(Rod)
L 4 wire

Volume of wire = Volume of Rod
nrr h =nR* h

= 1><8 =72
=7 =
2 __2 1
AT * 5 10 r =1800 _ 900
r)* = 100 1 "
=100 B = I8 — ap
R*+re®100+ 2Rr ... (i)
%nRa +§m3 =880
%n(Rer r®) =880
3 _B80X3 _ 88x3x7
R +I'3— X4 - 22x4
10 x (100 — 3Rr + Rr) =210 425. (b)
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8 cm

lcm =12x

Volume of cylinder = 12 x
volume of sphere
m(8)? x2= 12><§r|:r3
3_ 8x8x2x3
12x4

PEVZX2X 2 = 26m
r=2cm
d=4cm

(c) 2nr -2mr =5
R-1) ==

2w
(c)

%n r=4anr
Radius (r) = 3 units

(b)

x8=1232 cm’
Volume of smaller cone h?

Volume of bigger cone N (H)3
Volume of smaller cone 123

1232 243
Volume of smaller cone = 154 cm®
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432,
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Thus, When the cone is cut in between

then the ratio of volume of smaller cone to the
bigger one is always equal to the ratio of the cubes
of their heights.

(b)

6 cm

eight of cylinder = Breadth of tin foil
umference of the base of cylinder
Length of the foil =22 cm

2nr =22
22x7 7
s ==2cm
22%2 2 5 = 3
Volume =mr*h . x;x;x 16 =616cm’
(d) nr’= 770
, 7707
r 1
22
=>r =7V5cm
andmrl =814
S = 8147 _37
T 22x7Vs 5
I?=h?+r?
37%37
T =h?+r’
37%37 ;
= T =h" +245
1369 144
Sht—— 245 =—
5 5
Sh? =
"5
1 2
Volumez;nrh
1 22
SRR 7v5 x 75 x 12/V5
=616V5 cm’

In this case the breadth becomes the
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circumference of the cylinder
= 2nr =44
44x7

T 22x2
New volume = rir’h

=>r = Tcm
22

7)(7)(7)(100

= 1540 cm’

2h

(b) mr’H = Tr

w | =

1
—->H =§h
= h=3H =3x6 =18cm

(c) 3mr’ =1848
, 1848x7
=—— =196

3x22
=r =14cm
According to the Question,
2 3 1 2
-nr ==nrh
3 3
= 2r =h
2> h=2x14 =28cm
(b) The length of the paper becomes the
circumference of the base of cylinder when
rolled along its length

= 2nr =12

12 6
—2r=— ==cm
2m T

(b) Volume of tunnel = n’rz X
=2t d - 3
= ><2><2><56 704 m
Volume of ditch

- 48x16.5 x4 *
=3168 m*

= 81-17 =64
->r=8

- Tickness=9-8 =1 cm
(b) 2x(3xmx r3) = nR*h

%2x§><:rr><27 =nmx36X%Xh
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_27X4X2

T 36x3
8x 27

3x36
(d) Ratio of height = \B/{Ratio of volume)
R_2
2% "3
3 units = > 30
2 units - 20

- The cut is made 20 cm abovefheBase

— =2cm

(b) 3mr® = 108n

>r'= 36
> r =6cm
2
Volume N nr3=§ 216 X
=144 nt
Radius =3 ters& 30 cm
Height of rsheet =1 mm =.1cm
4 21
=2 nr—

t no. of seconds rquired to fill the tank = x
(mr’h)xx =3x5x1.54
3x5%1.54x7x100x100
22XT7X7X5
=300 seconds
- Time requried = 5 minutes

() \

W=

T —

ry
=tana
>r=h tana
I
andH =secq
= | =hseca
>SS =nxtanaxhseca
- nth?® (tana X seca)
(c)

-~ e ]

A
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D E 12 cm

3cm

—

B

As DE || BC, A ADE - A ABC
AD _DE

W o

> = 1z —PE
- DE =4.5cm

Height ofcylinder = Diameter of sphere
51 amr? 2r? 1
S = e— = -
S, 2mrxh 2r2 1
= Si = Sz ( h = 2?')

h 4
a 3
? d
&
h e 3h =@d
(a)
Volume of water pumped out in hour

22 7 7
=22 X < X = x1288600, ¢
7 2 2
= 1663200 cm*®

=1663.2 Itr,

r’h _h

“12x3 3

=>h=3H =3x7
:3)(7
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=21lcm
450. (b) nxr® xH =§nr3

= L x1x36x100 =2np
10 10 3

P =37
r=3cm
451. (b)
2
2
Slant heig @ + 22
=4 cm
452, ume'of vessel =Volume of roof
=22x20xx

e is rain in cm)
22 100X100x350
7 22x20x100x100

Ex%xBﬁxlO =240 cm’

mr® X—" =
(d) %1"311 =4 - x =25cm
h 4 3. (a)
= =§ Volume of remaining solid
T 2

_ O = nr'h

454. (g LettheheightbeHB—)%nrle +§m‘22 =

2 nR?
3
M=
455. (c) Let height and diameter be 3x and 2x
s X’ x3x=1078
1078%7
22

473

¥ =

=49x7
->x =7
- Height=7x3 =21cm
456. (c) Radius of cylinderr=10cm
height of cylinderh=2cm
Volume of cylinder = rir’h
radius of cone -» radius of cylinder = 10 cm
Let height of cone=h;

1
Thus, Volume of cone = 5 nrlh,

.. Volume of shaded portion
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- 4400 cm?® (given)
(after removing cone)

5 Lo
~>nrh-3nrh1-4400

n (h-L) =14

hl
21-14 =—
3
1 21
457. (a)

6 cm

radius of cone = 6cm
height of cone = 24 cm

Let radius o

=Volume of cone

X6X6X24

1 6xX6x%24
9!’3 —>§XTX
S>r’=3x3x24
=3x3x3x8
r=(3)° x(2)°
r=3x2 =6 cm

3
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.. Radius of sphere =6 ¢m
Total surface area of cylinder
- 462 (given)

S (2mrh+2n?) =462 cm?
2nr® =154 x2 =308

nr’ =154

=2 x7-49
22

t =cm

(a) Diameter of cylinder =7 cm
radius =% cm, height =16

@ :

Thus, Lateral or curved su
- 2nrh

= r =radius

h = height

Thus, 2 x Zam 16, > 352 cm?
6cm

>

Height of cylinder h = 6 meters

Let radius of cyliner =r meter.. curved surface
area=2rmrh

area of end face =mnr’

- Total area of two end faces

> 2nr?

given that 3 x 2mr?
3t =2Zh

r=4cm

. radius of base =4cm

"2y 2nrh
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Sheet is folded to form a cone
Let radius of cone =r;

 —

ry
.. The circumferenc a ne
- Circumference ofisheet
2nr, =14m
rn=7cm
". radius e®7cm
Slant heigh us of semi-circular sheet

< ’(14)2 o

147 =12 cm (approx)
2.
O
461. (b) TS

T —

r
9
ry r
Folded Cone - Circumference of sectors
r
2

Radius of semi-circular sheet - Circumference of base of cone of radius=r; =2
_ 28 Try
=r > > LI "
r =14 cm 2T
Circumference of sheet = mr r, "=
=14 mcm 4
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* Radius of cone =

(=N Bt

curved surface area of cone =yl
| =slant height
I =r
nr?

r
.. surface area of cone = HXZX £ T

(d) radius of cone = r = 16 meter (given)
Let slant height = 1 meter
curved surfacearea=mrl

3
=427 m’ (given)

22 2992
—x16x| =——
7 7
2992 8.5 i
= =8.5 meter
22x16 ete
L 2
2
1=63m
e
~——"4

www.jkchrome.com
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466.

www.jkchrome.com

h =3m
B
-

) 105

Thus, radius of cone =T

www.jkchrome.com

slant height of cone =26
- curved surface area of @

curved area of structure

curved area of cone + curved area of cylinder =

10395 + 390
= 11385 m?

3¢

Surface area of hemisphere =3mr? =2 x % X 9

56.57 cm’
Height of cone =4 cm
radius =3 cm

Thus, slant height =v16 + 9

2
Total curved area of structure

lem

=5cm

Thus, surface area of cone =mrl

%xsxs > 47.14 cm?

Thus, Total surface area of the toy
area of cone + area of hemisphere
- 47.14+56.57 - 103.71 cm®

(d) Letradius ofironrod =r
. Height =8r
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- volume of ironrod =r

=TI% (r]2 x8r - 8nr’

- radius of spherical ball
T

2
Volume of sphnerical ball

4 3

X (1)

3 2

Let n balls area cast

N xgx n (;—3) =8nr’
>= >8>n =48
(c) Let the radius of base of second cylinder =R
= 2 (nr*h) =nRr’h
>2¢ =R’
- R= rV2

(c) Volume of remaining solid

2
=1r’h

Bt 5x5x12
= X X5 X5x

=628.57 cm’
(a) Letthe requried increase
= Xxcm

. Required increase =5cm
(b) Letthesold volume
nr'h

- New volume =m(2r)
- New volume is four
(b) Let the height o

> n(10+x)* x4 =1x10" x (4 +x)

100 +x* +20x =25 (4 +x)

x* +20x +100 =100 + 25x

x> -5x =0

Xx-5=0

. <: I 475.

=4n
es the oldwolume
‘h‘cm

(c)
) 33 33x7
Radius of base =— =
21 2X22

www.jkchrome.com
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473.

474.

476.

477.
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21
==—cm
4

Thus, Volume of cone = %r{ xr’xh

122 21 21
= E X ? X T X T x 16
=462 cm’
(a) Letthe radius of small spheresbhe =r cm
- (gnrs’) x8=§ m % (3)°
> 8r =3
r =3 = 1.5cm

2

(b)

Le@ythe increase in height =h cm

4 3
nmR*h ==-nr
3

(c) Height of the cone =10.2-4.2
=6cm

- Volume of the toy =§ wrlh +§nr3
g %nrgth+4r}

=2xZx (4.2 (4x4.2+6)
1 22

e i) &
= x (4.2)" x22.8

=421 cm® )
(c) Volume of water = Volume of cylinder -

Volume of cone
i 0

= =nrh
3

1
=2 (5 m‘zh)
> 2x27mn =54t cm?
(c)

|
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----------- 481.
Height of water after ball isimmersed=3.5x2=7
cm
4 482.
- Volume of water=1trh - 3" P
_ 2y _ 4
= 7mr (h 3 r) 483.
=2%35x35 (7—i>< 3.5)
7 3
(7) 2605
=11x35{=] = cm
3 3
Volume of water before ball was imersed
=7 (3.5 xh =%
b 369.5xr
B ; T 3%3.5%3.5%22 484.
== cm
3
(b)
Let the height of cone =h cm
Losdp _ Boeas 4
- STr h = S Tr
h =4r
h =4a (Thus, r =acm)
(c) Let height and radius be=7x and 5
respectively
> nr’h =550 486.
n(5x)> x 7x =550 T3
22 o
- X 25x"x7x =550
X =1
x =1 4.
Thus, height =7 cm
radius =5 cm 487.
488.
489.

www.jkchrome.com
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(a) Zmr =19404
. 19404x7x3

r =
22x2
=r =21cm

- Total surface area = 3nr®

=3 xz—:x 21 x 21 =4158 cm?
(c) Curved surface area = 2mr?

:) x%x 11 x 11 =760.57 cm
(a) Slant height of the co

() =v6?+ 8% =10cm

- Requried ratio = ] =
2x8

10

=8:5 ‘

f cone having same height &
at of a cylinder

xvolume of cylinder

. of cones requried = 3
Let the no. of small balls =x

S irx 0P =x XxZxm X (1)3
3 =K g 2

- 1000 :xx§

- x = 8000

(a)

Let the no. of balls = x

= 4 X )3

> 44x44 x84 =xx = n(3)

44X44X44XTX3

22X4X8 -
> X =2541

(d) Letthe no. of cones =x

e xcaelk s Y
23" %x5= Xxx— XX x1
3 10

—->x =9 x5x3x100 =13500
(c) Slant height of cone =82 + 62 = 10 cm
Slant height of cone = Radius of sector = 10 cm

(a)

Volume of sphere
2 4

==nr’== xnx(9)?
4 3

=972 tem?

1 2 1 3
Volumeofconez;r{r h :§n><(9)
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> 972ncem? R

1 2 1 2 ]
Volumeofcone;rtr h =;n9 x9 h=21cm
=295 & Volume of cone

1 4 4 112
> % of wasted wood % BTl s e =Tcm2
_ O72= 72907 100 = 25%
B 972 B
490. (d) r
e e

r 493. (c)

Volume of cylinder =V

(=) *h =V
ni= =
21
aZ
T xh =V ] )
1
§ oA O v, _ innthe p2ng

a? a? » v, Inr2h, T12hy 1
491. (d) Radiusof sphere=—=6 3
2 .2 ‘ ™ hl 4
Let the height of the cylinder r_ X h_) -‘-I
2 2
ATQ 2ry, 5 rn 5
Volume and radius are s3me Thus, T ThuS,r_ — 2
x(6) xh =% n(e) ¢ 2 7 :
a B b2
h =4—>3(6 =8¢ 4 h, 1
492, B _1
16 h, 4
By . 5%
hy, 25
L0 49a. (d)
Perimeter of base =8 cm h
2nir =8 ’m
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nr’ =154

, 154x7

r' = =
22

r =v49 7m

also volume =1232
% m? xh =1232
1232 _ 1232x3

b r2 154 B

=8m

Area of canvas required
->nrl

=murv(r® + h%)

22

= x7xV(24’ +7)

=24 7%x25 =550m?
7

Length (/) =52ﬂ =275m

(b) Ratio of the volume of cones
Lo (=) ()
V_z - %nrzzh - E “\4
=9:16
(c) Ratio of surface area of sphere
Amry® 4
4mr,?2 9 T3

4

9

www.jkchrome.com
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499.
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radius will be I
become slant height

In this question just cut the semi-circular paper and
told it to form cone

Circumference of cone
_ 2xmx(14)
7
2, ,
e circumference of semi

2Znr=mx 14

r=7cm

slant height, (I) of cone =
plate

| =14 cm

(e s -

1
Volume of water in conical flask = 5 nrlh

If the height of water level in cylindrical flask = H
units

Thus, mm? H =§nr2h

- 1 5 wrih Wyt
"3 xTmZh?  3m?2
(d) R=7cm
h

>

Volume of the solid sphere
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=iﬂ:r3 (radius}3:\3/(7x7x7x3x3x3]
3 radius =7x3=21cm

=§ nx7x7x7 cm’
Let the length of wire =hcm

nR? =§nx7x7x7

4
7x7xh=; x7x7x7

503. (d)
28
h ==— cm
3
500. (b)
@ H
2
=
R
4 3
Vdumeﬁsdmmzzgnr
4 3
:Enx3x3x3:36ncm
If the water level rises by H cm
MR'H =36n
6x6x h =36
h=1
501. (b)
O
> * =
5cm
Volume of both the cones will be equal to the
volume of sphere
In3?h +=na’h =2ns5°
3 3 3
2h324+47=2x5x5x%5
3 3
SXhx25 =2x5x5x5
502. (a) Volume of sphere =Volume of rectangular h =223 =96 cm
block 3 .
4 5 505. (a) Volume of cone = -nr’h
;n (radius)” = Length x Breadth x height Now, r; =2k 3
& radive) =2h
=t (radius)” = 21x77 x24 =
3 Thus, Volume of second cone
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r12h1
“n2r’ 2h =§n P hx8
= 8 times of the previous volume
Alternate:
In the formula of volume of cone, there is power 2
on radius and power 1 on height
5 (2% 2 =8times
(d)

n-kw:lln-l

< —

C=mrl

C* =mrril
1 Z

V =—nrh
3

Vo= 1 2rh?
3nvh® -c’h® +9v

1 1
3n x=nr’h h® -irlPh? +9x=n’r’
= 'rh® -m?Ph? (rF + h?) + i’r'h?
=r’ht - Prfh? = rtht + irth? =
(a) Volume of rectangularglo
=550m’
= 550000 dm® (1m =10dm
Volume of a sphere

ber of spheres
metallic cone

e of a sphere

3ln><30><30><4s

A =81
37 X5X5X5

Volume of sphere

(d)

Volume of cone

www.jkchrome.com
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510.

511.

512,
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%n(10.5)3

%nx(3.5)2x3

_ 4x10.5 x10.5 x 10,5

3.5%x35x%x3
=126
4
(c
36¢c h
1.6 cm
cm

According to question,
SXTx1.6%1.6%3.6

$§><n X12%x12x%xh
1.6X1.6x3.6 _ l6x16X36

1.2x1,2  12x12x10
64
= =— 6.4cm
10
(a)
53 (4rr?)3 43xmixrs
EE I I e— L e—
v3 43\ 42xm2x e
(37r%)

36 .
=4xmx9 =T?r =36n units

(d) Radius of sphere = % cm

4 1 1 1
Volume of a sphere ==t x— X — X —
3 20 20 20

Let the radius of cone =R
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height = 2R
According to the question
=ZmxRxRx 2R

i 1 1 1
—ix— X — X —x32
3720 207 20 32000
_ 40X40X40

20x20x20

40
R=— =2
20
Height ofglass=2Rx2x2 =4 cm
Volume of earth taken out =40x30x 12 =14400
3
m
Area of rectangular field = 1000 x 30 = 30000 m’
Area of region of tank = 40 x 30 = 1200 m”

Remaining area = 30000 — 1200 = 28800 m’

3

o 14400
Increase in height =
28800
=0.5m
(a)
R=6cm
r r '
H =12 cm é’

According to question, L 2
8 X§n r =%n (6)’x 12

s 6X6x12

F = Tex12 ¢
=3x3Ix3

r=\3f(3><3><3)

=30cm

www.jkchrome.com
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516.
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We are given that:
Volume of small cone 1

Volume of big cone 27
hn\? o1
& =%
h4 1
h, 3
But, h, = 30
5.3 =30cm
1=10cm=>h; = 10
height from base =30-1

(d)

4
Volume of lead = < r

4 3 4
Volume of Gold = Jnr g
According to question,
4 -3 &3 4.4
=R —=mr ==mr
3 R 3 2t

4 8
nR¥==nr’
33 33
rr=2r

www.jkchrome.com
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3 _ 2(2}3
R =3V2x2 =1.259%2
=2.518
Thus, Thickness =R —r
=2518-2
=0.518 cm

517. (a)

In the question,

Radius of hemisphere = Radius of cone = height of
cone=7cm

". height of hemisphere = radius of hemisphere
Volume of ice cream

= Volume of hemisphere part + volume of conical
part
=3><E (7)° +lx£ x7°

73 =22 x7°=1078 cm®

Volume of matdgia low sphere = Volume of

-n(5°48° 1h

.5 cm

519. ius of the base of conical shape =rcm
*. Radius of base of cylinder = gr:m

Volume of water = Volume of cone

1 1
==nr*h ==nr* x24
25w B
=8nr° cm

Volume of cylinder = volume of water

www.jkchrome.com
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520.

521.

522.

523.

524,
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T 2 2
mn (;) XH =8nr
H=9x8=72cm
(b) Volume of metallic sphere = volume of cone
4
=X 3x3x3

l1'|:R2h

2 _4 3
olume of sphere V -gnr

Volume of cylinder V?

=nr*th =nr’
: 1 4
Vi' Vor B =iz 1 ol
=1:4:3
\,,’1:ﬁ = :L
4 3
41 (Side)® =346.5
.,  346.5%7
(Side)* = ——— =5.25cm
4x22

(b)
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V3a =2x6vV3
a =12
/ \ Surfacearea = 6a’= 6x12x12 - 864 cm®
/\ 529. (c) Let hemisphereradius be =R
= & Sphere radius be =r

ATQ,

Height of kaleidoscope = 25 cm 2R =167

Radius of kaledoscope = 35 cm R® 8

Paper used = curved surface area of cylinder =2 = T}

x % x 35 x 25 % =§

=2x22%x5x25 So option, ‘C" is answer

= 5500 cm’ 530. (d) Let part filled be =
525. (b) According to the question, ATQ,
- Volume of sphere = surfacea area of sphere X x (48 m : 16.5m %dm) B (2)* x56
, 22x4x56
%gnra =4nr —)£=1 - r =3 units B
- then diameter of sphere will be = 2r g éAns. 4
=2x3 =6 units 531. (a) e question,
526. (b) Letthe height of cone h meter

- Total area of ground will be requried = 5 x 16

m’ =80m’

- Total volume of air is needed = 100 x 5 m*® =

500 m? ! \

According to the question,
Volume of cone = 500 m®
1 X ;
-5 areaifground height =500 Whole surface of remaining solid =mrl + 2rrh +
< 3xmr’xh =500 nr’
Hencel = vh? + 1r?

= Height L)
B = s | VT
- height of cone = 18.75 TS | =5
Mghets Thus, 1 r [I+2h+71]
527. (d) _ 22
Volume of cone = Later. T 7 x3[5+2x4+3]
Surface Area L 4 = 2—: X3x16 =48n

+ 2]

528. (c) Diagonal of cube will be equal to diameter of
sphere
V3a =2xr
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(o re =1cm)
4 3
= ZTem
Vol. of water that can immerse the ball
= (3m — 4?”) cm?
533. (b) According to the question,
Radius of the frop of water = io cm

4
". Volume of drop of water = XT
Volume of 32000 drops

4
k Thus, Volume of cor< I
3

¢

534.

J lume of cylinder = nr’h
4t x irlh
—————— T 4m
= (Miltiply 4 m both in Numerator & denominator)
(2mr)? % (4¢)
C O 4n

A ABC =equilateral A (Multiply 4t both in Numberator & denominator)

. ZACB =60° * Cr)" wlde) o8
ZBCP =30° 41 T
ACDO, £LDO =90° (Angle b/w radius”and tangent
is 90) 535. (a) According to the question,
oD =1P = 1cm L 4 Volume of sphere = %n ¢
0C =2P =2(1) Volume of cylinder = rt r*h

then, CZ =0C

% =h =ix 3 =4cm
C.S.A of cylmder— 2nrh
22
=2 % 7 x3x4
44x12 528 i 4
= =—=75=cm
7 7 7
h=CZ=3cm 536. According to question,
Vol. cone=§n r’h =§T[N3)Z (3) R =6cm
= 37 cm? - The capacity of the hemispherical bowl
2 2 22
Vol. of sphere =2mnrs? ==np ==x—x6>
3 3 3 7
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=452.57 cm’ Amrh =2nxr x Height
-> Height = 2h = units
539. (a) According to the question,
Radius =3.5cm
- Inthe question it is given that A hemi-sherical
bowl is to be painted insided as well as outside
Total area that is to be painted =Insi rea of
bowl + outside area of bowl
=2nr +2nr
s

540.
537. (d)
— A
20cm
A J
L — r=21dm
h=4.2dm
] ) (for max)
According to the question, o, Volume of cone = £ 1t r?h
> r=7cm 5 3
>h=20cm =§X? x2.1x2.1x%x4.2
- Total surface Area ofieylinder rved surface =19.404 dm’®
Area +2 xareaofb 541. (d) Lettheinitial radius=r
2nrh +2mr’ According to the question,
=2nr (r+h) An(r+2)* -4nr® =352
20) r2+4+4r—r2=352><7
22%4
4dr+4 =2
r = 1188 cm’ o 8
538. ing to question, 542. (a)
s of cylinder
=i
- CSAof cylinder=4nrh
- As we know 15
-» Curved surface area of cylinder
=2nRH
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12 12
Volume x %n r’h
> §n 12x12x9

- 144%x3n 5432 n
(c) According to the question,
Volume of cone

lnrzh
3
Height =7 cm
Radius = s
P

Thus, Volume of cone

122 77
==X—=xX=-X=-%X7 =89.8cm’
377 T272

R=
cm

(c) Radius of 1%, solid metallic sphere
Radius of 2™, solid metallic spheres
Internal Radius of hollow s
External Radius of hollow sp
So, %n (RP+r%) = %n [(x+1) -
216+1 =x>+1+3x (x+
216 =3x(x+1)
72 =x" +x
Sx+x—-72
=0

ernal radius of the hollow sphere
+1 =9cm
(a) L e time taken to fill the tank = x hrs

7
9(nr2h)xx=50x44x1—00
50x44x7x7x100X100
T 22X7%x7x100x5000
=2hrs

(b) = The area of ground
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547.

548.

549,

550.
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- 15000 m’
1 hectare = 10000 m’
- Level of rainfall
- height of rainfall
= height of water level
5
= E m
Thus, Volume of collected water
- 15000 x % =750 m?
(b) Let the no. of hours be ¥’
x (MR*H)= 1t r’h

=5¢cm

10 10
- 3000 Xt X — X ——
100

10 10
=]'[>(—X? x 2

=05 cm

e of water flowing from the pipe in 1 minute
x 0.25 % 0.25 x 1000 m’

olume of conical vessel =§n x 15 x 15 x 24 cm®
—XTT 15X15%24
mx0,25%0.25%1000

Thus, Time =
= 28%

=28 minutes 48 seconds
(d) r =12m,h=9m
I = V2 + h?

=122+ 92 =15m

Cost of canvas = curved surface area = x cost of 1

mZ

Rs. 67824
(d)

0.1cm

\

84 gm =1cm®
4725 gm =328 o3
8.4

Volume = x x x.x 0.1
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4725 3

—_ ¢m Thus, Volume=I1bh
X’ x0.1 = 2x4 ><36
x =75cm "48V‘:m i
551. (d) According to the question 555. (a) — =—
: v, 27
diameter =84 cm

4
radius= 42cm =042 m = 1 (ry) 8

g
Height=120cm =1.2 cm - 4 (1) 3 T 27
Thus, Circumference of cylinder =2nrh 5? 2
2x22x 042 % 1.2x15x500 (r_l) 2
7 T2 3
= Rs. 2376 Ratio of surface area
552. (a) Since the volume of the two cylinders is same 4 i
nrihy amry
.. - 1
nrih,
(rl)z_hl Iz
r) “hy 1 556.
o2
s a1l
VZ
-

meter=2r =2x7 =14 cm

Thus, Ratio of their ratio ; n
-2 -1 tting, r=7in (i)
ST 2nrh =264
264x7
h == =6cm
2X22X7
Required ratio = LA
553. (a) We are given that volume of two cube are h 6

the ratio= 27:1

3 1
(E) & * 237 37y 2
1 1 o) S—— = —
a 5[z 37r2he 3
a2 A1 1%hy 2
3 * —L ==
- 22xh, 3
1 hy 8
F 1 —_ ==
554. (a) h 3
oid=1:2:3 e T ) R
X, h=3x (a2)3 64
2 (al) N 3
az h 4
=88 Ratio of their total surface area
= e
“oaz  \a
=% 3\2 9
Thus, | =2cm, b =4cm, = (—) = —
h =6cm 4 16
- =9:16
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(b) Radius of both hemisphere and cone =R
Also heightof hemisphere is equal to its Radius =R
. Height of both hemisphere and cone =R

Now, In cone

Slant height, | =VR? + R?
=V2R

C.S.A of hemishphere

C.S.A of cone

)
TRxV2R 1
=v2 :1

(c) Let height of cone=h
radius of cone=r

Volume of cone = %r[ r*h
Now height is doubled

1 2
Volume of hew cone = 3T r’ (2h) = R > h

Required ratio=1 :2

(d)

JI. cm
10c

A
B
Surface area of A

Surface area of B

102 16
(1—0) _T_> 16:1

(d)
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563.

564.

8

565.

h,
r
2r1
RZ =2r
h2 = hl

Volume of new cone
Volume of old cone
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=nr; X h,

§ mry
(271)? hy

r£xhy

->4:1
(d)

1
(IS

Ratio of total surface a
_6(1)?2 2
~ 6(5)2 5

uired ratio =

2
r{

anr? 12
2ER21 36

17.5x17.5 25
=36:25

ax 5x

www.jkchrome.com

3x

2 {B3x) +(4x)° +(5%)° =% n(6)’

x> (27 +64 +125) =216
x*- x216 =216

Radius of smallest sphere =3x=3x1 =3cm

3 _216 _
T 216
x =%1=1
x’x216 =216
216
3-— -
X = S5 1

www.jkchrome.com
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x=2yi =1
Radius of smallest sphere =3x=3x1 =3 cm

(d)

Ratio of smaller cone  h;3

1
ratio of larger cone 3 2 8
Area of part (ABCD) (i.e. frustrum) 1
Required ratio=1:7

www.jkchrome.com

S
2 N |/

z
.-
Area of incircle T (3) O

Area of circum circle JE)

T
31:2 4

2
(b) R
H =2R
—
(Height of cylinder = 2 x R)
Surface area of sphere _ 4nR?
C.S.Aof cylinder T 2mRxH

www.jkchrome.com
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569.

570.

571.

573.

574.

575.

www.jkchrome.com

47 R?
27R (2R)
4772 1
== =1:1
4TTR? 1
Ratio of Volume = (ratio of radius)

32_y
(2)"8

4
(a) E nr’ =nir’h
4
H==r
R==h
& 3
2r (diameter ) ZX 2h
Diameter

3

3

rPxr
1:2:3
(A) Ratio of curved surface area = ratio of product
of height and radius

2
:gnrz' Tt xr

> " Ix2 2
required ratip = = — =
a4 °%5x3 5

Ratio of surface area = (Ratio of radius)’

4 4
(c) —nR® = 64 x -1r’
3 3

www.jkchrome.com
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577.

578.

579.

580.

581.
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%HR3
in‘r3 =64
. 3
BY" _ 3
Q) =@
=2 r=2cm

Ratio of area

= (Ratio of radius)

=(8:2)°

=16 : 1
TR?H

TR

32xH

22xh

&

1

(a) Let the radius and slant height be 4x and 7x
=2 y=1cm
x=2cm
=> Radius =4x2=8cm
(d) Height of cylinder = Diameter of sphere
= 2nrh = 4nr’
= anr’ = anr’ (h = 2r)
= Requiredratio=1 : 1
V, _ r*h _ 3*x4 _ 3
@y, “RH " 1xa 1
(d) Ratio of volume of bigger.con

and smaller cones ’S

= (Ration of altitude)®

=1z 223

Ratioof parts=1: 8 82—

= Lz 7gd9
(c) Let radii of cyli
Volume of cylin
=nr’h
Total sugface

2

4nr’ =2mrh + 2
=4’
= 2nrh (h+r)
= 2r = h+r
r=h
radius of sphere or cylinder’s

www.jkchrome.com
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582.

583.

84.

585.

www.jkchrome.com

equal to height of cylinder

Ratio of volume of cylinder and

sphere
4

=nr2xr:§1‘n"3=3:4

4
(c) gnR3 =nr?H
4
ERS =

= 3
4

2 (H=R)
R:r=v3:v4=v3:2
a®* _ 363

(b)%n_r3 =

a®  363x22x4

r3 49%7%x3

a _ (22 'S
r3

7

(a) cone =» radius : height
4 : 3
Let 4x 13X
Curved surface area of cone
= rtrl
r= radius
| = slant height
|=vhZ +7Z
=,/ (4x)?% + (3x)% = 5x
curved surface area
= 11 x 4x % 5x
= 20nx’
total surface area = nrl + rir’
=2 qr (1+r)
=> 711 % 4x (5x + 4x)
=> 11 % 4x % 9x
= 36 nr’
Curved area :
20mx” : 36nx°
5: 9
(b) Let radius of sphere =

total area

www.jkchrome.com
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587.

588.

589.
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radius of cylinder=r

let height of cylinder=r
given that volume of sphere
=volume of cylinder
=§m‘3 = nr?h

b 4 %r =h

curved surface area

cylinder : sphere

4r
2xnxrx? o Anr

>

2

4
3

(RS R Besl

(c) radius of cone = radius of cylinder

height of cone = height of cylinder = h
curved surface area of cylinder

curved surface area of cone
2rtrh

T ol
2nrh

rl
1 5
R _ 16
12 25
> 1’=25./(h)? + (r)?
2> h’=16
JMR)ZE+ (r)2 =25
J(16)2+ (r)? =25
r=3 L 2
radius : height
3 : 4
(b) Let the sides of ther tangwr
X, 2X, 3%
> 2(2x°+6x°+3
> 11 =44

8
5

n(V3)¥x\2 _ﬂ
2e(v2)'xV3 V3
(3)%x1

(a) Ratio of volume = (5)2x3

www.jkchrome.com
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590.

591.

592.

59

595.

596.
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=3 325
(d) Let the radius of sphere and hemisphere
be =Randr

4 2

> -nR3 ==1r3
3 3

R =1’

R3 1

73 2

DR:ir=1:V2

(a) Ratio of radius of earth and n
=4:1

= Ratio of volume = 4° :

(b) Let the radius of(eylindefiand sphere be =rcm
=> height of cylinder
= A=nr’x 2=2nr’
4 L 4
B,== 101’
3
=3 2

=3v3 : V2
6v/3
(c) Side of cube = %zﬁ cm
6X6°

Required rate = pE =% ¥ 4
(d) Let the radius of hemisphere and sphere be ‘r’
and ‘R’
> EWR?’ ==qr3

R_1

r3 2

& L

r 32

=>» Ratio of curved surface area
4mR? _ 2R* _ 2x1
= 2 2
(V2)
volume of cylinder _ 3
volume of cone 1

s

2mr? r2

(b)

www.jkchrome.com
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mrfh 3 =11x10x5 = 550 m’

LoZn 1 =550000 dm* (1 m = 10 dm)

> ?,13: r Volume of a sphere
Diameter of cylinder = Diameter of cone = %TC X % X g pd %dm3
597. (d) 500
——dm
h 8
500
AT.Q nx? =550000
55000080
H = ——
volume remains same 601. (a)

volume of sphere

= volume of cone
4 1
—mr3==xuXxXrixh
3 3

4r=h

598. (c)
Let the side of first cube =a;
and the side of second cube =a,

a,® 27
64
B_n 27_3
a, 64 4
Ratio of their surface area
baal _aif 3% _ 9 . C)
T6a2 ax? 42 16 @
599. (a) L 2
602.

Ratio of volume of s
x ratio of weigh i aterial of
each
= Ratio of w two sphere

In 8

X s ST Let the Radius of cylinder =R
64 8x8x8 => Therefore, Radius of sphere = g
WM 7289  17x17x17 Volume of right circular cylinder = mr’H

n_ 8 volume of sphere

r, 17 4 (R\> 4 RS
38’17 37 () =37%

600. (a) nR3

volume of rectangular block = T

www.jkchrome.com www.jkchrome.com www.jkchrome.com
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According to question,
volume of cylinder = Volume of sphere

5 nR3
nr'H = —
6

603. (d)

Radius of longer sphere =R units
4
Its volume = = R3

Now cones are formed with base radius
and height same as the radius of larger
sphere

1
volume of smaller cone = ;nR3

and one of the cone is converted into
smaller sphere

1
Therefore, volume of smaller sphere = ; 1TR3

1
—r3 ==nR3

ATTre 2

4mR2 R?
(1)?

(@) (@)
2125
(c)

604.

of ConeABC _ 1

Volume of Cone BCED 1
= BC = ED (Volume are equal)

Volume of Cone ABC _ 1
Volume of Cone ADE 141
1
T2

www.jkchrome.com

¥z
Surface area of smaller sphere
Surface area of larger sphere - < l
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605.

606.
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=|f a cone is cut in any parts parallel to

its base then the ratio of volume of smaller
cone to the volume of larger cone is equal to
the ratio of the cubes of the corresponding
heights/radii/slant a height(it is proved

by similarity)

(height of cone (hl))?’ 1
)
3

height of cone (hy)
hy 1
=h1 :hz—h1=1! 1

(d)

Let side of square be

Area of square = x°

Side of ne d square

=x+50%

f the area (new square) : area of
iginal square)

=2.25x": x°

9: 4

Quicker approach

Let side of square = 100%

(100% + 50%)*

9: 4

(a)
1 .2
volume of cone = ETET h
:%xz—:x 12x7 =23—Zd:m3
Volume of cubical block = 10x5x2 cm?®= 100 cm®
Wastage of wood

= (100 - Z) em?

) (300—22) _ 278
= 3 = 3 cm
278
% wastage = 18 5 x100=278/3

2
—92;%
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Decrease in radius = 50%
1

2
increase in height = 50%

1 —~Increment

T2 —original
Radius Height Volume
original 2 2 (2)*x(2) =8

50% 50%
ecrease o Increase

(1)’(3) =3

607. ()

New 1 3
Reduction in volume

o i
—SXIOO —622%

608. (a)

Increase in radius = 100%
1

1
Radius Height Volume

original 1 1 (1)%x(1) =1
7

New 2 2 (2)*x(2) =8
% increase = % x 100 = 700%

- Increment
B (d) 20% =l—+
5= original
Radius light volume
5 5 (5)%5 = 125
6 6 (6)(6)= 21%*
a1
= —— x100=72.8% \
125
610. (d)
Y
N
R
Vol one

LR 77(15)2 % 15 = %n(15)3

Volume of sphere

= =m(15)}
Percentage wanted
__volume of cone
"~ volume of sphere

www.jkchrome.com

www.jkchrome.com

611.

612.

613

614.

615.

www.jkchrome.com
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%xnx(15)3
= & x100
5xnx(15)3

(d) Height 1->3

Radius 2 >1
Volume 4 2> 3

% decrease = % X 100 = 252
(d)

height = 100%
1 —Increment

1 —=Origianl
height Radius volume

Radi

—Inerement

original s 2 (%ﬂ' is
New (2)?(2) = 8 constant)
=gight s that of original
x
bYuse x + y+ 22,
100
centage change in area
1611 15%(=10)
= -  —_—
100
=5-15=35%

(3.5% increase)
Remember : When change in area is
asked in the question, then use this formula
To save your valuable time.

(d)

Let old radius=r

4
= volume = ;1’[?‘3
New radius =2r

= New volume = %11’(21‘)3

4

=T X 8r3
=» volume becomes eight times.
(b) Radius 2=>1

Height 5> 8
Volume 20 > 8

www.jkchrome.com
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=» volume decreases
% decrease = % x 100 = 60%

(d) Length 1->2
Breadth2 > 6
Height 3> 9
Volume 6 - 108
=>» New volume = 18 times the
original volume
= Increase in volume
=18-1=17 times
(c) Radius 10 - 11
Height 10 - 11

Volume 1000 - 1331

1331=1000
= % Increase = —————
1000

=33.1%

x 100

(a)

% change in height =%
change in volume = 100%
(a)

Volume of coffee
2 222
==ur? == x=x (4)3

1
==1r 2
3 TT(8) ><$6
1024
T3
Required percentage
1024

8 &
= x100

7.5%
(a)

Decrease in radius

i !

edse in base area)¥? . (%)2
o

"3
Let initial radius and height be 3rand h
New radius and height are r and 6h
Old lateral surface area
=2xnx3rxh

www.jkchrome.com

3 3 7
3
1
Volume of cone =§TET2h Q

www.jkchrome.com

621.

622,

623.

www.jkchrome.com

=6 nirh

New lateral surface area
=2xmnxrx6h

=12 nrh

12nrh

Required factor = =2
equired factor =———-

(c)

Let the original radius be ‘r’
=> Area = 4nr’

New area = 4m(2r°) = 16mr’
= New area is 4 times the
(d)

Edge is increased by50%

>5[ 6 is constant]

9
% increase = % x 100 = 125%

Let the initial radius = 1 unit
New radius = 2 unit (radius is

doubled)
Radius Volume
l 1 3
: 1
(2)°

G T is constant)

)

www.jkchrome.com
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2 8

7
Percentage increase = I x100
=700 %

(a) Quicker approach

TinA=a+h+ os

n =a+ +100
Herea=b =5%

A = sxs
TmA-(5+5+1OD)%
=10.25%

(a)

Volume of tetrahedron

_@ 127
TeVZ 6V2

1728 =
“F " 14442 cm

(a)
1 22
volume of bucket = ET.'.‘h{R +r2+Rr)

1, 22 ) s
:E X 7x45(28 +7°+28x%7)

22 s
= 7X15><1029 =48510cm
(c)

Side of regular hexagon =2acm
area of hexagon

= 6x§x(23)2

> 6v3a% cm’ ¢
slant edge of pyramid

5a
-)?cm

www.jkchrome.com
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O

628.

www.jkchrome.com
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G a F

5a
= HF = > (slant height)
=>» HG =slant height(1)

=» GF = base
2
slant height = (5%) — (a)?
- 289 2 _ Y21
4 2

itude = /3 a
eight of the pyramid = h

> |(5F) -6’

=\f£a2_3a2= E
4

4
3
==-a
2
Volume of pyramid

=%area of base x height

1 3
=X 6v3a2 x=a
8 2

=3v3a3 cm®
(c)
40 cm
40 cm| 40 cm
40 cm

= area of base =40x40

www.jkchrome.com
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= 1600 cm’
Let height of pyramid = h

Volume =§x h x area of base
% x h x 1600

=>» 8000 (given)

=h=15cm

(c) area of trapezium

= % x h (AB + CD)

= % x 8 x (8 +14)

=4x22=88cm’

= volume of prism

= Height of prism

area of base

=> height x 88 = 1056 (given)

=> height x 88 = %
= 12cm
Edge of regular tetra hadron =3 cm
a=3cm
3cm 3cm
vz
Volume & — a3 cm?
12
VZ
-)—><{3)3‘:2 2cm’
12 4

¢

(d) A

15

ter (S) = o=
of any triangle
. % 633.
area

- semi—perimeter
where A is the area of triangle
r=3 cm given

www.jkchrome.com
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632.
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area of triangle
15
15 2
3x ~ =area of triangle

45
= — cm=area of triangle

39

volume of prism = 270 cm®
(given)

45
270=hx?
=2 h=12cm

(b)

S5cm

9cm

which forms a right

erimeter of triangle =9+ 12 +15
=36
Total surface area of prism = perimeter x height +
area of base
= height of prism = 5 cm given
total surface area =36 x5 +54
= 180 + 54 = 234 cm’®

(c) a

= Wl

www.jkchrome.com
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Let side equilateral triangleb =a
NE
area =— a
s 4
3
=—-a’=173cm’
25 h73,
=2 a = ﬁxll
(V3 =1.73)
; 173

a“=——x4
1.73

173
= = x4x100
173

az =400

a=20cm

Perimeter of base = 20x3 =60
Volume of prism x 10380 cm?®
(given)

area of base x height

. 10380
height = =60
173

LSA = 60%60 = 3600 cm?

(b) 16

16 16

16
Perimeter of the base = 4><1%
# Curved or lateral surface are

mid

1
= — 1 f .
% (perimeter of base helght

8cm | 8cm

44— 16 cm —p|

www.jkchrome.com
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=>» height of pyramid =» 15 cm
=> base=8cm
=>» slant height of pyramid

=/ (15)% + (8)2 = 17 cm

=>» curved surface area of pyra
1
ES 7X64x17 = 544 cm’

635. (c)

Volume of pyramid

1
= ;x Area of base x hei

636.

+4ax15=608

a+30a =304
a’+38a-8a-304=0

=2 a(a+38)-8(a+38)=0

= a=-38,8

=2 a=8cm

Volume of prism = 8 x 8 x 15 = 960 cm’

637. (b)

V3
volume of prism = ry a’xh

VB e
== x (8)? x 10

=160v3 cm®
638. (b)
Volume of prism

1
5x10x12x20 = 1200 cm?

=2 Weight of prism = 1200x6 = 7200 gm
=7.2kg

639. (a) Total slant surface area

1
:4xEx4xa:12
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(Where a is the side of the square base)

12 3
2a=—==cm
8 2

=> area of base = =cm’

-hlm|g.¢~ ©

Required ratio ==—=16 : 3
640. (d)
Total surface area of tetrahedron
=v3a’
=v3 x12°
= 144v3 cm?
641. (d) A

B C

In radius of triangle
area of triangle

" semi—perimeter

ar (A ABC) = Inradius x semi-perimeter
=4x==4x14 =56 cm

Volume of the prism =366 cm?

(area of base)x height = 366 cm’

56 x height = 366 cm O 644.

) 366
height =—— =6.535cm
56

¢

642. (d)

of equilateral A

23

=——=5cm
2v3
slant length, 1 = vh? + OF
=+vhZ + 25
Total surface area

=270\3

www.jkchrome.com
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643.

645.
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%(perimeter of base x slant height + Base area =

270v3

130 x V3 x T + 25} + 2
(10v3)? = 270v3
15V3vVhZ + 25 + 75v3 = 270V3
VhZ +25=13

h+ 25 = 169

h?+ 169 — 25 = 144

h=+144 =12

(a)

area of base x height

eight = 813

bt 813 x4 9
=——— =9cm
g V3x6X6

(d)

10v2" | _
\/_ | &Nant height

L

1 "
=X 10v2 = 10 em

slant height =v5% + 122 =13 cm

1
lateral surface area = EXperimeter of base x slant
height

Side of square =

1
=—x40x13
2

=260 cm*
(d)

Total surface area of prism = perimeter of base x
height

+ 2 x base area
=(3x12x10)+2 x

=360+72v/3

V3

x 122
4
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= 72{5+'\/§) sz
646. (b) »
16 cm
¢ e W 15 slant height
E - o 8cm E
+— 16—

Slant height of pyramid = v8% + 152 =17
(8, 15, 17) is triplet
lateral surface area

1 ; y
== x perimeter of base x slant height

= % x 64 x 17
=32x17 = 544 cm?
647. (a)

Perimeter of right A = (5+12+13) =30

total surface area = lateral surface area + 2 x area

of base
= (perimeter of base x height + 2 x area of base
={30xheight)+2x%x5x12
= (30 x height) + 60
ATQ 30 x height + 60 = 360
30 x height = 360 — 60 = 300
height = 10 cm

648. (d) L 2
Height of pyramid =6 cm
Diagonal of square base 24+2
Side of square = 24
Area of square = (24

649.

1
B x area of base x height

1
500 = = % 30 x height

500%3
height = =50m

www.jkchrome.com
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650.

651.

652.

653.
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(a)

Lateral surface area of prism =120

base perimeter x height = 120

L.S.A of prism = (base perimeter x height)
3 x (side) x height = 120

(perimeter of eq. A = 3 x side )

side x height =%=40 ........ (i)

volume of prism = 403
area of base x height = 40V3

% (side)’xheight = 40V3
(el by = 20 (i)

Dividing (ii) by (i)
(side)?xheight 160

sodexheight 40
side =4 ¢ <
ahedron
V2
=—(4)°
12
16V2
3 cm

(a)

Area of the base of prism ( a right triangle)

1 2
= ;(5)(12 =30cm
Third side of the triangle

=v12? + 5% =13cm
Perimeter of the triangle

=5+12+13=30cm
Total surface area
= lateral surface + 2 x (base area)
= (perimeter of base x height + 2 x (base area
= (30x10)+2x30
=300+60 = 360 cm’
(a)

p__ B¢

15em
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12 cm 14 cm

Aj 9cm B
In A ABD,

BD =VAB? + AD? =492 + 122
=+/81 + 14 =+/225=15cm
Area of A ABD = = x AB x AD
=§><9><12=54ch

In A BCD

semi perimeter =
===21

Area of ABCD =
Vs(s—a)(s —b)(s—c)

=/21(21 = 13)(21 — 14)(21 — 15)
=v21 X 8 X 7 X 6=21x4 =84 cm?
area ABCD = 84+54 = 138 cm’

height of prism =
volume 2070

13+14+15
2

= =15cm
Area of base 138

perimeter of base =

9+14+13+12 =48 cm

Area of lateral surface = perimeter x height
=48x15 =720 cm’

(a) As we know,

volume of Right Prism = Area of the bas

3 7200 = T\/_ P2x 100v3

> 72x2=9P°
= P’'=16
> Pp=4
(b)
¢
ed by =50%

10
10 F10] I
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658.

659.
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10

Area of base = 10x10 = 100 cm?®
Area of 4 phase

= (% % Base x slant height) x 4

> (5x10x13x4
= 65x4 = 260
[slant height =122 + 52 =
Total Surface area
=> 260+100
= 360 m*
(d)
volume of pnsm =(a ase x height)
Area of base{ire areagf triangle)

a)ls—b)(s—c)

's formula)
13+20+21 54
- —_— = )7
2 2

=27
> \/27(27— 13)(27 = 20)(27 — 21)

2> V27x 14X 7x6
2>VIX3Xx2XTXTXx2x%3
= 9x7x2

Volume of Prism

=(9x7x2)x9 = 1134 cm?

(d)

Let the side of the square =acm
ATQ

T.S.A=C.S.A + 2 base area

C.S.A = base perimeter x h

T.S.A =base perimeter x h + 2 base area
192 = 4a x 10 + 2a°
2a°+40a-192=0
a’+20a-96=0
a’+24a-4a-96=0
a(a+24)-4(a+24) =

(a+24)(a—4) =

a=4,(-24)

a =4 (side can never be in —ve)
Volume =base areax h
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Volume = 16x10

Volume = 160 cm?

(c) According to the question,

V = number of vertices of prism =6
e =edges of prism=9

f = faces of the prism =5

v+e—f _ 6+9-5

2 2
10

=_=5
2

(c)

ATQ

Volume of prism = Area of base x height
=trapezium area x height

1
= E (10+6)x5x8

=16x5x4 =320 cm®
(a)

2x

3X
Base of prism
=> length : breadth

3x 1 2x

Perimeter of base
=2(3x + 2x) = 10x
area of base
= 2x x 3x = 6X°
height of Prism =12 cm (giden)
total surface area of prism
= Perimeter of base x height + 2
288 =10x x 12 +12 X* *
12x% + 120x — 288 =

ea of base

X*+10x—-24 =
Xx=2
area of bas

cm

volume'ef pri
>

(b)

Volume of the part (prism) =
Area of base x height

Area of base (Isosceles A)

4
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2457 = (6)? =12’
Volume of prism =12x8 = 96 cm’®

664. (a)Semi-perimeter of

7+8+49
E 3 =12 cm

Areaof A = Js(s —a)(s=bhb)(s=rc)
=/12(12-7)(12 - 8)(12 =-9)
=VIZX5X4X3
=12v5

665. (c) According to the questi
Volume of cylinder =rnr’h

4
Volume of Sphere = #mr

The number of sphe b
nr?h

666. to the question
the cylinder = irh
mr;?h;  4x3 6
nwrZh,  1x2 1
According to the question
Volume of cylinder = Volume of cone

1
EPehy = Em“zhz

668. (d) According to the question C.S.A of cylinder
=2nrh =2nry?
C.S.A of sphere =4 1
2nrf=4nr?

1 __ V2

1

Volume of cylinder _ mrh
volume of cone %ﬂrg
2V2ZX3 _ 3

= 4— = ﬁ

669. (a) Total surface area of prism
= perimeter of Base x Height
+ 2 x Base Area
10=4ax2+2xa’
10=8a+2a’
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670.

671.

672.

673.
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a’+4a-5=0

(a+5)(a-1)=0

a=1a=-5

volume of Prism = Area of base x height
=1x1x2 =2 cm’

(c) Let the radius of wire =1 cm

Volume of cone = % nrth
111'{1}1h L

e — =T

3 3

- . 1
New radius of wire = 3 cm
volume of new cone

volume of old cone = Volume
of new cone ¢

1 1

g h = ETEH

H=5%h

Height of new cone is increased by 9 times.

( c) Painted Area of Prism
=151.20%5 = 756.00 m*
AC =15

[By using Pythagoras theorem] &
Total surface Area = Perimeter Q
of base x height + 2 x Area of base
756 = 15+9+12><h+2x— x9x12
756 = 36xh+108

36 h=756-108

(d) Total surface Area

%x(perimeter of bas *
Slant height +
=13cm
(a) By option (a)

20%20
Are Increment = 20+20+W

=44%
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